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HETEL Fl FTTH Gorreorreerrveesres &5

e fommera wdan Afafq (=9 weafysw) & XIS & & 1 2009 1 J1ftie wian & fau g&g
99-931 (Model Question Paper) STels U gT 319X &Y & @1 8 | WiHfd %! 98 Ta Ted R
1 ‘foren’ & IR § uw fafre ek W enuifa 1 Seu weafas # ugrR w6l gHiee e gRaET
T H T FAER H e F 9 vEE 2 | T H o ferfores aRkfefa, o sl & fen w e
WeTEfTeR Eet il e W Ted gU . W TH € % yeA-Ued W ol W % WY 9 e YeA-us
R femen T 1 2010 Wi after qhien 9§ @ue-| (aEiTe) & fou welt famr et/ fawe § e
T 3R (Optical Magnetic Recognition) 2 &1 s&det fean ST € | 2009 w1 afifer 9den o gY
3YE & YR W FAfT &1 I8 4= &+ foh 2009 & XISt wden € & ®&f & O.M.R. e &1 A9=m™
FH A S B

ofifa =1 98 T 9= 2 fom 2009 w1 anfifer wdien T& 2010 1 S (Set-up) THeT & HEAH
9 BEl % Sl TH AR 9l 9 § quidan 3¢ S S, ik 2010 i Attt TlE H B ST TH. 3R
We 9= o el e T

XISt & fau SIR #X@ M YET Y- H ShRcThdl U6 hSER G Ter H Sl
YAl &1 =M § W U 9fAfd 819 §9R0 &wrEH (Student Support Programme) & 3t=iia XIsf
% BE & fau ot 5@ o WEd Ye-u W Sueed %A WP |

TEY J99-T5 34 & W wfifd w1 qed 3299 B-9nl 0 STeAfaveard U1 e difr o = Heed
X qhen | Whel B Tehd € o 3T%8 W Tesl 3k ff WIw R Wehd § | Wiufd &1 W @ fom Afg s
el YIEY YT hI TA HL UG o AT SR UG AYH F @ al 3= XIS WR & qESTHT Hi e
1 T 3Ha U o TR BITEe 8 SO 3R 3Hd o oYU wHE Angdeti 1 wufeud faemE s gl
T BE H TIRY & ®R & I qamsi &1 9 & | sTefavars /@l

B & AR hl 9¢H & fau 6 T99 Wed W XIS &1 aftier adan 2009 § A==
AT 1 SEAT | gt (+ 2) fernerEl 1 39 Y U9 @ U Wia stfueiiie 9R W Sueisd et S
W@ & difer foamem o1 &R | 2009 w1 aiftieh wel 1 99-T9 d9) U T | Yo G0d & o1
T ofl. wH. AR e 1 T I e 2, freht s uia wden § wE e S € | v wvs-| ® SW
T . T AR Ele W 3N |

ek T & SAfuenisl BT i UG @ WeAw | fe<l B, o1: WEU-9vd O i fel § @
2 | UEY Y O i 9R G | fawise fen wn @—famm, wen, aifsy o wefae) (wren) | faem
Ten anforey o & Sl 1 TR Sl 8d g TeH-Uey fo<t Tal SIS S wiedl § Teh WY I
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HA S W E | TH - & el ueHesh e W Bl ol WEl @7 ¥ Ul % WY i STTRN
B Wi | oy qen < SHdd el ol HEe S AR #R W S o6 & foau fdet e s
feeht T8 UEY-U3 & T8 15099 4 B9 o799 3% U % § 9%d 2 IR fafa= s=u fueo
TeheIoh! TLAM § AR &g STASId Ffaaifiar § off et @ "wat g | gt gfaaifmar whenst o Xt
& UIGAHH h1 AW ft e 50 awd giar € | gl @ weAer 9fafa 11ef w5 wen & ufq s it
AT =T €

Aieet 991l TIR wE | favafaercd & =9 Areats R & et el @t 7eg off T 2
3 geft e ro-o1w fawal & @fa ur forersk @ qenm +2 6 e @ o gHA W qE W E | SAhD
Hed 3R 3§ W™ & HRO & Hieed T9A-TF H1 YheH g6l 99 a4 FHH THT § g0 IR g € G
2 | H ofafd #1 SR ¥ < ueft foeel & 9fF 1R e Rl

T W SRy € Tk Afeet yea-us e & aden it qad § o S | GR U9 ol qHgehl 1
FT T 2009 # X T aftier wdan # T WEY YeA-UF % SUR W WA g S | fafe= el |
%S YT # TR ot Ga 21 frerk, o9 wd stfuwrEel @ sty ? fF qofd: weemge wlen ¥ Wan
% T W HEE AT | Hige U9 % YA H1 TS YW a9 ¢ | Wwifash dR W Hw-A-Ho qfedl g |
a1d: forerenl ud o W o ® T Ffedi 1 o wfufa &1 oA mpe #d gu orqH fefea gwme @fafa
F T | T H deR Nk TR FEH e, 9% 9hfew vEE o € g € | He fau gfafa wfeag
2 3R MUl TeAm srifed T |

(b Bo s ama

ﬂ_-_.

o (Efe) T To Yl T
e, 5 @e, 2009 37787
foer fo=merm 9dan wfafa
gl
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WRA-9A <l &Y (FORMAT OF MODEL PAPER)

. UIgIHA MURA :

T3 2008-2010 & WewshA | fafw= fawa & fau ysdfaa sie-faawor difcresn &l aemaeyd I
@ gU YAl 1 =FH R T ® 1 gen owR fedl ofw & fow ugmen # 8 ofw frwifa © @ 3@ ofw
Y 94 T 9t YR (SRgfTs, oy wd < ST Hife) & US w1 Hel HH AUEg ueIsd | fHeifa
A & o € WA w1 SRR K w7 | v gt g fawm & faw freifa aegws @@
TR [H: TGS HE ST @ B

I. e & wife :
TA-TF I I GO H T B
G ues-| : 39 @ve H FHa AH 1 40% HH & IS Fife (IR fawed A@fed) & w7 T |
(@) ifdersTe / WEARTS) Ste famr/satay

o/ /e foqm (Fa 3id 70) 28 A%
(b)  TITOTA/ TSI /SfqeTd/ ARG /UHS=dl/ 31w (anfoesr)
EETS AT / SN / TSHifash I (HA 31F 100) 40 A%

g fawa § =9 wife & gt gvl § =9 faweu 3 W T | g fowey 9@ SW o sE/eEst
%l Y OMR € R 3f=d el 1 99 ¥ e Fafgd & R | [t il ° 40% TS Fife &
g9l HI 59U | Sieht =9 fRa T R |
AM-] ; T SIS T IR PO T M e, T d ™ @ 98 ¢ |
AMM-2 : THB T YIF U H I FHYA/FA KU MW T | I gadH B @ g qb HI e
HG B del 3 SISl i Goadl et Bl |

A-3 : TN IR ey fRu MU ¥ 9 ¥ @ ¥ fue I UEl © THd © | 9 9 3 &l
fafea o 2
Aof-4  :  FHiew (W) | H IR gafedl & w9 H =R geA KU e € | we (FHem-1) § =R faeey
a,b,c, dfu U R | we-| w1 yfaftedl & -1l 1 gfafteal & fowey 9 fem & € |
Aft-5 : F q YT TH I MU T W MR B | T B SEH H A€ A T9H FH IR
feu U 9R ooy § 9 2 7 |
TUE-|| : 3@ WIS H ol Wik 1 60 U 3k & IS Y € | R IR g i
goft B—(j) o Swa aen (i) < ST wife | o ST Hife e w1 IW 50-75 U * =L adl
&Y 37T Hife & I 1 I 150-250 IR F <L HEF HHA Sl 2 |
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foam/afosa & o ST09 U 2 A 3 Sk & T e <H SUd W 5 AT 6 3k & ¢ | o
% T fawa § oy ST Y 4 ik & 9 < S Y 7 ok & I W | Fen TEE @
ITT U 3 AF B, Sk <Y ST G 6 Ik B © |

| (a) (fomm/anfura) | (b) (wrforer) I (c) (=em)

® Y IWH
(2 3k A1 3 Ak Al 4 3ih) 11 x2=22 8x4=32 8x3=24

o Il s
(5 3 I1 6 3k =1 7 3Th) 4x5=20 4x7=28 3x6=18

TA-TA & i & wE o 3" 9 ) foniy gasar et T ? R fava & wegwn | fruifa stemt
% fu T il & @WEY ® WHRR Wi i | fafv= fowi 5 fafas steml & fau smafed el ot
foearolt araawn fFefem & & S gl R

I sl Fife & o qeft geAl | =it faheu 37 %1 A e o 2, @ifw sl % weawn
% I AW 9 TH fasey fia 99 |

A. fafg= goeal & fau smafea i wfee

Accountancy (den®)
A. Financial Accounting-l (fasia sr@is®a-I)
. Introduction to Accounting (@i 1 9R=a) 07
. Theory base of Accounting (e =1 Tgif<ieh STHR) 07
. Recording of Business Transaction (SHa@mae wFeal 1 Ifiered ) 16
IV.  Trial Balance and Rectifiction of errors 08
(q9e Ta SRIfEA 1 M)
V. Depreciation, Provision and Revenues (&4, 9G¥ Td 999) 12
V1. Accounting of bills of Exchange Transaction 10
B. Financial Accounting Il (fa<ita @@n®)
VII. fa<itar faeror (Financial statement) 25
VIIIl. Accounts from incomplete records (39Ul 3Afer@ & @) 05
IX. Computer in Accounting (FFedidd Tl YoTeit) 06
X.  Accounting and data base system 04

(TGl TF EeT o9 Yorel)
Total : 100
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Business Studies (=a=aifas s1eg9)
Foundation of Business (SHa9™ & 34R)
. Nature and purpose of Business

(TT9™ H1 YHfd T8 IL9A)

Il. Forms of Business Organisation
(I TS & WEY)

l. Private, Public and Global Entrprises
(fysht, wrefsifer we T Su%H)

IV. Business Services (@ da)

V. Emerging modes of Business (4ad™ & aifd HeaT)

VI. Social Responsibility of Business and Business Ethics
(™ & G ITEI e SAEdias Sfdendn)

Corporate Organisation, Finance and Trade

(AEHItgsh Gied, fad ud =amuR)

VII. Formation of a company (¥t hi A1)

VIIl. Sources of business finance (e@fas fag & &)

IX. Small Business (&7 s994d™)

X. Internal Trade (3Tidi{eh =AMIR)

Xl. International business (<RI SHadM™)

XIl. Project work (F&ifaeh/geld I Hsiae)

Economics (3refeme)
Statistics for Economics (31eferea & fau wifeast)

. Introduction (9f=r=)
Il.  Collection, Organisation and Presentation of Data
(SATHST T ULV TS HHRISH)
ll. Statistical Tools and Interpretation (&t IuT0T Ta o)
IV. Developing Projects in Economics (3728 § RasH1sT &1 fasme)
Indian Economic Development (R4 iefegasen &1 faswm)
V. Developmental Policies and Experience, 1947-90)
(forerma =1 ifeal iR erwe, 1947-90)
VI. Economic Reforms since 1991 (1991 § sTféfeh guR)
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VII.  Current challenges facing Indian Economy. 25

(RS referereen Y adar THIE)
VIIIl. Development experience of Indian—A comparison with neighbour 07

(IRA IR 3TH TSR 39 & qoEE faHE w1 )

Total : 100
Enterpreneurship (3ufuar)
A. . (a8 Enterpreneurship and Human Activities
(Sufaar w& A fRan)
(b) Enterpreneurial pursuits and Human Activities 30
(Saffa &1 @ Td AHeE fwRand)
Il. Acquiring Enterpreneurial values and Motivation 30
(T g 315 TS STFHUROT)
lll. Introduction to Market Dynamics 10
(SR &fAd T T k1 qf=r)
Total : 70
B. W W IT@! Wfeeldl $ AMUR W W WE a2 TN 2
3 (Essay Level) &1 25%
e (Average level) X 60%
=9 WF 99 smenia (Higher Order thinking) 15%

fa® 15% we € T g 599 o & favcivners: el w1 gaudr § Sie gl |

C. d YUlich &l 15-25 Yfaqera 3191 fifcheh il & U9 811 | T Ye9-99 § 9l 799 iferd =i | 8
< S TRl o STl fashed T oFaen gR | oTiafe fahey w1 o © o fashed qreTewH
& I TR W B | < I YA H AR fashed & Wil ke wed oft faeed & €9 A
T THRG T | AU ag T fRer S R < swiE weAl o ot=afn fashed @

Tve-| # TTed S B fou fedt W ® smafed HAH ®1 werdr (Frifea mifw) ==&t &t o
YAl 1 IW FAAFEE 0 & WK H to the point 7 |

P Focds o

e

5 arstd, 2009 foer foumera wden afufa
e
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MODEL PAPER

PhEIT—XI1

SAETeIT=t (ACCOUNTANCY)

g ;3 ue + 15 fume (sifaf) | [ quis : 100
Time : 3 Hrs. + 15 Minute (Extra)] [Total Marks : 100

| f_3 (General Instructions) :
® i yva it € 1 (All Questions are compulsory)

® o SW % oy foRet @i w1 ket @l e (There is No negative marking for any wrong answer.)
® TY-W ¥ @Wuel ¥ © | (Questions are in two sections)

& %
| 3Tk (Total Marks) — 40
| I T &AT (Total No. of Questions) - 35
g e %0755 %
Gtk b ol it i A
| 3k (Total Marks) — 60
oY SAAA I (Short Answer type) — 10 (948 3 3THh)
<ref 3T 999 (Long Answer type) — 05 (948F 6 3A®H)
4. %o 96 SO qel | et fosheu off KU e € | 31y 5% weA  Sucisy foshedl § ® fRel wh Wy Wi

FIWT |
(There are internal options is some of the long answer type questions. In such questions you have to answer
any one of the alternative.)

5. ForEed At UEA h1 IR ST & e H <
(Answer should be in your own language.)

6. e % SR ool Hied R W e 1 o W (T HieEe, U SeAf) ST SR Hee et |
(No electronic gadgets like calculator, call phone, pager are allowed during exam.)

7. TS Tl 1 IW R T 3T o AR Wie H IUYH fashey 1 et A Hd W W W WE WA T |
(3T & fau afg 3w () & @ i A Fel = 9 W fafgg =
(The answer of objective type question is to be given on supplied OMR sheet by completely darking the
appropriate answer option. For exmple if answer is (c) the you should fill it as shown by blue/black pen.

(@) (b) (@) (d)

aaa



MODEL SET-—-I

SECTION-I

FE¥qfass 939 (OBJETIVE QUESTIONS)

Y : Yo Fo 1 ¥ 25 0F @ WEA W 9R fawew Ky wu ¥, e @ ww W@ @ | we fawew w
SW aifeent ° fafgq w0 1 x 25 = 25

Instruction : Q. No. 1to 25 : In the following questions there are only one correct answer.
You have to choose that correct answer.

1. ER MR s9@n s 9 a—

() T 9 Ifem (b) % ¥ e (c) 3% ¥ TS (d) SWr Feft

ER relationship can be made :

(a) one to one (b) one to many (c) many to many (d) all of above.
2. oG Ol YOI & oT<nid q&d ®9 4 %l R WK €—

(a) el =1 TUE (b) 3Tl T TR

(C) SFRH= IR T (d) S gt

Main functions of Accounting Information system are :

(a) Datacollection (b) Data Storage

(c) Document Preparation (d) All of above
3. @i gu yoret | fre fagvard g €—

(a) SEva (b) @f=n (c) wfshan (d) S

Following are the features of Accounting Information system :

(a) Objective (b) Structure (c) Procedure (d) All of above
4,  HTHR OEHA F o9 TE e—

(a) HHaE (b) gxfera (c) FEM wrT (d) 9 FRTSH

Advantages of computerized Accounting are :

(a) Timely Reporting  (b) Secured (c) More cost (d) less paper work
5. <l W et w1 i sEe e—

(a) TR (b) = (c) IS (d) e

Excess of Assets over Liabilities is called :

(a) Creditors (b) Profit (c) Capital (d) Goodwill

[AC-2 ]



10.

11.

12.

13.

8 =afw S faa foaar 8, Feam e—

(a) T@H (b) ekt (c) TR (d) s
One who draws the bill is called :

(a) Drawer (b) Drawce (c) Payee (d) Bank
THEU AT YUIA o TER, STET0T ! ThH sl 19 ehrerd T Sigl <1 8—

(a) sif<m Ot o (b) rfste St |

(c) forslt osit o (d) 379 9§ g &l

According to Single Eintry system, drawings is udded at the time of calculating profit to :

(a) Closing capital
(c) Not in any capital

(b) Opening capital
(d) None of these

WAl SE T MO odl S w % Ty S S 2—

(a) 9-3IH @ (b) 7o faeer

(c) derue (d) |+t

For the test of mathematical accurancy of Ledger we make :

(a) Profit & loss Alc (b) Balance sheet
IS G Yehe B W et gfgar 8—

(a) iIg s =2 w1 1l

(c) Ta9e ® TRl @ &1 T2 S

Errors disclosed by Trial Balance are :

(a) error of addition or subtraction

(c) Omission of the posting of any entry
S g faERoT g SHE S e—

(a) == g (b) &% gN

Bank Reconcilliation statement is prepared by :
(a) Businessman (b) By Bank

(c) Trial Balance (d) All of above

(b) Tera ¥ for <
(d) SR @it

(b) Entering wrong amount
(d) All of above

(d) 39 9 i e

(c) Ue® g

(c) By customer (d) None of above

T Uk Tk Y= Ui Fea ol & g oy Aefed = afed & woew § weeid o § 9 wed g—

(@) Uwg (b) 9™ T

(c) = Uehg =&l (d) ==

Head Cashier advances a certainamount to petty cashier for petty expenses in the beginning of a

montbh, is called :

(a) Cash (b) Imprest Amount
@ H THT A 1 R W Y YRR S 8—
EIERRCRCED] (b) =4

Which journalizing Goods are known as :

(a) Purchases and sales
(b) Purchase Return & Sales Return

T Al AU T SAAIE T—
(@) 12 W& =1 o7afy
(c) =HIE™ &I 31EfYy

(c) Petty Cash Book (d) Cheque

(c) % arudt wd fosha oot (d) S a«ft

(b) Stock
(d) All of above

(b) SR 1 F orafy
(d) SR Tt

[AC-3 ]



14.

15.

16.

17.

18.

19.

Accounting period concept means :
(a) Duration of 12 months

(b) Duration of Accounting works
(c) Duration of Business

(b) All of above

TG YA 9IS i T To—

(a) 1971 (b) 1999

Accounting standard Board was established in :

(a) 1971

GAAP =1 70 W &—
(@) ST TEaHE ThR= U

(b) SFEh TR T i

(c) SFeeh TRive Teame ffre

(d) T 9 =g T

Full form of GAAP :

(8) General Advanced Accounting Principle
(b) Generally Accepted Accounting Principle
(c) Generally Accepted Advanced Principle
(d) None of these

AR @ o 716 el e—

(a) Hhal arH/EH (b) g ¥R
From Trading Account we get :

(@) Gross Profit/loss (b) Net Profit/loss

(b) 1999

TR I G H v T 8 —

(a) et (b) =T
Drawings is .............. to Capital :

(a) Added (b) Subtracted
FOTH B—

(a) emd <faw (b) = =fae

Desentures are :
(a) Fixed Liabilities (b) Current Liabilities
(a) = Sifae — =re] TPt

(c) ey wrufaal — Temdt wrafEr

Working Capital = ..........

(@) Current Liabilities — Current Assets

(b) Current Assets — Current Liabilites

(c) Current Assets — Fixed Assets

(d) Fixed Liabilities — Fixed Assets

(c) 1977 (d) 1980
(c) 1977 (d) 1980
(c) enfefer feerfa (d) Swe |eft

(c) Financial Position  (d) All of above

(c) ®B & * (d) =ft

(c) Not do anything (d) Al

(c) T (d) hrefefier dsf

(c) Assets (d) Working Capital

(b) =T}, TR — =] T
(d) Temrlt <ifae — Tl wEfaEr

[AC—4 ]



20. o Tfrc S erdt o S T ©, W Uk R s & ufed €M W iU @ Uehd €, el §—
(a) weml e OEEEES
(c) sTeRfE i (d) =99 ¥ *E TEf

Those Liabilities which are not Liabilities at present but after some special incident, they may become
liabilities are called :

(a) Fixed liabilities (b) Current liabilities
(c) Contigent liabilities (d) None of these
21. Hhd A9 = faskg — ?
(a) Ts @9 (b) ®= (c) fo gu o &t @ (d) SRR
Cross Profit = Sales — ?
(a) Net profit (b) Purchases (c) Cost of Goods sold (d) Creditors
22.  YRftweh @iaan 1 AR Wid § ewidiG o S § d—
(a) AR W i shige feman San @ (b) yRftseh TEfaen =1 sfee frar wmar €
(c) =M (d) 378 ° *E T
When opening stock is transferred to Trading Account then :
(a) Trading Alc is credified (b) Opening Stock is credifed
(c) Both (d) None of these
23. fomoe = g —
(@) st == (b) 3@ == (c) TIfiTa 3TwTd =3 (d) 379 9 g T
Advertisement Expresses are :
(a) Capital Expenditure (b) Revenue Expenditure
(c) Deterred Revenue Expenditure (d) None of above
24. T g AME TR OST BRR T—
(@) oA et (b) IS Wit (c) =ms (d) =ifH
Capital ntroduced by the owner is :
(@) Revenue Receipts(b) Capital Receipts  (c) Profit (d) Loss
25. Wehel WIW W HHITE Tepten Sar e—
(a) ¥ha @9 x TY100 (b) s =9 x Y100
(c) Hebdd =¥ x TY100 + <X (d) ¥&het o™ x Y100 — X
Commission in cross profit can be calculated by :
(@) Cross Profit x Rate/100 (b) Net Profit x Rate/100
(c) Gross Profit x Rate/100 + rate (d) Cross Profit x Rate/100 — rate
e : 9. 9§ 26 @ 30 9% FrifRa ye W TRE YR A Q@ FYH KA T ) 9 wed Wt w6
qen fomes ® @ ¥ SW A 1x5=5

Instructions : Q. No. 26-30 From the two statements are given. You have choose from the
following options :

(@) =H weF HE ® qU1 -1 H1 AT KA1 Y I S Fehell |
(b) T oA WE € W HeA-| I S A1l ¥ TE B S Fehall B |

[AC-5 ]



26.

27.

28.

29.

30.

(c) HUA-| TE B, T HUA-1| e ® |

(d) -1l W& €, W HEA-| o ¥ |

(@) If both statements are true and statement | is the correct explanation of state-
ment .

(b) It both the statement are true but statement Il is not the correct explanation of statement |.

(c) If statement | is true but statement Il is tabe.

(d) If statement | is tabe but statement Il is true.

FUA-| — 9 Thg a1 8 q 39 Sfae foman S 2

HUA-|| — Yehg TEh @l ¢ |

Statement | — When case comes, it is debited.

Statement Il — Cash is a real A/c.

Fo | — g2 oo T @ 39 2fae o s

%o || — W2 STaRleh Tl # |

Statement | — When we get discount, it is debited.

Statement Il — Discount is a Nominal A/c.

HUA | — JeiET HHITH Sl @ 2l € |

Fo |l — TH T S 37T TRl qe Yeed Wl § g & 5% giaffe safaad ' wed €
Statement | — Prepaid commission is a personal A/c.

Statement Il — All those accounts which we related to outstanding items and prepaid iterms are
called Representative Personal A/c.

UM | — I % U AT HF T el € | I % i (e o el 8 Ia & S8 Tl i <A B ¢
He || — SHAEE H FHAE 1 AN Al TS B S B € |

Statement | —

Statement Il — the sum of assets of a business are equal to liabilities.

FHA | — FIHE H Tk -39 B 4 T8 B ¢ |

HA || — o9 TS el =73a8E & A 7o ¢ |

Statement | — Every transactions have wo aspects/sides.

Statement | — Profit and loss are two sides of a business.

v : 7w wEm 31 ¥ 34 9% A Q *iem Ky T ) 9 Hiew ¥ e $R g 9 sW faE)

Instructions : Q. No. 31-34 there aretwo columns. You have to match the correct options of

31.
32.
33.
34.

column—Ito column-II. 1x4=4
&iad-1 (Column 1) Hiad-11 (Column 11)

=re] qed (Currebt Liab) (a) 3Asd =93 (Outstanding Exp.

=] gl (Current Assets) (b) =fa (Goodwill)

T g (tangible Assets) (c) wef (Machinery)

3T gmfEr (Intangible Assets) (d) geiza == (Prepaid Exp.)

[AC-6 ]



o

Y. 9 350 U S0 e T 2 | se Wiy 9 weE i@ ¥ W e % S| A W
fowren o @ IS & YR W 7| 3x2=6

Instructions : In Q. No. 35there is a paragraph followed by three questions. You have to mark

35 1

correct alternative from the option given in those quesitons.

SHerl, 1994 w1 x fefiee 5 55,000 T whi Teh A %Y 1 AR gHH! ol W 3000 T qN TG R

2000 % @€ fhU | x foifide g1 oFd W 10% =it T 9 g9 @t € |

X Ltd. purchased a machinery on 1st Jan 1994 for Rs. 55000 and spent 3000 on its cartage

and Rs. 2000 on its erection. x Ltd. writes off depreciation (a) 10% p.a on original cost.
39 A1 & You have to calculate :

o

T3 i foram T 9 Sfae fowar Smom—
Machinery A/c will be debited by what amount ?
(a) 55,000 (b) 58000 (c) 60,000 (d) 1,00,000

. Hfqad s/ o STeTm—

Depreciation will be charged annually :

(a) 5,000 (b) 3,000 (c) 6,000 (d) None
Tedl 98 & 30 | g OH &% o A9 @i § SeT—

After charging deprciation amount will balance in Machinery A/c at the end of Ist year :
(a) 55,000 (b) 54,000 (c) 60,000 (d) None

1o,
Y. | 35 ® dF freafafed g § @ @ oiftw fage 9 8 wa ¥ oy usht weE
faweat = fafga =2

Instructions : Q. No. 35In there may be more than one correct answer. You have to marks all the

correct answers.

AT S % 3evd frefafed §—

(a) = =1 A= (b) TerTcHe To (c) SIfgAT 1 I @1 (d) SNH-BI 9l o
Following are the objectives of preparing Trial Balance.

(a) Knowledge of Balances (b) Comparative Decisions

(c) Detection of Errors (d) Ascertatin of profit & loss.

qeTue o 1 fafeat d—

(a) v fafy (b) = fafy (c) ar W 3w fafy (d) ol forea fafy

Different Methods of preparing Trial Balance is :

(a) Balance Method (b) Total Method (c) Total and Balance Method (d) Original cost method
sl & et woR B B—

() w@ " egfeal  (b) e ewIfeA  (c) gl swfeEt (d) frsfir srfsat
Following are the errors :

(&) Errors of omssion (b) Error of Principle
(c) Compensating Errors (d) three-sided errors
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SECTION-II

AT-aeqfIs3s 9¥9 (NON-OBJIETIVE QUESTIONS)

e ST 9¥A (Short Answer questions) :
e : ye W= 1 @ 10 O @Y ST YR 21 39 HifE B TS U & fay o % frwifa €

1.

3x10=30
Instruction : Q. No. 1to 10 are short Answer Type Questions. Every question is of 3 marks each.
@l FhR A G F 2
What are types of Accounting ?
iR gAY fRE wEd € 2

10.

What are Accounting Standards ?

T FaErt &1 30 June, 2008 &I e feafa ofi—

THg-5,000, ITIR-20,000, TIHRI-60,000, EfH-25,000
Tsit-75,000 39F IfIE T H |

The postion of a businessman on 30" June 2008 was as follows :

Cash — Rs. 5000, Debtors — Rs. 20,000, Machinary Rs. 60,000
Stock Rs. 25,000, Capital Rs. 75000, Calculate his libilities.

I ¥R SIfSA Hi fad S aeae g 9 el H S Tkt 2

Name four errors which cannot be disclosed by preparing a trial Balance ?
T G=g 1 i e wehR feman ST © 2

How are secret Reaserves created ?

e o ¥ = emE © 2

What do you mean by Accomodation Bills ?

fearfq foeror =AM & 1 32w © 2 feufq foeno ud dorue & o wwe Y | HE I

What are the objectives of preparing Balance Sheet ? Distinguish between a Balance sheet and a
Trial Balance ? ay two.

sTaree faawor qen feufa foerm § dF o T &Y |

State three differences between statement of Affairs and Balance sheet.
FHPR FHI ] A9 BASIC T2 COBOL =1 g & |

Explain BAISC and COBOL language of computer.

el Relereia wiget 0 g 2 2

What is an Entity Relationship Model ?

[AC-8 ]



<l 3909 999 (Long Answer questions) :
e : T W& 11 | 15 O B TS B: Ak B T 5x6 =30

Instruction : Q. No. 11-15 are of long answer type Question. Every question are of 6 marks each.

11.

12.

13.

WY T Yhe &I | 31st A, 206 & 7500 %. i Sfae amnt off | T9 g& 9 fHa™ & | 91 g fh
500 % 3R 700 % & S weh 30 HIE i ok ° 51 fop 7 &, St TR areft qeh W 7 g2 € 1 600, 800
3R 1200 & 1 = 28 #re &l i fohy T o, g T 9 IS off W S b I raH & A e
&l foha T | 31st WE i Wk A WA & WA | 125 To oS % HiSS hT Weg TRl @ Uehg aEl § e
T | ok 4 15 % @9 & foIu W gqen ot o Ushe qeaeh W el g |

31st T, 2006 ! dh FEEM R FAET |

Ramesh's cash Book showed a debit balance of Rs. 7500 on 31st march, 2006. On comparing the
Pass Book : it was found that cheques of Rs. 500 and Rs. 700 which were deposited into Bank on
30th March, have not been cullected so far. Cheques of Rs. 600; Rs. 800 and Rs. 1200 were issued
on 28th march; but none of these cheques was presented for payment upto 31st march. Bank
credited Rs. 125 for interest in Ramesh's Account but it was not recorded in Ramesh's cash Book.
Bank charged Rs. 15 which were also not recorded in Ramesh's cash Book prepare Bank
Reconcilliation statement as on 31st march 2006.

Or,
S g faeRor 1 g1 § 2 a8 H9 AR fRer S © 2
What is Bank Reconcilsation statement ? How is it prepared ?

1 SHeRl, 2001 1 TH T 62,000 & H HF foman 70 9o 39 o W 3000 % T R | 9 @
A SfiarenTet 10 o8 © fqeher w9=imq Tafirs ged 5000 %. B | Tl frkd Yomeft & 1R W i o
% fau 999 @, 39 @ 596 |

A plant was purchased for Rs. 62,000 on Ist Jan 2001 and spent Rs. 3000 on its erection. The

estimated effective life of the plant is 10 years with break-up value of Rs. 5,000. Prepare plant A/c,
Depreciation Alc.

Or,
Tt ot Ugfd & STTER BE o @ o T el i o |
Discuss the merits and demerits of providing depreciation by straight line method.
1 SRR, 2005 iy 4 X ¥ 1000 % ¥R ford iR SO Th qfaw-o=1 &7 Sl &1 e o1 7 o | Y-
I X 7 4 FRJ, 205 FHl 6% I I8 & L F T0H § A o= | 39 fafyr Wy 7 gfaan o &1 Pram =
feam
X Ry 1 Tl o JSHEE w1 wlafer & |
y owes Rs. 1000 from x on 1st oct 2005 and send his promissory note for the payment payable two

months after date. The promissory Note was discounted by x on 4th oct, 2005 (a) 6% p.a. from his
banker. Y pays off on matering.

Give journal entries in the books of x and y.
Or,

fafa faa o= 21 € 2 ¥ ufan 93 § 4 =1 8 © 2

What is Bills of Exchange ? How is it differ from Promissory Note.
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11 2 & @79 31st fHwR 2004 & fAT SR @, AH-31 @ qei 31st fe=w 2004 F1 i foeen
IR Y |

From the following balances prepare Trading A/c, P/c, A/c and Balance sheet as on the date.

Dr. Balance Amount Cr. Balance Amount
Stock (1-1-2004) (T&fa=m) 20,000 Sundry creditors (fafag @ =R) 15,000
Purchases (&3) 75,000 Purchases Return (3 dT9t) 3,000
Sales Return (fasa amadi)| 8,000 Sales (fasa) 2,50,000
Freight and carriage

(oTTST o TMET HTEN) 7500 Commission (HIEM) 3,300
Capital (Isf) 1,70,000

Wages (IIGI{ﬁ) 36,500 Interest on Bank Deposit 1,70,000

(dh <191 W =)

Salaries (3) 12,000 2,000
Repairs (THd) 1200 Blp (33 faa) 6200
Trade Expenses 4000

(AR =)

Rent and Taxes 24,000

(fopn T )

Cash in Hand (I&%g) 5,700

B/R (4= ferad) 4,000

Debtors (ST_R) 55,000

Plant & Machinery 1,60,000

(efie ue A

Drawings (31@8Y01) 16,600

Bank Depost (s ZisHr) 20,000
4,49,500 4,49,500

A<\ wida Closing stock = 25000 %
Or, s fogal &1 ¥ed TR Y |

Prepare format of Balance sheet.
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15. frafafas & fau sHa gfafafest =X
Give adustment journal entires for following :
(a) 3_d I (outstanding expreses)
(b) sf<m wfdan (closing stock)
(c) Yo S (prepaid insurance)
(d) ¥=H | g™ (Depreciation on machinery)

AN SWER

g @ g¥a (OBJETIVE QW

1. (b) 2. (8 3. (c) 4. (c) 5. (b)
1. (d) 2. (d) 3.(d) 4. (c) 5.(c)
6. (a) 7. (a) 8. (¢) 9. (d) 10. (a)
11. (b) 12. (d) 13. (d) 14. (c) 15. (b)
16. (a) 17. (b) 18. (a) 19. (b) 20. (c)
21. (c) 22. (b) 23. (c) 24. (b) 25. (a)
26. (a) 27.(a) 28. (a) 29. (a) 30. (c)
31.(a) 32.(d) 33. (¢) 34. (b)

35. 1. (c), Il (c), N (b), Or, 1. (a, b, c), Il (a,b,c), lll.(a, b, c)
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MODEL SET-—-11

SECTION-I

FE¥qfass 939 (OBJETIVE QUESTIONS)

e : W Ho 1 @ 25 9% @ WE ¥ 9K faswew Ry mu €, v @ = w2 | wet fawew ®t

Sw aifeent ° fafgq w0 1 x 25 = 25

Instruction : Q. No. 1to 25 : In the following questions there are only one correct answer.

1.

You have to choose that correct answer.

A T—

(a) ¥ge feomsw (b) sTSeye fearsd (c) Rt e (d) 3MIeYe WS TR
Keboard is :

(a) Input device (b) Output device (c) Memory unit (d) Output storage Area
fafma foetl o qer e € 2

(@) 2 (b) 3 (c) 4 (d)5

Parties in Bills of Exchange are :

(@2 (b) 3 (c) 4 (d)5

3fea Sig-vgae & @18 ot 4% qe9e & A val 1 9 TE et € At e i Ul i feren St 2 —
(a) o9 B @ o (b) 3=f<d = # (c) MR @l (d) @t & @ §

After detection is the sum two side of trail balance does not tallies, then the amount of difference is
written to :

(a) profit & loss Alc (b) Suspense Alc (c) Trading Alc (d) Propriter A/c
T sryfgal St aEfas dF-Hl w1 faeH W o I % RO S 8 FHEar e—

(a) o8 TErE SRl (b) 9o SRR ewifgAl  (c) Suafia swfsar (d) S&m

All these errors which answer due to omission are known as :

(a) errors of commission (b) errors of omission (c) three sided errors (d) embezelment
Sl T el 8—

(@) hTeqiTeh T (b) arEdfers B (c) =afera @ (d) =R @
Suspense Alc is :

(a) Nominal Alc (b) Real Alc (c) PersonalAc/ (d) Trading A/c
Safd T 1 T B § gE d—

(a) Twuea swIfsa wI (b) f5usfa owyfga &1 (c) Sfoe 9a =t (d) wfee et =i
Suspense A/c is used to reetify :

(a) One-sided erros  (b) two sided errors (c) Dr. side (d) Cr. side
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10.

11.

12.

13.

FHIE @ & Sfae § 430 & TH W 340 T fomen T &1 guRA 'g wfafe sm—

Commission Alc Dr.
To Alc

(a) Suspense Alc 20
(c) Suspense Alc 430

(b) Suspense Alc 340
(d) T | FE T

An amount of Rs. 430 was posted as Rs. 340 to the debit of commission A/c — the restifying entry

will be :
(a) Suspense Alc 90
(c) Suspense Alc 430

e HH Yg Tl ¢ TE—

(a) T HHE Bl ©

(c) e srEfy THE Bl ©

Accounting Starts where :

(a) Book keeping ends  (b) Business ends
@ T e—

(@) TR = (b) =HaIE™E Y
Accounting is language of—

(a) Computer (b) Business

(b) Suspense Alc 340
(d) None of above

(b) SHE™ FHI B 2
(d) ST ¥ 9 g &l

(c) Accountingperiod ends (d) None of above

(c) 9= =t (d) STHER =Y

(c) Men (d) Officers

AR H AR ITH @I § 376 Bl § W i—

(a) oM I & A=
(c) @@ Tafy i A=Al

(b) =Te] SATR ki A=A
(d) &1 |9 A=

The entity of a business is depante from its owners Assumption is from :

(a) Business entity Assumption
(c) Accounting period Assumption

(b) Going concern Assumption
(d) Money Measurement Assumption

8 U1 S A9 HI e UEl 1 o Bl §, FEed e—

(c) TSt (d) 379 & =i =l

(c) Capital (d) None of these

(a) wfd (b) wfa

The Amount which the firm has to pay others is knowns as :
(a) Assets (b) Liabilities

e & %H S—

(a) Ioft e @

Purchases of Machinary results :
(a) Increase in capital

(c) Decrease in capital

fo® gu ot &t @rma g e d—
IRf9eR widar = 4000

A< @i = 2,000

%9 = 45,000

(a) Rs. 43000 (b) Rs. 51,000

(b) gmafa & gfg et @ (c) Ioi & et Bt ®

(d) <t & e B ©

(b) Increase in Assets
(d) Decrease in Liabilities

(c) Rs. 39000 (d) Rs. 47,000
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14.

15.

16.

17.

18.

19.

20.

What is the cost of goods sold which :
Opening stock = 4,000

Closing stock = 2,000

Purchases = 45,000

(a) Rs. 43,000 (b) Rs. 51,000 (c) Rs. 39,000 (d) Rs. 47,000
YT RN W AT QAT WEEE SR S e—

(a) 319 FHOT & T = yeaeE o 9 (b) 9T I H |

(c) @I ®9 ¥ I+ ¥ I (d) 79 9 +E &f

Old provision for Bad Debts subtracted from :

(a) New provision for Bad Debts (b) Bad Debts (c) Both of them jointly (d) None of them
Rftsrer wiaan &t WA = g 59 sifad wiaa = 4000 fae gu o1 &t @ = 52,000

%3 = 45,000

(a) 7,000 (b) 11,000 (c) 3,000 (d) ®E =¥

What is the amount of opening stock when

closing stock = 4,000

cost of Goods sold = 52,000
Purchases = 45000

(a) 7,000 (b) 11,000 (c) 3,000 (d) None
Tl Tt o et g 3—

(a) =i Tefaar (b) =R (c) M g (d) Jws
The term fixed Assets inclves :

(a) Stock in trade (b) Furniture (c) Payment in Advance (d) Cash
st e =1 gEriSE e 8—

(a) =R @1l | #wfee  (b) onfefes faeat & gfd v & (c) SWam s (d) =7H & K T

Advestment of closing stock is :

(a) Credited to trading Account (b) Shown in the Asset side of the Balance sheet
(c) Both of above (d) None of them

dfery sponef wffa feran s 28—

(a) TTRRI W (b) TERI ™ (c) Ui W (d) 39 & =i =l
Reserve for Doubtful debts is done :

(a) Debtors (b) Creditors (c) loan (d) None

e Uil S B—

(a) TTd & (b) I&UEH & (c) ISt & (d) it =
Lucas Pacioli is the father of :

(a) Mathematics (b) Book keeping (c) English (d) Hindi

T @l quledt & o e 3—

(a) o=t Jomeht (b) foftar fearfg =1 o9 (c) @l 1 SHHR (d) ST @t
Advantages of Double Entry System are :

(a) Scientific system (b) Knowledge of Financial position

(c) Knowledge about different Accounts (d) All of Above
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21. 9 W A % TRell gfd el bl Wiel i aTaE Y € Al gEn R S 8—

(a) Bfge e (b) ®fee A (c) & g OELRE
When we return goods to the supplier then we use :
(a) Debit note (b) Credit Note (c) Cash Receipt (d) Pay in slip
22. U@ @@ S e st wew, s o e enfe AW 9 weeited € shedd e—
(a) ot @man (b) sTaT=fereh @ (c) =AfFFTa e (d) SR @t
those Accounts which are related to Man institute company, firm etc. are called :
(a) Real Account (b) Nominal Alc (c) Personal Account (d) All of above
23.  Ushg o9& Tau feamd 8—
(a) efas o™ (b) Hfee v (c) =¥ (d) =
Cash book always shows :
(a) Debit balance (b) Credit balance (c) Profit (d) Loss
24. S WER o Sl 8—
(a) =] =T o (b) ==ra @@ | (c) 9% ¥ (d) =99 ¥ =i &l
Bank charges relises from :
(a) Current Account  (b) Saving Account (c) By cheque (d) None
25. g o€l & Sfae 99 ¥ o GHHE faewor SR S ? Al Sien S e—
(a) 5 frifaa fore o weg A & fore weqa =&t femen (b) S g1 =S wiee HE
(C) TEehl §NI Sk § WY AT ST HIAA (d) S |t

Write preparing Bank Reconcilliation statement by Dr. balance of cash book then added :
(a) Cheques issued but not presented for payment (b) Interest Allowed by bank
(c) Amount directly deposited by the customers (d) All of Above

e : . 9. 26 @ 30 7 FrAlfRa g9 A TS U A @ oA @ T €1 A YA @ 96
qen faey § | ¥ SW A : 1x5=5
(@) T weF WE B qA HUA | H AN FeH || § HI S Fehel @
(b) T wer W ® U HeF | H oA wUA || @ e B ST Gehd ©
(c) oM 1 WEl €, W A || Terd ©
(d) e |l HE 2, W e | e ©

Instructions : Q. No. 26-30 From the two statements are given. You have choose from the
following options :
(a) If Both Statements are true and Statement Il is the correct explation of Statement |
(b) If both the statement are true but statement Il is not the correct explanation of statement |
(c) |If statement | is true but statement Il is false
(d) If statement | is false but statement Il is true

26. HUH | — THeU ofEl Yol ¥ enfder faeer & s S @ |
Fe || — anfefer faeer fad <ew wen yomet & sFmen S € |

Statement | : Balance shset is not prepared in single entry system.
Statement Il ; Balance shset is prepared only in Double Entry System.
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27. HU | — A9 = Afaq ot — URfETR IS
HUH | — THeU ofEl Jorell ¥ A% oifqw o ofk g gt o o i @y wed € |
Statement | — Profit = closing capital — opening capital.
Statement || — The difference between closing capital and opening capital is known as profit in
single entry system.

28. @ | — oft weft aeqd e T s B ©, g weer € |
FHe || — T oF Hwme Taeed wen &l g € |
Statement | — All those things having independent existence are known as Entity.
Statement || — Database Management system are not costly.
29. A | — o do Fo Tk BEHR 2 |
FIT || — HER & TR T TERR T |
statement | — C.P.U. is a hardware.
Statement Il — All parts of a computer are Hardware.
30. U | — HEAR Ak W HH HEI E |
HUA || — X I Th Taferd oo ¢ |
Statement | — Computer works on BASIC.
Statement Il — BASIC is a language of computer.

v : 7w wEm 31 ¥ 34 9% A Q *iem Ky T {9 Hiew ¥ e w5 9 sW faE)
1x4=4

Instructions : Q. No. 31-34 there aretwo columns. You have to match the correct options of
column—I to column-II.

&iad-1 (Column 1) Hiad-11 (Column 11)

31. g yaE faawwr (Cashflow statement) (A) As—2

32. Wfd@ %1 geaisa (Valuation of Inventries) (B) As-—10

33. @M (Goodwill) (C) As—6

34. T 3™ @isd (Dep.Alc) (D) As-3

e . 9 35 9w seu i T R | e Wy @9y Y W R o @ sw @ .
faseal ¥ @ IS0 F AYR W 3x2=6

Instructions : In Q. No. 35 there is a paragraph followed by three questions. You have to mark
correct alternative from the option given in those quesitons.

35. ®a (Purchases) 3,00,000
fost (Sales) 5,00,000
fershl amodt #Sigd (Sales Return) 35000
gAE WA Wl (Carrige & Freight) 5,000
yRfe Wi (Opening stock) 25,000
At wida (Closing stock) 35,000
. 3§ Tkt = 2 (Net sales = ?)
(a) 5,00,000 (b) 4,90,000 (c) 2,00,000 (d) 39 ¥ &g & (None)
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fo gU ot *1 @G B —

() 3,30,000 (b) 3,25,000 (c) 5,00,000 (d) 490,000

HhHa a1 gM—

(a) 1,60,000 (b) 260,000 (c) 490,000 (d) 200,000

Gross profit will be :

(a) 160,000 (b) 2,60,000 (c) 490,000 (d) 200,000
3L,

e 9. | 35 & o freafafea et ® w9 aAfus faeey 9d @ w@a ¥ o9 9t wet

faweat = fafga =2

Instructions : Q. No. 35In there may be more than one correct answer. You have to marks all the

Or,

correct answers.

T HRO FE d—

(a) STg=reH (b) FeeAC (c) R WM (d) 9=
Causes of Deperciation are :

(a) Absolesence (b) Accidents (c) Constant use (d) Reserve
9 W HEd B—

(a) = #T g2 oM (b) sAfeaf@ @ () a W b A (d) W W wiE AL
e o 9w wE e—

(@) U= HON & ferg sTEH (b) IR R FHIAA HT A

(c) = & fau smeHA (CRERERI CERSEEIRISE]

Which are correct from the followings :

(a) Provision for Bad & Doubtful Debts (b) Provision for Discounton Debtor

(c) Provision for taxation (d) Provision for Debentures Redemption

SECTION-II

AT-aeqfIs3s 9¥9 (NON-OBJIETIVE QUESTIONS)

e ST 9¥A (Short Answer questions) :
e : ye W= 1 @ 10 O @Y ST YA 21 59 HifE B TS U & fag o % frwifa €

3x10=30

Instruction: Q. No. 1to 10 are short Answer Type Questions. Every question is of 3 marks each.

1.

SPATA T TF YoiTd ©E § T A |

Distinguish between Revenue Expenditure and Capital Expenditure.

@R & Thal STMER T SUSH TER H Fi dF TR o |

Give any three points of difference between Cash Basis and Accrual Basis of Accounting.
Tk A 1 Hel gt 3,00,000 T qer dsit 2,40,000 €, A SHERI R TOAT |

If total assets of a business are Rs. 3,00,000 and capital is Rs. 2,40,000. Calculate creditors.

T Twueia s o+t fag |
Write three one sided errors.
TET UF 3MESH H o9 T i ford |

Write three differences between Provision and Reserve.
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6. ‘‘fafma v 1 oRusa g @ 7@ FAE" @ F gEE € ?
What do you mean by "Relating a bill under rebate" ?
7. oy o 9 GHEd € 2 XSS T |
What is meant by Indirect Exp. ? Give two examples.
8. o1 W TN 1l TG % YR &l € | SHH g’ 7 M < St 8—

Atual keeps his accounts on Incomplete recordes. He gives you the following information :

yrftssk ISt (Opening Capital) 2.00,000
sif< gsft (Closing Capital) 2,50,000
30T (Drawings) 60,000
ZFEE § TR T stfafe g 75,000

(Capital added during the year)

Y T AT-FIH TG R

Calculate Profit/loss for the year.
9. NI 50 YR H HTI & aR H o |

Explain the meaning of computer in about 50 words.
10. SEEE Hwme foen 9 9o gHE © 2 9o e |

What do mean by Database Management System. Explain.

<rsf s98= 999 (Long Answer questions) :

v : T W= 11 ® 15 T & TOF B: A% B T 5x 6 =30
Instruction : Q. No. 11-15 are of long answer type Question. Every question are of 6 marks each.
11. Frefated o=-3 1 & @H ol Johs @@t § fafey @R St Ed Sife |

Enter the following transation in a two column cash book and post then into ledger.
2006

Aug. 1 IHE W (Cash in hand) 4000

Aug 1 d% 39 (Bank balance) 3,000

Aug 2 wigdl & (Wages paid) 5,00

Aug 3 el TS 3R A =k gl e 12000
(Gods purchased and paid through cheque)

Aug 4 A ¥ YA e gR W R fo g s s fian 1000
(Received a cheque fromKhanna and paid into bank)

Aug 7 TSN 1 PIAH <k R TR T 500
(Paid to Ganesh through cheque)

Aug 8 T faeht s o s a5 500
(Cash sales paid into bank)

Aug 10 FrEieE & foy o6 9 ' e 500
(Withdraw cash from Bank for office)

Augl2  o% ® 93 51 fRT (Paid into bank) 1000

Aug 14 =R @& (Furniture purchase) 200

Aug 14 T ¥ P 9 fRaE (Recerved payment from Ram) 190

Aug 14 S 3 = T (Interest allowed by the bank) 10

Or, Ushe =&l ford wed & 2 Yshs =&t & fafer= wendl =l &g |

What is a Cash Book ! Explain the types of Cash Book.
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12.

13.

14.

1 SHedt, 2000 1 T ffies 3 T A WY 20,000 T W WK qU1 gHE AR SR AMH W
50,000 % =77 a1 | 1 e, 2003 1 AL SR & 78 3T 399 90,000 % § = &= | g ot
T Ugid & STTEN 10% Wided i < § o 90 | g 9 o 31st fawar &l 5% i St € | SAewTh
SR @ 7€ A gC aAEY foh B9 SIS @l S| S ¢

Gupta Ltd. purchased on 1 Jan, 2000 a second hand machinery for Rs. 2,00,000 and immediately
spent Rs. 50,000 for its overhauling and installation. On July 1 2003 the plant become obselate and
was sold for Rs. 90,000. Depreciation is provided @ 10% p.a. on original cost method. Books are

closed every year on 31st Dec. show the necessary ledger accounts assuming that provision for
depreciation A/c is maintained.

Or, B9 ¥ 1 GHZAd & ? B oM &1 3 Tgiadl ol IS0 Gied oo &1 |

What do you mean by Depreciation ! Explainthe two methods of charging depreciation with
examples.

1 37T, 2005 1 &4 7 5,000 T 1 Teh fous W & W i A8 &I 31afy o1 foran, fSaeh! digd 3 @R
Fh Tl Rl ol & | 4 faaet o6t ded | 59 faw @ g e ik 6% ufa o w9 fae ot
el kT @l |

e Td B R el § yfafear i |

On 1st Auguest 2005, Hari drew a bill for Rs. 5,000 on Mohan for 3 months which was accepted and

returned by Mohan. On 4th Sept. Mohan retires his acceptance under the rebate of 6% per annum.
Pass entries in the books of Hari and Mohan.

Or, 91 & (Explain) :

(a) =t fafma fsat (Bill at Sight)

(b) fafa =& wv=q fafw= faa (Bill after Date)
(c) == & wva fafma faa (Bill after sight)

frafafed qede ¥ SR @, a9 g1 @ qen faeet 31st fKawr, 2005 1 99 8 a1el a9 1 9 E |
(From the following trial Balance prepare trading A/c, profit & loss A/c and Balance sheet as on 31st
Dec. 2005)

Account title

Opening stock (IRfesTeR i) 2,100 —
Purchases and sales (%3 Td fa&a) 7,800

Debtors and Creditors (3SR Td &=R) 5,600 5,000
Plant and Machinery (ive 3R H9i) 1500 —
Provision for Bad Debts (34T &0l gq W&em™) 700

B/p (33 fam) — 5000
STt (Capital) — 6085
Wages (¥sigl) 3,000 —
Advertisement (fa=ma9) 4,000 —
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Buildings (¥9a) 4,000 —
Carriage (%) 400 —
Discount (&2) 100 —
Office Expenses (3ifHg @) 475 —
Cash (I%3g) 610 —
Salaries (3 ) 900 —
Repains (H3Hqd) 800 —
Bad Debts (9™ %07) 500 —

31,785 31,785

Or, Ysfiia &1 & @™ @19 &1 e @ ?

What are Capital Receipts and Revenue Receipts. Write features of them. Write three examples
both of them.

15. =1 =1 =1 U= fowan e ?
What treatment will be done with following terms while preparing final A/c.
(a) 3 W =S (Interest on Drawings)
(b) St W =I (Interest on Capital)
(c) =W ¥ 9re (Goods in transit)
(d) =AfFETa YA BG WA 1 M0 (Drawing of Goods for personal use.)
Or, WHFEISH wfefte 1 gt € ? fohel =R sevasasi =i fag |

What are Adjustment entries ? Write any four necessity of adjustment.

ANSWER

SECTION-I
(—@‘QW (OBJETIVE Q@

1. (a) 2. (b) 3. (b) 4. (b) 5. (a)
6. (a) 7.(a) 8. (a) 9. (b) 10. (a)
11. (b) 12. (b) 13.(d) 14. (c) 15. (b)
16. (b) 17. (c) 18. (a) 19. (b) 20. (d)
21. (a) 22. (c) 23.(a) 24. (a) 25. (d)
26. (a) 27. (a) 28. (c) 29. (a) 30. (a)
31. (d) 32.(a) 33.(b) 34. (c)
35. 1. (b), 1. (a), . (a), Or,l.(a,b,c), Il.(a,bor c),lll. (a, b, c)
\§ J
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MODEL SET—-I11I1

SECTION-I

FE¥qfass 939 (OBJETIVE QUESTIONS)

T : W Fe 1 @ 25 9% ® WE B 9K fawew fKu U @, i @ @ W © | 9 faeew =i
SW aifaew o fafga 1| 1% 25=25
Instruction : Q. No. 1to 25 : In the following questions there are only one correct answer.
You have to choose that correct answer.
1.  TEUeH &l SRl o yonel &1 enfashR feee fehe ?

(a) faferm fufrew (b) < SfEE (c) Si. AR, S (d) TE. T\, YT

Who invented the double entry system of book-keeping ?

(a) William Pickles (b) Lucas Pacidi (c) J.R. Batliboi (d) S.M. Shukla
2. EeH % e g—

(a) I=IRI I @Al (b) I=IRI I HEATAT H T

(c) =i |iei w1 fewe Jeel § W (d) 79 § HE T

Book-keeping means:

(a) To keep to books (b) To keep the books in office

(c) To maintain business transaction in books (d) None of the above
3. frafafed § @ = =« Sfe 2—

(@) 10% o1 (b) Twa 39T TS (c) TTRR (d) sere

Which of the folllowing is current Liability :

(a) 10% Debentures (b) Equity share capital (c) Creditors (d) Mortagage
4. ey Y emEn A SR welt T iRl @ forg wree Y 59 Aifq o wror 8—

() GHMAT T T (b) wfearfear ® Ty

() IS T TR (d) sfifcerar &1 T

The policy "anticipate no profit and provide for all possible losses" arises due to :

(a) Convention of consistency (b) Convention of conservation

(c) Convention of Disclosure (d) Convention of Materiality
5.  Hdq SA9E YR % 3THR A g ThE =] Wil—

(a) s1ffe=d wa dk (b) T ®9 9 (c) sl ®9 d (d) 3 979 & fau

According to going concern concept, the businen entity will continue to exist :

(a) Idenfinitely (b) Permanently (c) Temporary (d) For the time being
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10.

11.

12.

13.

THS | T H HI—

(a) BT Tl

(c) et T § gig o €
Purchases of Mechinery for cash :
(a) Decrease total assets

(c) Increase total assets

Tt SR @ % FHal 9% St 8—
(a) @t & 3Tl 9
Assets and Equity of owner increase :
(a) By Drawings of owner

(c) By Profit

ST o S ferw, e fean St 23—
(a) =MRE e (b) % w=
No Journal Entry is made for :

(a) Trade discount (b) Cash discount

(b) 9o ¥R I FH I

(b) et HEEl W i qede e €
(d) =me] w9 e €

(b) Keep total assets unchanged
(d) Increase of current assets

(c) @ | (d) Tmfa =+t faswr @

(b) By Purchases of Building on credit
(d) By sale of Assets

(c) =t (d) = @t

(c) both of them (d) All of these

A T

(a) HAfFATd @l (b) st (c) =mdifereh BT (d) 3Temdifeh @rdl
Wages owing is :

(a) Personal Alc (b) Impersenal Alc (c) Real Alc (d) Nominal A/c
T B—

(a) =afemma @ (b) orfaek @ (c) SFamdfash @l (d) =i T T
ATrial Balanceis a:

(a) Personal Account (b) Real Account

(c) Nominal A/c (d) Sehedule of Balance

T2 M Al rfgal et w1 gefad s 3—

(a) a8 = (b) TAT & (c) = (d) fret =i ot =i
Errors of omission affect the agreement of the :

(a) Balance sheet (b) Trial Balance (c) Both (d) Neither of these
g H1 o A-gl e ' o foren s 3 —

(a) 2fde aix (b) #fee 3R (c) ST 3 (d) =T @ i T

Observe is recorded in P/L appropriation A/c at :

(a) Debit side (b) Credit side (c) both side
o fafer & el o 1 TR § w9 wH B e—

(a) Tl fohyd (b) sHTE B (c) =nftfent wgfa
Amount of depreciation declines gradually under :

(d) None of these

(d) foret §

(a) Fixed Instalement Method
(c) annuity method

[AC-22 ]
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14.

15.

16.

17.

18

19

20.

21.

22.

v foret 1 gt foRan ST ®, A S R S —

(a) 9= faet @rar =t (b) g3ifepit & @1 *T (c) Wiehal & @i 1 (d) IR T B
When bill is endorsed, credit up givento :

(a) BIR Alc (b) Endorsee Alc (c) Acceptors Alc (d) Debtors Alc
fafma oo fras s foran < 2—

(a) TR (b) FTRR (c) =T I (d) S

A bill of exchange is drawn by :

(a) Debtor (b) Creditor (c) Both of them (d) Bank

ferat s S 8—

(a) TH =7afy fovm & faw  (b) T fovmw fafy | (c) wwyqol o & faw (d) 378 ° #E =&
A Balance Sheet is prepared :

(a) for a particular period  (b) on a particular date (c) for the whole year  (d) None of these
dore ¥ foran T s w2 fre o feemn s —

(@) SAMUR @l (b) T¥-=IA BT (c) Taear (d) =t

Closing stock given in the Trial Balance is shown in :

(a) Trading A/c (b) P/L a/c (c) Balance sheet (d) Liabilities side
derae ¥ fean wn sufsa = frm § feamn st 8—

(@) =AMUR @l (b) TH-=IA BT (c) Taear (d) =t

Accured Interest given in the Trial Balance is show :

(a) Trading A/c (b) P/ILA/ (c) Balance sheet (d) Liabilities

sl wefa § ftferd B e—

(a) f<m ot 9 (b) UET T (c) F=R (d) &R

Fixed Asset include :

(a) closing stock (b) payment in advantage (c) furniture (d) debters

o€ ®U1, S oge € o ekl § A A& o € Hehal §, I HhEd B—

(a) wfcrg & (b) 1o T (c) 3= =W OEEE & el
The debts, which may or may not be realised are called :

(a) Debtful debts (b) Bad debts (c) Good debts  (d) Bad and doubtful debts
THEd o JoTedt H—

() Tgol oF-3F w1 foran S ® (b) = g&ll T erEr B ©

(c) Tt ek u&r =1 o fepen ST @ (d) fad Fohs SF-<AT 1 feren S @

Single Entry system is a system of book-keeping where in :

(a) whole set of the transaction is recorded (b) Two aspects of the transaction is recorded

(c) only one aspects of the transaction isrecorded (d) only catch transation are recorded

THed @ YUlett & G &l hi ToHI—
(a) st gormees fafy (b) wfad=rar fafy (c) 3 & & =+ ot (d) Tomht gmfa fafy
In single entry system profit is asertained by :

(a) Capital comparison method (b) Conversion method
(c) Either of the two method (d) Fixed assets method
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23.

24.

25.

HX Toh—

(a) e w9 (b) heTeR () HuiferT (d) = T
Computer is a :

(a) Launching Machine (b) Calculater (c) Controlling Device  (d) None of the above
T U -9 HEI H AN Feetd 3—

(@ T T g (b) & 9. 7, (c) WM (d) 3R 31 T
Which is the following is said to be the brain of a computer :

(a)A.L.U (b) C.P.U (c) Monitor (d) R.O.M.

T fohelt are fRaT e ® BN B—

(a) 1000 arseH (b) 500 drE<H (c) 1024 s1z2d (d) 2000 sTE2d

How many bytes are there in one Kilo Byte :

(a) 1000 Bytes (b) 500 Bytes (c) 1024 Bytes (d) 2000 Bytes

: . 9. 26 § 30 7% frAifwa g9 A TS U A @ ®eA @ @ € A YA W 16
qen faey § | ¥ SW A : 1x5=5

(@) T weF WE B qA HUA | H AN FeH || § HI S el @
(b) T wer W ® U HeF | I oA HUA || @ e B ST Gehdl ©
(c) oM 1 WEl §, W A || Terd ©

(d) FeH || T 2, W HHA | Ted §

Instructions : Q. No. 26-30 From the two statements are given. You have choose from the

26.

27.

28.

following options :

(a) If Both Statements are true and Statement Il is the correct explation of Statement |

(b) If both the statement are true but statement Il is not the correct explanation of statement |

(c) If statement | is true but statement Il is false

(d) If statement | is false but statement Il is true

HeE | it = grfa — <ifae

U || —ATleh THIHI & ER, AaEE & Tl 1 a0 goen qee gt Td i & seR g 2l
Statement I—Capital = Assets — Liabilities.

Statement Il—According to Accounting Equation the assets of a business are always equal to the
total capital and liabilities.

HeA | —Trl e W g o S € |

A | —AEIh FHT-6 % STHR Hod BH ek Bl § |

Statement | —Depreciation is charged on fixed assets.

Statement Il —Depreciation Accounting is done according to Accounting standard - 6.
o | —FTHR I JOTedl 1 FA T e 7 |

o || —FHE 59 Yomelt 1 Jan wiar © 39 fgaof yorelt #ed ©

Statement | — Computer does not uses decimal system.

Statement || — Computer works on the system is called Binary System.
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290.

30.

HUA | —h A HEHS YOA o IS € |
HUA || —eTEaR HFHR Yullelt & 7 € |
Statement | —Keyboard is a component of computer system.

Statement Il —Hardware is an element of computer system.
Fo | —TrEl geaf B HF H Yo o B

He || —YoiiTa =i sht fearfa foreror ® foran St @
Statement | —Purchase of fixed asset is a capital expenditure.
Statement Il —Capital expenditure are shown in the balance sheet.

e : 7w §Em 31 @ 34 9% A Q wiam Ky T €1 4 Hiew ¥ firee s g e swW faE

1x4=4

Instructions : Q. No. 31-34 there are two columns. You have to match the correct options of
column—Ito column-II.

31.

32.

33.

34.

Hiad-1 (Column 1) w11 (Column II)
Y T THS HI (A) TE T8 @ _RI § wH
Purchase of Machinery for eath Decrease in Cash and decrease in creaditors
IUR-TIA HT (B) 313 W st H gfg
Purchase of Machinery on Credit Increase in Cash and increase in capital
T g R T gl (C) It wd =ifaa o gfs
Capital introduced by proprietor Increase in Machinery and increase in liability
EEUETI UG (D) WeTA ® gfg T TR H HHI
Payment to creditors Increase in Machinery and decrease in Cash.

e ;9§ 35 9 Tw S 5 T R 1 e 91y i w3 T R 3w @1 S @ ™

fowreu & @ ST & YR W | 3x2=6

Instructions : In Q. No. 35 there is a paragraph followed by three questions. You have to mark

35.

correct alternative from the option given in those quesitons.

G EEE & -3 % T W T ol bl WY @dl el Wil @ | 39 @ & i @ gy aed
S oTel /R 1 Udl =il € | W @l Ueh Seieres e Wed @l § e % il W HIH
AT w1 Sfae R S 2 | WYE Wed § Getd o % fau §9e @ # efee TR S § iR e
T I Hiee fmal S € | 495 AR | @ 7 Ted R Gga SAOR @ Sfae ud fagwar @ sfee
fopann e € |

| frefefea § SF-a1 safeTd o 9 gatia 8—

Among following which is concerned with person A/c :

(@) T @@ (Ram's A/c) (b) geaq s (Prepaid Insurance A/c)
(c) 3™ dd (Bad debits) (d) isﬁ (Capital A/c)
I. et @ 9 et 2—
Among following which is concerned :
(a) =™ (Machinery) (b) g&aq aa (Prepaid salary)
(c) =rfd (Goodwill) (d) =i (Stock)
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Wl Fretfafad § M remdfas e 9§ deitd 83—
Among Following which is concerned with Nominal :
(a) & (Discount) (b) 31&a 3@ (Outstanding salary)
(c) ®HFE (Commission) (d) o= == (Prepaid Rent)

SECTION-II

AT-aeqfs3s 9¥9 (NON-OBJIETIVE QUESTIONS)

L ST 9¥A (Short Answer questions) :
i : 7o WEm 1 @ 10 7% @Y SET U ¥ 39 Fife & yoE qeA & faw o o fraifa ¥
3x10=30
Instruction: Q. No. 1to 10 are short Answer Type Questions. Every question is of 3 marks each.
1. i @ 9 o e € ?
What do you understand by Accounting ?

2. On 1st January, 2005 S.K. Jain Cammenced business with a capital of Rs. 60,000 and his
pramjactions for the month are given below :

Rs.

2007 Jan1. Purchased goods for cash 5,000
Jan 2. Purchased furniture for cash 1000
Jan5.  Cash sales 2000

Jan 6. Sold goods to Manohar 5,000

Jan 10. Purchased goods from Suresh 8,000
Jan12. Returned goods to Samresh 10,000
Jan15. Goodsreturn by Monohar 2,000

Jan 20. Sold goods to Ram for Cash 1,000

Jan 25. Withdrew for personal use 500

3. S R 7 2 USHEA 1 UEY T | a8 F S S 2

What is Journal ? Give its proporma. Why is it prepared ?
4. Prepare Purchases Returns Book & sales returns book :

2008 Feb 2. Returned 3 Titan watches priced at Rs. 330 each to M/s Ganesh House, Ranchi due to
detect in main spring.

Feb 9. Returned to Time Star, Patna, 2 time pieces charged at Rs. 140 each due to defect in a
larms.

Feb 12. Goods returned by fashion house Rs. 200.
Feb 15. Kapildeo returned defective good Rs. 500
Feb 28. Goods returned by Dira Pal Rs. 150
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10.

IR foet R =maiiter foe o o= whife |
Distinguish between accomodation bill and Trade bill.

On 1st January, 2007 A draws a bill on B at for Rs. 500 and B accepted to the same. On 1st March
cames to A and requests for a new bill at 5 months and agrees to pay Rs. 10 as Interest. He draws
a fresh bill which B accepts and makes payment thereof on the due date. Pass Journal entries in
the Book of A & B.

Calculate the closing stock and the cost of good sold :

Rs.
Opening stock 5,000
Sales 16000
Carriage Inward 1,000
Sales return 1,000
Gross Profit 6,000
Purchases 1,0000
Purchased returns 9,000

Prepare Accounting Equation from the following :

Cash capital of business Rs. 200,000, furniture purchase for case Rs. 20,000, Machine purchased
for cash Rs. 60,000, Loan taken Rs. 40,000, Gods purchased on credit Rs. 80,000.

TEN AW YOIl TS THhedl o Julelt | 3T=R Sy |

Distinguish between Double Entry system and single entry system.
HTHA TRElleh JUTeH ohi STIERT Fag | |

Give in brief the concept of computarised Accounting system.

<l 3909 999 (Long Answer questions) :

T ;g §&AT 11 @ 15 TF & TAF O: 3F & o 5% 6 =30

Instruction : Q. No. 11-15 are of long answer type Question. Every question are of 6 marks each.

11.

frafafea & fau sHa #ifse—
() =Te9E™ & 100,000 % H @A |
(i) TH FHAG A FIA—
T 1500 % A 500 o
(i) =@ T # f=m 100 =
(iv) 9% T & €9 ¥ 71 f= 400 .
(v) g ¥ T fa1 500 % & fau 5% Hifaw & X 9 |
(vi) 15000 % ¥&F 1 A 10,000 & & w1 FHIA T4 |
(vii) ST @ SH &% SR ST A7 H TR 200 €. |
(viii) SITHT ot 7 g w1 g pTaE fRar 1000 .
(ix) #o« e ot ¥ 5,000 T HHd & A DI Gfd B BT ST W g3 |
(x) T wen 4 w1 AT qU fHa T SR 3E W 9 % 100 . g |
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12.

13.

Pass Journal entries :

(i)
(ii)

(iif)
(iv)
v)

(i)
(vii)

Purchased Business for Rs. 100,000.

An employee stole away :

Cash Rs. 1500 Goods Rs. 50

Goods given in charity Rs. 100.

Goods given away at free samples Rs. 400.
Gave away a charity in cash Rs. 500.
Goodi withdraw for personal the Rs. 1000.
Loss on insured goods due to fire Rs. 200.

(viii)The Insurance company met the laims in full 2000.
(ix) Received an order from M/S Kala Shree for the supply of goods worth Rs. 5,000.
(x) M/s Kala Shree's order was completed with and freight thereen Rs. 100.

frefafea el wt gar sifse—

(i)
(i)
(i)

(iv)
v)
(Vi)

200 %. 1 A1 W1 ¥ %d R | 91 1 Wi § WA fovan T foheg Txaopl o &g or@n &1 foha
T

&R 1 2,000 T. 1 IUN Hel o= Toheq SHRI hel i o 7@l fhan e € |

MR ¥ @i 7 3e st ga & few 500 % 1 A6l ehten W el | 91 HiE o T fRa
T

T ¥ 500 T. W g Afeh TH ol @l ST T & 7= ¢
200 %. St H9NF o1 TOHd H o, 3= HYF @ | AW w5
550 %. 1 HIel Sl WE 9 9 6 T 2, 39 UHel % @id § Sl e fe e g |

Pass necessary reetification entries for the following :

()

(if)
(i)
(iv)

v)
(Vi)

Purchased goods Rs. 200 from Sudesh, goods were received and included in the stock but no
entry was made in the books.

Sold goods wealth Rs. 2,000 to Akhtar on credit but, but no entry was made for it anywhere.

Proprietor withdrew goods of Rs. 500 for his personalure but such drawing was not recorded
in the books.

Rs. 500 has been received from Naresh but Ram. Account has been credited.
Rs. 200 for machine repairs has been debited to Machinery Account.

Gode werth Rs. 550 has been purchased from Mohan on credit but Ram lal Account has been
credited.

Or

SE= @Al 4§ ? € el Wi Wl § q S8 YA feRan S € ?

What is suspence Account ? When it if opened and how is it used ?

T FHEE 7 2,00,000 % H UH YA f@H 7R 10,000 T H1 T Stger off et ® 1 wg # 9R ad §
79 WA R HAN g TS % SR W 10% fded w1 W W B hE T © | Uiedl 9 siFTer SR 8l
T 3R 39 2,000 T W S0 A1 SR TE Tt 1 e g @ o wiee ot & S 2

T EU AFeR H1 B i A | @t WY W i GHEITS e 8 | hEt shi Q&ihi § 5 a6 % fag
T3fe @rar 9 Ey |
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14.

A joint stock company had bought machinery for Rs. 200,000 inducding therin a boiler worth Rs.
10,000. The machinery account was for the first four years credited for depreciation on the reducing
instalment system at the rate of 10% per annum. During fifth, i.e. current year the boiler became
useless on account of demage to some of its vital parts. The danaged boiler is sold for Rs. 2000
which amount in credited to Machinery Account. Prepare the Machinery Account for five year adjusting
therin the cases received for and the loss suffered on the damaged boiler and the depreciation of
the machine for the current year.

Or, B &M =1 TRl fhed 9gfd & 701 W& Wi &1 90 FHIfC |

Discuss the Merits and demerit of providing depreciation by straight Line Method.

| TS e & faied dode ¥ 31 dr€, 2005 i GHW gU ¥ shi AR q4 9-gif+ @l il &
& =1 emfdies forer s mRu |

faeror (Particulars) M (Dr.) AT (Cr.)
STt (Capital) 200,000
3MeLl (Drawings) 12000 —
Tl gwfa (Fixed Assets) 2,40,000 —
%4 W& fawa (Purchases and sales) 340,000 650000
=afieh a9l (Return Inward) 8,000 —
9@l amEt (Return outward) — 6000
g (Carriage) 15,600
wsigdl (Wages) 36,000
a9 (Salaries) 20,000
o (Rent) 18000
s (Insurance 1200
3ihe0 ®E (Audit fees) 500
3TER Ud @ eR (Debters & Crediters) 11,0000 60,500
g faa (BillsReceivable) 4800
3= fau (Bills Payable) — 3600
B TS famo= (Printing and Stationery) 1500
HHIHE (Commission) — 400
IRfae @ida (Opening stock) 45000
T &g (Cash in hand) 14,300
o ® Ushg (Cash at Bank) 63,000
s 37 (Bank loan) — 19000
kU W AN (Intevest on loan) 600
T (Gravel Total) 9,30,500 9,30,500

Adjustments :
() sif<m wida Rs. 51700 (Closing Stock)

(i) Toodt ©: &N &1 4% B/ W 12% o1t 5T 9 =416 a6t 2 | (Interest on Bank loan @ 12% p.a.
is unpaid for the last six months)
(iii) Swfsia &HEE (Accured commission Rs. 150)
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15.

(iv) ISt R == 8% (Interestion capital @ 8% p.a)

(v) 3T W s 600 %. (Into drawings Rs. 600)

(vi) TRt wmfaal R g™ 10% (Depreciation on Fixed Assets 10%)

Or, qurisH &1 wfaftedl @ o9 1 que € ? frel =R qamEisHet &1 9o Wee # |

What do you ean by adjustment entries ? Explain any four adjustents out than with examples.

9o ¥ 400,000 % ¥ SMUR IR 1st oct. 2005 =i fohal | 98 2794 3% 9 100,000 @ 1-% Ffawrd (S
feam) o feren qenm 75000 % sAfafte St eman | 31st March 2006 i 3%kt feorfd 39 FehR—

.
BEX 30,000
Th 470,000
IR 350,000
TR 3,00,000

394 8000 ¥. e SMIR ¥ bt &1s a1 JIf 1 UM HifST |
Mr. Shyam started business with a capital of Rs. 400,000 1st october 2005. He borrowed from

hisfriend a sum of Rs. 100,000 @ 10% per annum (Intevest paid) for business and brought a further
amount of Rs. 750,00 at capital. On 31st March 2006, his position was :

Rs.
Cash 30,000
Stock 47,0000
Debtors 3,50,000
Creditors 300,000

Or, THad yfafte yurelt == @ 2 =9 yomelt § oy 4 Fekren s @ ?

What is single entry system ? How is profit ascertained in this system ?
SECTION-I

- \a@—c\[_ﬁr@ gIa (OBJETIVE QW ~
1. (b) 2. (c) 3. (c) 4. (b) 5. (a)
6. (C) 7. (c) 8. (a) 9. (a) 10. (d)
11. (d) 12. (a) 13. (b) 14. (a) 15. (b)
16. (b) 17. (c) 18. (c) 19. (c) 20. (d)
21. (c) 22. () 23. (d) 24. (b) 25. ()
26. () 27. () 28. () 29. (b) 30. (b)
31. (d) 32. (c) 33. (b) 34. (a)
S 35.1.(a,b,c,d), Il.(a,c,d), Ill.(a&Db) y
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MODEL SET—-1V

SECTION-I

FE¥qfass 939 (OBJETIVE QUESTIONS)

e : W Ho 1 @ 25 9% @ WE ¥ 9K faswew Ry mu €, v @ = w2 | wet fawew ®t

Sw aifeent § fafgq w0 1 x 25 = 25

Instruction : Q. No. 1to 25 : In the following questions there are only one correct answer.

1.

You have to choose that correct answer.
qEIhIIe Td ol@ehd o1 W J&ieh hdl Yl g off ?

(a) 1494 (b) 1496 (c) 1498 (d) 1594
When the first book on Book-keeping and Accountancy was published ?

(a) 1494 (b) 1496 (c) 1498 (d) 1594
YHIE: 3 61 ol 56 999 5 <mar @ se—

(a) S gof grar © (b) /& o 1 RY WK Bl B
(c) & o ! Y& < St © (d) S =& 1 Hed W Bl ©
Revenue is generally recognised when :

(a) Production is completed (b) Order for goods is received
(c) goods are delivered (d) cash is recived

Teh AR 310 FET oielish v e o 7o @ 2

(a) NTq TR (b) fa<itar @ (c) R @R (d) JerERE TR

Which form of accounting is adopted by a business man ?
(a) Cost accounting (b) Financial accounting (c) Tax Accounting (d) Management accounting

G T T Bl e—

(8) Ioft = woaferd + o] (b) e = sl — e

(c) TSt = g wwafaal (d) wwafaar = <o — gt

Accounting Equation is satisfied by :

(a) Capital = Assets + Liabilities (b) Liabilities = Capital — Assets

(c) Capital = Net Assets (d) Assets = Liabilities — Capital

Yo | fohed @H B e—

(@) < (b) TR (c) 9= (d) &

How many columns are there in a Journal :

(a) Three (b) Four (c) Five (d) Two

e & GTaE % i e s % sifon 99 o ewraa fme S e—

(a) <foa o (b) T wiafa o (c) Ut wfafg (d) 379 & =g &l
Sinking fund for repayment of a Liability is finally transferred to :

(a) Liability (b) general Reserve (c) Capital Reserve (d) None of there
B OEiRT H1 WA e—

(a) iR (b) seam (c) faam (d) T 9 =18 &l
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10.

11.

12.

13.

14.

15.

16.

17.

18.

Depreciation Accounting is the process of :

(a) Valuation (b) Allocation (c) Distribution (d) None of there
o & e & fau fha o foed &9 & &9 o & 52—

(@) 2 (b) 3 (c) 4 (d)5

How many days are allowed as days of grace for payment of a bill ?

(@2 (b) 3 (c) 4 (d)5

ww fafa foet & fhe v @9 3—

(a) 2 (b) 3 (©5 (d)6

How many parties are there to a bill of exchange ?

(@) 2 (b) 3 (©)5 (d)6

AR & SAfd wiaan si—

(a) =R @ | wfee o s 2 (b) Toe & weafq s o fewrn st @

(c) = | A (d) am9-gf7 & 2fae W*

Adgustment closing stock is :

(a) credited to trading account (b) show on the Assets side of the Balance Sheet
(c) Both of these (d) Dr. side of P/L Alc

e = 4 R 2

() == (b) = (c) ™ (d) gwafa
Prepaid expansess is :

(a) an expensess (b) a liabili (c) an income (d) an Asset

While ascertaining profit or loss additional capital introduced during the year is substracted from :
(a) Capital at the end (b) Opening capital (c) Drawings during the year (d) Profit

T W T HER H ESAN IR T—

(a) Ty (b) € FEW (c) BT 99
Which of the following is hardware device of a Computer :

(a) Printer (b) Word Processor (c) Data Base
% e ¥ fopat foe @it 8—

(a) 10 (b) 2 (c) 6

How many bits constitute one by byte :

(@) 10 (b) 2 (c) 6

wf-aq Ated 1 IBM & 3. Th. &S 7 &d Gfadicd fham o ?

(a) 1950 (b) 1972 (c) 1960
When did E.F Codd of IBM Propound the concept of Relational Model :
(a) 1950 (b) 1972 (c) 1960
frfafead o o wiF weate g € ?

(a) Tfa (b) WA (c) w=R
Which of the following is fictitious Asset ?

(a) Goodwill (b) Building (c) Furniture
SeEIE gHH ¥ W g faw T A ® fae e g e—

(a) @t 1 @ (b) ISt @ (c) &I Tl

The goods taken by the proprietor from the business shop are debited to :

(a) Proprictors Account (b) Capital Account (c) Drawing Account
Uhg oEl T—

(@) T @l (b) T TEEF TE  (C) TA

Cash book is :

(a) an account (b) a subsidiary book  (c) both
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(d) |«
(d) All of these
(d)8

d)8
(d) 1901

(d) 1901

(d) IRfae ="

(d) Preliinary expenses
(d) = § =g &

(d) None of these

(d) = § =g &

(d) None of these



19.

20.

21.

22.

23.

24.

25.

qerue w1 fel adr e—
(@) S&I-@Idl ! e (b) IR W 3Tk T (¢) @l T&iehl 1 3o W@-W@E  (d) Th @l
9 H @Al B S 3 S @l AT HET R YR H Tl B—

(@) ga-I& *i (b) @ Hadt (c) Tosr =t (d) afaqesr =t
Debiting As account instead of B.S. account is an error of :

(a) Omission (b) Commission (c) Principle (d) Compensatory
S foer fereman € <9 wher s e—

(a) T@® (b) TrEER (c) TR (d) T =R

One who draws the bill is called :

(a) Drawer (b) Drawee (c) Payee (d) Creditor

o 9 e 'W H efee Y sifuesmar w ww S e—

() s o4 (b) s B (c) Ta v (d) @a 7
forT & TH—

(a) =1 Fwfaar (b) sTarat (c) aFmEdt gwfq (d) & Twfa
Investment is :

(a) Current Assets (b) Fixed Asset (c) Fictitious asset (d) Liquid asset
sifem @l 1 qoarwa fFan s 83—

(a) @A g R (b) 9NR Jed W (C) AN a1 SR g, 91 B Sl 67 & 39 W (d) T8 § i &l
Closing stock is valued at :

(a) Cost price (b) Market price (c) Cost or Market price whichever is lower (d) None of these
TAENE % o oFF W Heittd 7§ 9 SR Wi € SR wea & w9 o Ke@e 9 39 el S 8—

(a) SfSia 1 (b) e ™ CEEEE (d) 379 & =g &l
Adjustment expense subtrated from respeative expenses and shown as asset are called :

(a) Accured expensess (b) Prepaid expenses (c) Outstanding expenses (d) None of these

: 9. H. 26 | 30 7% FTIRRG 99 A TS U9 ® Q1 HuF @A @ ¥ 9 FYE B 9@ qen
fagea & @ wEt S W : 1x5=5
(@) T HUT TE B qU1 HH | HI AR HEF || § HI S Gehl €

(b) < e TE ® WG A | i AR e |l W e T S Fehdt @

(c) ®eF 1 Wt ®, g A || Tord ©

(d) FeH || T 2, W HHA | Ted §

Instructions : Q. No. 26-30 From the two statements are given. You have choose from the

26.

27.

following options :

(a) If Both Statements are true and Statement Il is the correct explation of Statement |

(b) If both the statement are true but statement Il is not the correct explanation of statement |
(c) |If statement | is true but statement Il is false

(d) If statement | is false but statement Il is true

HA | — TRl Tl W e o S ® |

F || — U = 51 o et = 98 & & W g0 A 9 FEAW ¢ |

Statement | : Depreciation is charged every year on fixed assets.

Statement Il : Revenue expenditure are those expenditure by which we get profit only for the current year.
FHoH | — STIUINSA 3T GO9S o ST_L & g3 @l dl 36 Hhaa fefq foewo & foe e # foen s |
YA | — U A Widtfece sfernTa @ gl € 1R g6et debit 31 gl € |

Statement | — If unearned income is given in trial balance then it is written only in balance sheet at
liabilities side.
Statement Il — Unearned income is representative personal A/c and has debit balance.
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28.  HUA | — IruE-Taua for wfiaeret & forgd S |
HUA || — T kite-bill & v 1 TEwEd i € |
Statement | — Accomodation bills are written without any considerations.
Statement Il — Ram helps Shyam with 'kite-bill".
29. A | — Tguela smyfgal dove &1 gwifad & ol € |
FA || — THueg SRIfgal qerqe w1 g it § |

statement | — Two sided errors does not affects Trial Balance.
Statement || — One sided errors affect Trial Balance.

30. e | — W& AR W ol wEm & fau @ d% o el S € a9 sueRt ufa gfafe @i e ©
HA || — =] Gl W S, S oF % &9 H Sgerdt € |
Statement | — When amount is withdrawn from bank for personal purpose then contra entry is

done in the books.
Statement || — Bank, charges on current account as bank charges.

e : uv e 31 ® 34 9% W ) wiew KE Y &) <A1 wiem | e w@ g 9Et sWfaE
1x4=4

Instructions : Q. No. 31-34 there are two columns. You have to match the correct options of
column—Ito column-II.

Hiad-1 (Column 1) w11 (Column I1)

31. wmid (Assets) (A) gwfd — S (Assets — Liability)

32. TYSii (Capital) (B) wwfd — gSit (Assets — Capital)

33. =ifaE (Liabilities) (C) st + =ifr= (Capital + Liability)

34.  Profit (d) Closing Capital — Opening Capital

e 9 9 35 9w Seu e e R | e Wy @9y Y W R T o & sw @ .
foawred & | IS0 F MUR W 3x2=6

Instructions : In Q. No. 35 there is a paragraph followed by three questions. You have to mark
correct alternative from the option given in those quesitons.

35. | @™ # ] feufd St sreEron Heifad 3—

(a) 9fasr o fafw=im &1 g™ (b) X HaEt JraEm™
(c) dfcra el wfea (d) stfaftem gsit e

I. 51 odish whi SFEURUT Gefvd €
(a) Wih *H oAl (b) 3T 1 HeATHhA
(C) Vel HTEfheT (d) =t =1 e
Money Measureent Concept is concerned with.
(a) Valuation of stock (b) Valuation of shares
(c) quality performance (d) valuation of goodwell

Il. B 1 SR el §
(a) atento (OEEENE
(c) =1afy =t gt (d) wwafd & qediend d e
Depreation is caused due to :
(a) Depletion (b) Obsocercence
(c) Effluxion of Time (d) Change in value of Assets
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SECTION-II

AT-aeqfIs3s 9¥9 (NON-OBJIETIVE QUESTIONS)

e ST 9¥A (Short Answer questions) :
e : ye W 1 @ 10 7% @Y ST YR 21 39 HifE B TS U & fag o % frwifa €

3x10=30

Instruction: Q. No. 1to 10 are short Answer Type Questions. Every question is of 3 marks each.

1.

10.

ot FeRIROT U T W ® ?

What is meant by full disclosure ?

frfafed FTae™l & SR W TReihd, THIH T Et—

(i) T9 1 25,000 T THE & T AR AR fHan

(i) ¥\ ¥ ‘gre 3uR’ =l 10,000 F.

(iii) 1 1800 % H g = (AN eI 1500 F.)

Show the Accounting Equation on the basis of following tranaction :
(a) Ram started business with Rs. 25000 cash

(b) Purchased Ilwde from shyam on credit Rs. 10,000

(c) Sold goode (costing Rs. 1500) for Rs. 1800 for cash

TATR T B I T2 § ?

What are the objects of preparing a Trial Balance ?

el Ten usfd v wed 9w ugfa § of warnd |

Difference between straight line method and Diminishing balance Method.
IR @Al s o 399 hl GHET |

Explain the objects of Preparing Trading Account ?

i ST = = 2

What is Deffered Revenue Expenditure ?
Calculate operating profit and Net Profit from the following data :
=1 Wl ¥ daeM a1 q91 IS H Fd R

%. (Rs))
s fosht (Net sales) 500,000
fasht =13 (Selling expenses 30,000
Thel &Y (Gross Profit) 150,000
fraw § 3™ (Income from)
RMET =T (Administration experses) 40,000
3T | B (Loss on Account of Fire) 5000

<" @I M &1 STEvIhal i FUH HIFT |

(Explain the necessity of preparing final say.)

TUESE W@ i AEvIRal i ugdl € ?

What is need of Adustment entries ?

s1qul el & i e %1 s |

(Write three defects of Incomplete Records.)
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<rsf s98= 999 (Long Answer questions) :
v : T W= 11 ® 15 T & TOF B: A% B T 5x6 =30

Instruction : Q. No. 11-15 are of long answer type Question. Every question are of 6 marks each.

11.  =f 4. fowe1, wfeer &t o gwel | fFefated a-3A1 &t gfafe sifve—

2005 %.
1 ISt § e S fRa 75,000
o 2 We % 3% 3fvea § @ e 20,000
= 3 FAR Hed | T A %A TR 30,000
o 4 TR Eied § 3R T % TR 40,000
¥ 8 FAR HIed &l A arq9 fohan 5,000
o= 9 TS AT ! hs A o= 60,000
4 10 TRt ded @l IUR T1el s 50,000
o 11 arer e 5,000
o 12 dF o g S fRa 1,000
T 20 % W wElcE ST 2 THS Feren 5,000
Enter the following transaction in the journal of Dr. S. Sinha Katihar :

2005 Rs.
March 1 Started business with capital of 75,000
March 2 Opened a bank account with state Bank of India 20,000
March 3 Purchase goods from kumar Steels For cash 30,000
March 5 Purchase goods from Prasad Steels on credit 40,000
March 8 Goods returned to kumar steels 5,000
March 9 Sold goods to Mahendra Lal for cash 60,000
Marh 10 Sold goods to Hazarika Tranders on credit 50,000
March 11 Paid Carriage 5,000
March 12 Cash deposited into Bank 1,000
March 20 Withdrew cash from Bank for office use 5,000

Or, USHM=N &1 & 2 USHHEN IR A o Feml ot aof & |
What is Journal ? Discuss the rules of Journalising.
12. frafafed owifeal & g & fou ofdn &1 gedel § Tevas IS Jiawe S
() T ¥ 3,000 T 1 Wl G, WA foma @l § o Y g T
(i) TH 1 1,000 To H1 AT =1, AR HF w@l H oiEn eI TR
(i) T ¥ 3,250 1 W @RI, wfhd fasa &t | 3,250 %o fower |
(iv) T3 1 7,000 T 1 Tw <7 faus femn @, oiferd s o wre fae w6 e fem e
(v) T® ¥ 1,000 % 1 TH 9 faot 9 g3 Afehd $9eh! o 39 faot w@l o o fean e @
Pass necessary journal entries in the books of Shashi to rectify the following errors :
(i) Goods purchase from Ram for Rs. 3,000 has been entered in the sales book.
(i) Goods sold to Ram for Rs. 1,000 has been entered in purchase book.
(i) Good purchase from Gupta from Rs. 3,250, entered in the sales book as Rs. 3,520.
(iv) A Bills payable of Rs. 7000 paid to Shyam, has been passed through the Bills payable Book.

(v) A Bills Receivable recived from Ram for Rs. 1,000 has been passed through the Bills payable
book.
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Or,

13.

Or,
14.

eIl & GUR @ o9 o1 gHe € 2 oryfedl i U Y Uik o Hiere 9l Y |

What do you understand by Rectification of Errors ? Briefly describe the procedure of rectifying
errors.

1 €, 2001 1 X 4 y =l 50,000 % & A IUN o= AR 36 T 6 AR 1 949 qEH 1 foe foran 1y
3 59 foet &1 whefa 2 < | 29 faf Wy 3 30 ot o1 e w@ o sramelar wehe 1 3K 30,000 %. %%,
3,000 % =19 & fou den o9 Tl & fow &9 98H &1 7 foae WieRr S &1 3| Wi | x A 36 e
1 TR R KT T | <7 fafr Wy A u foe 1 a2 @ | x iR y ot afeal § Jormen gfafe sty |
On 1st March, 2001, x sold goods to y on credit of Rs. 50,000 and drew upon him a bill at three
months for this amount, y accepted this bill, on the due date, y expressed his inability to meet this
bill and offered to pay Rs. 30,000 in cash, Rs. 3,000 for interest and accept a new bill for the
Balance amount for the month x agreed to this proposal, on maturity new bill was met by y pass
Journal Entries the book of X and Y.

fafma foae @ o9 oo wwer € 2 fafma fae & el o1 g &Y | 98 i o 9 fee yehr e @ 2
freafafea oof @ 31 figmR, 204 =1 90« gC a¢ & fou T wwe S S e e a-gii @ qen
I fafyr w1 anfefer feea aMmT |

For the following balances Prepare Trading and Profit and Loss Account of A & Co. for the yearing
ending 31st Dec, 2004 and also balance sheet as on that date :

faaor (Particulars) A (Dr.) AT (Cr.)
38Ul (Drawing) 1,000
%3 (Purchase) 18,000
fafasr IM]R (Sundry Debtors) 14,000
=R @9 (Trade expenses) 700
& (Insurance) 600
g1 | g (Cash in hand) 2,500
d% © Ushg (Cash at bank) 7,000
e (Machinery) 10,000
999 (Building) 16,000
fafT=m (Investment) 8,000
9 faus (Bills Receivable)
TSgdt (Wages( 5,000
e gams (Carriage) 1,000
ot 3R Y (Rent & Tax) 300
IRft9ek ik (Opening Stock) 7,000
®< (Discount) 200
Y F0T (Bad debts) 500
a9 (Salaries) 1,100
TSt (Capital) 30,000
A AT (Returns) 2,000 1,000
fawa (Sales) 2,000 1,000
39 fau= (Bills Payable) 32,000
fafas @=R (Sundry Creditors) 15,000
12% R % (Loan at 12%) 10,000
98,200 98,200
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FHESE (Adjustments)

() @ wiF (Closing Stock) : Rs. 8,000

(i) BE-TRIG 10% ¥ 5% (Depreciation-Machinery 10% Building 5%)

(i) ¥=”™ 3@ (Outstanding salaries) : Rs. 200

(iv) & 31fim e (Insurance paid in advance) Rs. 50

(v) O 1 3R, 2004 =i farn 7= o (Loan was taken on 1st October, 2004)

T FE 2 B A I S ¢ ? I8 SAfow ' ¥ fhe yehn fawmn S § 2

What is Depreciation ? Why is depreciation charged ? How is it shown in the final account ?
frfafea foeron & 38R fosa &t Tf 9@ *ifST | (Find out the credit Sales from the particulars on
below) :

Rs.

Balance of Debters (7RI =1 ¥¥) on 1st April, 2006 36,000
Balance of Debtors (37<Ri &1 3™) on 31st March, 2007 54,000
Cash received from Debtors (3TRRI ¥ 9 THg) 1,50,000
Cash returned to Debtors (38R ¥ g AT9H i) 2,000
Sales Returns (fasa amq&) 6,000
Discount allowed (&2 =) 1,500
B/R received from Debtors (35 & faar ura ferw) 1,0000
B/R dishonoured (9= faa1 stafdafted gw) 3,000
B/R discounted (9r= fael 91 Q) 5,000
Bad-debts (gad &0T) 8,000
Bad debts previously written of now recovered

(T8 sTRfafEd gad ®U, St 3@ 9 fhu) 1200

Or, amfier e qen feorfa faawor & =1 o @ 2
What is the difference between a Balance Sheet and a statement of Affairs ?

AN SWER

m\ﬁ'@ YA (OBIETIVE QiE_SF/I()EQ/ ~

1. (a) 2. (c) 3. (b) 4. (a) 5. (c)
6. (b) 7. (b) 8. (b) 9. (b) 10. (c)
11. (d) 12. (a) 13. (a) 14. (d) 15. (b)
16. (d) 17. (c) 18. (b) 19. (b) 20. (b)
21. () 22. (b) 23. (b) 24. (c) 25. (b)
26. (b) 27. (a) 28. (a) 29. (a) 30. (a)
31. (c) 32. (a) 33. (b) 34. (d)

35.1.(a,b&c), Il.(a,b&d), lll. (a &Db)
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OMR ANSWER SHEET OMR 3<IX Y3 OMR NO.
9&T 2009
Instructions : frdw
1. All entries should be confined to the area provided. 1. gt gfaftest fo3 & wam qe € Hifia @ |
2. In the OMR Answer Sheet the Question Nos. progress . .
from top to bottomn. 2. OMRSW 73 § W H&A HH: TR § = 1 3§ T 2
3. For marking answers, use BLACK/BLUE BALL POINT 3. SW &ad Hl/A ot e 91 gR fafgd &Y
PEN ONLY. . .
4. Mark your Roll No. Roll Code No. Name of Exam. Centre 4. s I@ fm Eﬁg >, @gﬂ %% F T OMRI™ ™ 3
in the boxes/space provided in the OMR Answer Sheet. e reft/eormdt e fere |
5. Fill in your Name, Signature, Subject, Date of Exam, in 5. OMR 3® w3 ¥ fufftd Tom W a9 7w, geaer, fova wdan
the space provided in the OMR Answer Sheet. 1 fe 7 R
6. Mark your Answer by darkening the CIRCLE completely, )
like this. 6. T IW & W H P Y § W W gL Fafed & |
Correct Method Wrong Methods T fafy e fafeat
7. [S)ﬁene?.t fold or make any stray marks in the OMR Answer 7. OMR = T 1 7 T a1 38 7 <iaf-aet Fog 7 @ |
8.  If you do not follow the instructions given above, it may be 8. TR && M fawn =1 urer 7 fopu < it fearfa o Sw w1
difficult to evaluate the Answer Sheet. Any resultant loss el T ST e | U W S b gfte | forelt of wer
on the above account i.e. not following the instructions S A S e e
completely shall be of the candidates only.
1. Name (in BLOCK letters) / 7™ (810 & 2R ®) 7. Roll Code/ I@ & 7. Roll Number/ I& H0
2. Date of Exam / wien =i faf © © © O © ©O© 0 O
N | ® O ® O ® O O O
e . |@ @ @ o @ @ @ ©
4. Name of the Exam Centre / W& %= %1 91 ®@ & 60 O ® 0 6 ©
| @ ® ® ® @ ® ® ®
5. Full Signature of Candidate / wdaneff =1 qui g&mar ® & 6 6 ® ® 66 6
| | ® ® ® ® ® ® ® ®
6. Invigilator's Signature / fie 1 g&ier @ @ @ @ @ © © ©
I | © @ ® ® ©@ 9 © ©
For answering darken the circles given below / 3T % feu = ifeha =R 1 wg &Y | 27 B © ©
L] ® © ® 14| ® © ® 28. |® © ®
21 ® ® © © 51® ® © © 2. |® ® © ©
.| ® © © 16| ® © © 30. @ © ©
4| ® © © 7. | ® © © 3. |® © ©
5| ® © © 18.| ® © © 2. |® © O
6.| ® © © 9. ® © © 3. |® © ®
Tl® ® © © 20.l® ® © © . |® ® © ©
8| ® © © 21 | ® © © 35.1. |@® © ®
9| ® © © 22.| ® © © I |® © ©
10.| ® © © 23. | ® © © o) © ©
1n| @ © © 24. | ® © © ol |® © ©
2. ® © © 5. | ® © O I |® © O
13.| ® © O 26.| ® © @ ey} © ©®




MODEL PAPER

PhEIT—XI1

T RIS &= (BUSINESS STUDIES)

g : 3 ue + 15 fume (srfafEm) | [ quis : 100
Time : 3 Hrs. + 15 Minute (Extra)] [Total Marks : 100

| f_3 (General Instructions) :

® i yva it € 1 (All Questions are compulsory)
® o SW % oy foRet @i w1 ket Tél e (There is No negative marking for any wrong answer.)
® TY-W3 T @Wuel ¥ © | (Questions are in two sections)

7

e UEa %
Y

| 3Tk (Total Marks) — 40
| I T &AT (Total No. of Questions) - 35

0 N i Nk

| 3k (Total Marks) — 60
Y AT T (Short Answer type) — 10 (948 3 3AH)
<ref I 997 (Long Answer type) - 05 (9® 6 3AH)
4. %o 96 SO qel | afidaier fosheu off KU e € | 31y 5% weA ° Sucisy foshedl § ® fRelt wh Wy Wi
FIWT |

(There are internal options is some of the long answer type questions. In such questions you have to answer
any one of the alternative.)

5. ForHed At UE h1 I ST & o | <
(Answer should be in your own language.)

6. e % SR ool Hied R W e 1 o WO (T HieEe, U SeAf) ST SR Hee et |
(No electronic gadgets like calculator, call phone, pager are allowed during exam.)

7. TR Il 1 IW R T 3T o AR Wie H IUYH fashey 1 At A Fel W W W W WA T |
(3T & fau afg 3w () & @ i O Fer = 9 W fafga =
(The answer of objective type question is to be given on supplied OMR sheet by completely darking the
appropriate answer option. For exmple if answer is (c) the you should fill it as shown by blue/black pen.

(@) (b) (@) (d)

aaa



MODEL SET—I

SECTION-I

FEqfass 939 (OBJECTIVE QUESTIONS)

Y : T Fo 1 @ 25 9% & we ¥ =R fadhew fRg 1 ¥, fo @ = @& ? | et faew @t

IW aifaswr o fafgg | 1 x 25 = 25

Instruction : Q. No. 1to 25 : In the following questions there are only one correct answer.
You have to choose that correct answer.

1. f=faRed 3 @ a9 te anfdfe fohar =gt 27

() TRGRAT BT IATEA (b) TRGAT H AR (c) URIaR aT; (d) FHTST HaT

Which of the following is not a economic activity?

(a) Production of goods (b) Trading in goods (c) Professional service (d) Social service
2. 39 ufohdr @1 UgA S AR & GRS T8 ¢ |

(a) SfT (b) drr (C) YSRo (d) @7

Identify the activity which is not an auxiliary to trade:

(a) Banking (b) Warehousing (c) Insurance (d) Mining
3. 9 GSd & UBHR Pl UgA [5EH WA Ud Udd grd B o—

(a) THal ¥aTficd (ORISR (c) wul (d) 57 & BIS &l

Identify the type of organization which ensures separation of ownership and management:

(a) Sole proprietorship (b) Partnership (c) Company (d) None of the above
4, 791 H 9 - W69 R iy (AR e a8l grar?

(a) Thel WA (b) ATIERY (c) duT (d) R AfAfa

Which of the following is not governed by a specific act ?

(a) Sole proprietorship (b) Partnership (c) Company (d) Cooperative Society
5.  foa feen & i &1 deart 981 fear sar?

(@) BU (b) FEHRT AfAfY (c) Udhd @i (d) ATIeR

Profit are not shared in case of :

(a) Company (b) Cooperative Society

(c) Sole Proprietorship (d) Partnership

[B.Std—2]



10.

11.

Agaa 8g wRaRe egawar &1 gRawr ST Wi 2 |

(a) @ (OREEED

(c) wi (d) vey HaTTD

The head of the joint Hindu Family business is known as:

(a) Proprietor (b) Manager

(c) Karta (d) Executive Director
= & | P31 IS &5 SUHH BT ST BT BT UTST &I 57

(a) faurfa suwm (b) TRBRY HUH

(c) defeas (d) THa wHE

Which of the following is not a form of organising public sector enterprises ?
(a) Department undertaking (b) Government company
(c) Statutory corporation (d) Sole proprietorship
o # & B0 TP AT SushA &1 faivar e g

(a) sH@ fHar M <uil § Hell BT 2

(b) T8 fAzaaiig T Y AIRIBTH BT BT TIT Bl 2 |
(C) SHPT MMHR §ST EIAT & AT $HBT e Rl w9507 grar ©

(d) I® B M R BRI BT B |

Which of the following is not a feature of a global enterprises ?
(a) Its operation ate spread out in several countries

(b) Its attempts to maximise profits world over.

(c) Itis of huge size and has control over large assets.

(d) It operates on a small scale.

oo b & Th—

(a) arforiie d& (b) TEFRY & (c) A d% (d) fems d&
Exim bank is a:

(&) Commercial bank (b) Cooperative bank
(c) Development bank (d) Specialised bank
SiiaT 191 &1 g2 |, 91 Ay 29 srawd M1 A1y |

(a) diferT oI T (b) g & |HA

(c) 31 U4 § Qi OEEREEK]

In case of life Insurance, insurable interest must exist at the of

(a) taking the policy (b) death

(c) (a) and (b) both (d) Neither (a) nor (b)
I SUAIAAT BT Gord fbae gRT b Sirar 87?

(a) aRaga (b) WSRO

(c) §aR (d) SWRIFd H A DIg T8I
Place utility is created by :

(a) Transportation (b) Ware housing

(c) Communication (d) None of the above
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12.

13.

14.

15.

16.

17.

18.

fer=forRad 4 9 PIF—d1 BU= I T8 2 |

(a) TTTT BT T A1 S22 SFIT 31raT srgfad Surt & o sifvia e @
(b) TG ERT SHG ARG <1 90 ST & beT § da Udel ©

(C) IR &7 31 Fed TNID | FIATT AT &

(d) TRIT & BIAETSTRY 3fd HRIATET &
Which of the following statements is not true?

(a) The sole aim of business is to earn profit by fair or foul means
(b) There is a strong case for the business to fulfill its social obligations.

(c) Ethics is good business

(d) Black marketing of goods is an unethical practice.

fore # 9 p—0 Iaai¥ie sRiaE Afde 87
(a) TG @1 ferrae
(c) HHeRAT BT AT

Which of the following business practice is ethical?

(a) Adulteration of goods

(b) ATBIUA Fie AHI A Ahetl aIY T2

(d) SUHTERN | oF—<7 B FHY SHFER]

(b) Sale of duplicate goods under popular brand hames

(c) Exploitation of workers

HU & I fhas gRT [fd< g 58—
(RIS RIRPEICE]

(c) ufdaRor

The objects of the company are specific by
(a) Articles of Association

(c) Prospectus

fhae RT AFIaT 3T BT Ha fHar Sm &—

(@) U & AT (b) BUAI & IdeTD
Qualification shares are subscribed by:

(a) Directors of the company

(c) Bankers of the company

AT STRITRAT BT R HET ST 27

(@) PUT B R (b) BUHI & ARER
What are the equity shareholders called ?

(a) Owners of the company

(c) Patrons of the company

Med vsg fhad forw yanT fhar Sirar 87
(a) qairdR 3fel (OEZIRE!

The term redeemable is used for .
(a) Preference share (b) Debentures

TSIIRUY. o) fhT o dod -

(a) Wra H (b) ZuaT. ¥
ADRSs can be issued in:
(a) Europe (b) USA

[B.Std—4]

(d) Honesty in dealing with the consumers.

(b) H=erm 9T uA
(d) HTHET BT SHTO—

(b) Memorandum of Association
(d) Certificate of incorporation

() FF B Fax (d) T B R

(b) Auditors of the company
(d) Employees of the company
(C) BIT B FARETH (d) PUN & U§EIH

(b) Partners of the company

(d) Managers of the company
() AT 37 COERCKEI
(c) Equity shares (d) Both (a) & (b)
(c) PreT | (d) 57 & =

(c) Canada (d) All the above



19. Y SEFT B Gl 39 & oY WReR g7 fhy U Surai # enfyer 28—

(a) RETHS U (b) ROV (C) FRRITTT SUTg (d) SIRIaT T
Measures taken by the Government to support small industries include
(a) Protective measures  (b) Incentive (c) Institutional measures (d) all the above
20. fy=faRad # | SF—1 gHd—fRd Geax ATaRal &1 Ueh YHR T8l 28—
(@) B arel (b) e =AY (c) et AR (d) qabS ATl el gD
Which of the following is not a type of a itinerant retailers?
(a) Hawkers (b) Street traders (c) Cheap jaks (d) Street stalls /shops
21. f=faRed § & 3 R oM 9t Gea) ararRar o o § T8 imar?
(a) 7R I (b) favrfa wer (C) XY dTel Td V&Sl ardd  (d) g WeR
Which of the following does not come under the category of fixed shop retailers?
(a) General stores (b) Departmental stores
(c) Hawkers and pedlars (d) Chain stores
22. facel <amoR & WosmE u%. Isg BT 7 B
(a) @7 (b) AT Y4 TSt (C) oI Ud (d) T, T T ATt
In foreign trade, in term c.i.f (CIF) stand for :
(a) Cost (b) Cost and Freight
(c) Cost and Insurance (d) Cost, Insurance, Freight
23.  Imud—fata N srear fager @R i & 99 B war g?
(a) BT TWRBR (b) T ARBR (c) TR 3Ah P (d) faeg &AMUR HTST
Who announces the exim policy or Foreign Trade policy ?
(a) Central Government (b) State Government
(c) Chamber of commerce (d) World Trade organisation

24. 9 UP HUAT B gER < H BT Y HU & WEANT A Yh Y SUHA Pl (AT BRell & df I
AL BT HET T &—
(a) BaTERTT (b) TSR (c) Hgad SUHH (d) 3rey W AT
When a company sets up a new entity in cooperation with another company in Foreign Country,
this arrangement is known as :

(a) Franchising (b) Licensing (c) Joint venture (d) Contract manufacturing
25. S R B A gaTgy o fava S wHg @1 Ua v 98 ¥
(@) M. dTamRS. (b) 31E.TATE. (c) MESIT. (d) THATE SN T.
Name the institution which is not a part of the world of not a part of the world Bank Group:
(a) IBRD (b) IMF (c) IDA (d) MIGA
e : 0. € 26 @ 30 o FreAifra el o Tow Y9 A 9 wed @ W ) @ we B 9@
qeon faey § | ¥ SW A : 1x5=5

Instructions : Q. No. 26-30 From the two statements are given. You have choose from the
following options :

(@) <l FUT WA T qU FHUA- | HI A HUA- || W H S Fehal B
If both the statements are true and statement- Il is the correct explanation of statement- |

(b) < U WA T AU HUA- | HI A HUA- || W T B S Wehddl B
If both the statements are true but statement- Il is the not correct explanation of statement- |
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(c) wHeF- | T € Afeh heA- || e =)
If statements- | is true but statement- 1l is false
(d) weF- || T § Wi Ther- | e 2
If statements- 1l is true but statement- | is false
26. Y- S U UHI Hee ® S WS Siod o Hafa ot defed Sifew 9 g 95 i 2
Statement- | Insurance provide security against risk of any kind.
FHoF-|| ST Tk T e @ e siarid Hefad €1 i Tk Ue W T Ue S gEARG fRaT S 7

Statement- Il Insurance is a contract under which responsibility of risk is transferred from one party
to another party.

27. HYE-| IRAT WERA AR & ITUR, I W 1aath oAfw WEER T & Wehdll
Statement- | According to Indian partnership Act, a minor cannot be a partner.
Her-|| Foft TR 1 Wenfd ¥ 39 ol W EERR S S "ol @1
Statement- || He can be made partner in the profits with the consent of all other partners.
28. HUF-| HEER AU % STER W 1 THERYH SO A Tl 2
Statement-| The registration of the firm is not necessary.
HeA-1| HH h1 TTLIA 7 I U S FD Sgfadeti &1 GEAl w9 Tehdl B
Statement-Il There can be same difficulties if not getting it registered.
29. HYF-| STET WHA T T W Bl
Statement-I Internet is a store- house of general knowledge.
HA-1| ST W AT A TH fhed 3@ ST Hehelt 21
Statement-1l We can see our favourite film on the internet.
30. Y- §Yh YUSKE | Wiel W % 9gel § AN ! Weh WIS Wi Bl 2
Statement-l A Trader gets a receipt in lieu of keeping his goods in the bonded warehouse.
HA-|| Sefh YUSKE W W T o YR W e ¥ FU W & Tehal B
Statement- || On the basis of the receipt from the bonded warehouse, bank loans can be obtained.

e : 7w §Em 31 @ 34 9% A ) wiem Ky 7Y ®) 4 Hiew § firee s g 9 sW faE
1x4=4

Instructions : Q. No. 31-34 there are two columns. You have to match the correct options of
column—Ito column-II.

Hiad-1 (Column 1) HiaH-11 (Column 1)
31. anfefe fohard (Economic activities) (@ < (Profit)
32. J9 (Business)  (b) Jiff¥adar (Uncertainty)
33. qadd SRgA (Business Risk) (c) W% uRdgsd (Road transport)
34. TR—ER HaTY (Door to Door service) (d) ¥re (Production)
frdwr : WO W& 35 % qeAl W TH @ oifew S 9l € waha © | fruifa v # e gt sw
%I fafga w11 g+t fawey @&t 87 W & dAF F1 e whm 3x2=6
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Instruction : Q. No. 35 has following question .there may be more than one correct answers.

35.

e

You have to mark all the correct options. Marks will be alloted if all options are correct.
| R & AEID &—

(a) uRaed (b) & (c) df (d) GeRT AR

Aids to trade are—

(a) Transportation (b) Insurance (c) Banking (d) Retailing
Il AR HelRkd gi—

(@) dre <=1 & FFiiar (b) HiRa® w=iiaT (c) foRaa w=itar (d) TSR 3R

Partnership deed is a:-

(a) Agreement of voting rights (b) Oral agreement
(c) Written agreement (d) Articles of partnership
. S B
(a) @ gRT AfT (b) MR SRR fRfTH 1932 gRT IRVRTS
(c) fafaa ¥ (d) Su=Tt AfSTH 1956 GRT RS S
Company is:-
(a) Created by law (b) Register under partnership act 1932
(c) Unlimited liability (d) Registered under companies act 1956
3L,

1. 9. 35 @ dF Frefafed g3 T @ oifye fawey et @ g ©1 omu asht @
faweat = fafga =2

Instructions : Q. No. 35In there may be more than one correct answer. You have to marks all the

correct answers.

PUFT U JAferd HRel ® RTAdT Golidror Bu=it A 1956 & idid 8IAT 8 | HU & VLI B
forg unde A fem, ande oidfras e vd ufaaver &) Jmavaddr Bl § | HU e dTend Yo &) SgaRer
FHT 379, GATADR 3 Td FE0T IS STRI BReb DR & | b (ol DUl 7 AR ol =g G 2, Sfafds
ATASTI~S U H 7 BIAT & | IPERAT &Y 1fdrpas W fAsht wu= 7 50 Bl § Safd Adoi=id du-l §
iferpan e A Bt 2

Company is a voluntary organization registered under company Act 1956. For registration of
company memorandum of association, Article of association & pros- pectus is required. Company

raises the fund by issue of equity share, preference share and debentures as long term finance.
The minimum number of shareholder in a private company is 2 and in public company 7. The

maximum number of shareholders in private company is 50 and in public company unlimited.

T ol Hu # =gaw sferenRal o A gkl g |

(a) 6 (b) 8 (c) 2 (d) 3
The minimum number of share holder in private company is:-

(a) 6 (b) 8 (c) 2 (d) 3
T Sl el # SierenRal o eifdiean dw@ 8l 7 |

(a) 10 (b) 20 (c) 40 (d) 50
The maximum number of share holder in private company is:-

(a) 10 (b) 20 (c) 40 (d) 50
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N, f=foRed & & & a1 Uokg Bu & RS & forv sasae =8 2 |
(a) urdg e A (b) ofaR AT (c) ATRIERY Helg (d) ufaazor
Which of the following document is not essential for registration of a company:-
(a) Memorandum of association (b) Articles of association
(c) Partnership deed (d) Prospectus

SECTION-II

AT-aeqfass 99 (NON-OBJECTIVE QUESTIONS)

e LT 9¥A (Short Answer questions) :
e : w9 W= 1 @ 10 7 @Y ST YN B 59 HifE B T&F U @ fog o 3w fruifa €
3x10=230

Instruction : Q. No. 1to 10 are short Answer Type Questions. Every question is of 3 marks
each.

1. Igar @ gRemeT ford |
Define business?
2. RN W Y R FHERT 27
What do you mean by partnership?
3. YT &F SUHH W 3T FT qHSA &7
What is joint sector enterprises?
4. Shae G gd AT G F @ sidr qan |
Make three distinction between Life Insurance & fire Insurance.
5. Sy g7 2?
What is e-commerce?

6. NUR & FHINIG ST H MY FaT T 27
What do you mean by Social Responsibility of Business.

7. UIGd® B GRHET |
Define promoter?
8. FaAIdS R & UGHMY BT 9ui N |

Explain the nature of Business Finance.
9. WGl 37 R E|

What is equity share?
10. THEIMEIALME. T 2?

What is SIDBI?
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<rsf s98= 999 (Long Answer questions) :

fu : T W= 11 ® 15 T & TOF B: A% B T 5x6 =30
Instruction : Q. No. 11-15 are of long answer type Question. Every question are of 6 marks
each.
Fraar & fafa= faergamel &1 aofq & |

11.

12.

13.

14.

15.

(—@ 9¥T (OBJETIVE QUW

Discuss the various features of the business?

Or, Fgad Yo Sl & MY a7 FHT & | 39D oM T qui o |

What do you mean by Joint stock company? What are its advantages.
TSGR Ud Udhel SATAR H T 3faR 87

Distinguish between partnership and sole trading business?
Or, Sa=dH T & A8 &I Joid PN |

Discuss the importance of life insurance?

Yadd & Hral BT auie N |

Explain the functions of promoters?

[HIT 3797 & O Ud Q9T Bl gl BN |

What are the merits and demerits of equity sare?

Or, fanrfig weR @1 &7 39 favvarsii &1 auig o |

What do you mean by departmental store, discuss it features?
g QEUNT & FHIRIT &7 qoi & |

Explain the problems of small scale business?

Or, 31Td AR &1 Hrd fafdy &1 9o o |

Discuss the procedure of import trade?
AN SWER
SECTION-I

1. (d) 2. (d) 3.(d) 4. (c) 5. ()
6. (a) 7. (a) 8. (¢) 9. (d) 10. (a)
11. (b) 12. (d) 13. (d) 14. (c) 15. (b)
16. (a) 17. (b) 18. (a) 19. (b) 20. (c¢)
21. (¢) 22. (b) 23. (¢) 24. (b) 25. (a)
26. (c) 27. (c) 28. () 29. () 30. (¢)
31. (d) 32.(a) 33. (b) 34. (c)

35.1.(a, b, c), Il. (b, c)lll. (a,d) Orl. (c), Il. (d), lll. (c)
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MODEL SET-—-11

SECTION-I

FEqfass 939 (OBJECTIVE QUESTIONS)

Y : Yo Fo 1 ¥ 25 0F @ W¥A W 9R fawew Ky wu ¥, e @ ww wE @ | we fawew w

Sw aifeent § fafgq w0 1 x 25 = 25

Instruction : Q. No. 1to 25 : In the following questions there are only one correct answer.

1.

You have to choose that correct answer.
"HINEY B 9ifd FgarT 9§ Heg BAN A NEdl B |7 I8 B fhay et 2 |

(@) & (b) ATeTeA (CEISSIEIR (d) DR

"Business like weather, is with us every day." who said this out of the following?

(a) Haney (b) Marshall (c) Batliboi (d) Wheeler

U YR P FT Hed & oTaH Igol mra g R fafa fasar smar g—

(a) JMATT TR (b) g =R (c) gAYt =R (d) SWRIFd § F 781
Out of the following name the trade in which goods are first imported and then exported.

(a) Import trade (b) Export trade (c) Extrepot trade (d) None of the above
RPN =T 987 BT

(a) dU (b) TPHTH! AR (c) fmH (d) fria e
There are no Government Control on:

(a) Company (b) Sole trade (c) Corporation (d) Departmental organisation
SIRGH dTel AR & oY 31 Iugard B—

(@) UPIDHI AR (b) ATEERY (c) 9y fdg uRarR  (d) duH

The best suitable organization for risky business is:

(a) Sole traders (b) Partnership (c) Joint Hindu Family (d) Company
THTH! ATYR H TR AT SITar 28—

(a) UPTd! ATART BT (b) ATSIER BT (C) oFGRI BT (d) SWRIGd § | T8
The whole of the profit in a sole trade goes to :-

(a) Sole trader (b) Partners (c) Creditors (d) None of these
I I AR ST A w9 9 AEIER] 91 § S 6gad w0 I $HET Ol o—

(a) AEIER (b) TE—rsi (c) BH (d) FE—<arH

All those persons who make partnership are jointly known:-

(a) Partners (b) co-partner (c) Firm (d) co- owner

fea—ufafes & &Rl § IR &1 axdey foa ¥ a9 31fde gar 27
(a) favri Susmw # (b) RPN HUT H (c) denfaes foere # (d) s ¥ foodt # =&
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10.

11.

12.

13.

14.

15.

16.

The interference of the Government in the day to day working is the highest in case of:-

(a) Departmental undertaking (b) Government company

(c) Statutory corporation (d) None of the above

U IRHN] DU I8 B 8 e Jidild ARBR HT FhdT Yol HH F HH 8Ial a—

(a) u=ms yfcrera (OREEICERIRNGI (c) =Tet ufcrerd (d) BN e

A government company is a company in which paid up capital held by the government is not less
than:

(a) 50 per cent (b) 51 percent (c) 40 percent (d) 26 percent
qifvisasd d§& & Pl 7 e 8-

(a) SN WHR BT (b) 9T UG HRAT (CGIEESIER (d) S8 & |1
The functions of a commercial bank include:

(a) Acceptance of deposits (b) Granting of loans  (c) Locker facility (d) All the above

HaT e SN B BT AR fhad a2

(a) Iz d& 3w gfean (b) e I 3ifw Sfear  (c) Rod 9@ offw Sfear (d) SwRIad A

The authority to issue currently notes rests with:-

(a) Central Bank of India  (b) State bank of India  (c) Reserve Bank of India (d) All the above
forr gem § 991 A Ra daa g1 & 9Hg gF1 ARy |

(a) Sira=t drr (b) FFEHT (c) |gsr 4 (d) SIRIaT T
Insurable interest must exist at the time of loss only in case of:-

(a) Life insurance (b) Fire insurance (c) Marine insurance  (d) All the above
TG SR ufehar g—

(a) gHEI—ufhar (b) SrEd—ufdar (c) foed—ufean (d) T & ®Ig &l
Social responsibility process is:-

(a) One way process (b) Two way process (c) Three way process (d) None of these
e BT FHIRNTG IJTRGIIE B

(a) STHTael & U (b) TRPHR & ufa (c) HHARAT & ufax (d) 0 & ufa

Social responsibility of entreprenur is:-
(a) Towards consumers  (b) Towards Government (c) Towards Employees (d) Towards all
TS 5 HFFl I UR™ AR Adhdl 8—

(a) et T |7y (b) FHTHAT BT FHIUI-UF YT 1 & Gard
(C) IR YR B BT YAT-UH U B89 & 91§ (d) SIRIad aT
A private company can commerce business. (a) At any time

(b) After obtaining the certificate of incorporation

(c) After obtaining the certificate of commencement (d) All of these

U HYad Yol arell Ardoti~Te Bl T 71 T8 81 Fehdl 5—

(@) for ufderor & (b) fa=m e=afvoig & (c) o= <A e & (d) fo=m SR 1 yerdl &

A joint storce co can’t be formed:-

(a) without prospectus (b) without articles

(c) without memorandum (d) without above all documents
AT JREMRAT DI ARIRUTIT—

(a) A1 < &7 IABR T8l BT ® (b) dre <71 BT AT IRIHR BT @
(c) drc <7 &I gt AfIHR Brar ® (d) dic BXTRT BT ARHR Brar
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17.

18.

19.

20.

21.

22.

23.

Equity share holders ordinarily have:-

(a) Nov voting right (b) Limited voting right

(c) Full voting right (d) Risult of transfer of vote

HU B AN Bl B—

(a) T (b) oT TaT (c) TSR (d) SR
Shareholder of a company are:-

(a) Owners (b) Creditor (c) Debtors (d) Managers
3fen & e R e fag g—

(a) JrTBTeA (b) FeTBTAA (c) e dTA (d) 3rfcRTeadTet™
Finance received on the issue of share is:-

(a) Short term (b) Medium term (c) Long term (d) Very short period
3PN & UHR BT E—

(@4 (b) 3 (c) 2 (d)6

The kinds of share are:-

(@4 (b) 3 (c) 2 (d)y6
frfaRad 7 9§ SF—0 g e o FER T8 2?

(a) e fomT (b) uf¥rfera wHaTRaAl &1 3Ta

(c) e wrgnfiras! (d) < AT

Which of the following is not a problem of small industries?

(a) Inadequate finance (b) Lack of trained personnel

(c) Old technology (d) Local demand \

ol ATYRY AT dafct B—

(a) AT SR BT (b) TR MRS BT

() SUHTEIRI BT STH & gRI (d) SIRIaT T

Whole salers sell goods:-

(a) Directly to consumers (b) To retailers

(c) To consumers through post (d) Above all

Tod & AR I¢d o (3 w=ar 8—

(a) oTH ATIRY (b) TR AU (c) femforet (d) uTED
Private fluctuations are controlled by:-

(a) Wholesaler (b) Retailer (c) Manufacturer (d) Customer

7 % 9§ DT A9 IuGad HAF o

(a) facel @mOR Ugfds TrEl & Af¥Han START H TSIl AT ©
(b) TG H ATUR AR HEIRT BT UIAEA <l &

(c) facel R At & SNid W Bl $=id Rl &

(d) STRIFT Y B 71T B

Which of the following is the most appropriate statement?

(a) Forigen trade facilitates maximum utilization of natural resources
(b) Forigen trade promotes international cooperation

(c) Forigen trade raises the standard of living of people.

(d) All the above status

[B.Std—12]



24, e # {50 Bul § U& IUTE AdT F Yol IaMT HEATd 5—

(a) BATSHT (b) 3raer W fAEor (c) TTSHRAT (d) HYgad SUhH
Out sourcing a product or some conponents from a company in a foreign country is known as:-
(a) Franchising (b) Contract manufacturing (c) Licensing (d) Joint venture

25. 9 SIS BT A T8¢ FORTH 3MTad & dd §RT TRST 31erdT 3meard fear oirar & & a8 fafas
ERT 99 W foRd U el &1 Y7 &R qIT—
(a) g 9 (b) faferg o= (c) JIETE uH (d) SRITT H & BIg &l
Name the document containing the guarantee or assurance by the importer’s bank to honour bills
drawn on it by the exporter.

(a) Letter of credit (b) Bill of exchange (c) Bill of Lading (d) None of the above
e : 0. € 26 @ 30 o FreAifra vl o Tow Y9 A 9 wed @ W ) @ we B 9@
qen faey # | ¥ SW A : 1x5=5

Instructions : Q. No. 26-30 From the two statements are given. You have choose from the
following options :
(@) TH %Y G € qA HYA- | H A FHE- || § H ST bl B
If both the statements are true and statement- Il is the correct explanation of statement- |
(b) < U WA T AU HUA- | HI A HYA- || W T B S Wehadl B
If both the statements are true but statement- Il is the not correct explanation of statement- |
(c) Y- | HA € bl heH- || 316 R
If statements- | is true but statement- Il is false
(d) ®eF- || T & AHH HUA- | A R
If statements- Il is true but statement- | is false

26. Y- T % WEAH § oS 1 HIA-Tord fRa S 2
Statements- |  The things are brought and sold through the medium of the internet.
- || $oE W HE HIE 1 TAN H A A1 S Fehall 2|
Statements- 1l Payment can be made on the internet using the credit card.
27. ®A-| ofieh AT IM4: ThS HF HT T
Statements- |  Wholesaler usually purchases on cash.
Her-|| ofieh ST W&: SUR T Ll 2|
Statements- Il Wholesaler usually purchases on credit.
28. &Il Hael % gREFI ¥ S g HA B S gRI AR Fel Sl B
Statements- |  Mail order business may be briefly described from the buyer’s point.
FHer-l| % AR 98 AR ? forad g oo @ Aot s S ?)
Statements- [I  Mail order business is the business which sells from catalogues.
29. e TRl AR SAEHIh qeeell ot 3ifad wet B
Statements- |  Retail trade is the last link among the business middlemen.
- | e SR o S Aol ik AR o TiCeRt SUHiret i Sigi-eligl 7§ S S 2
Statements- [I  Under Retail trade the goods are purchased from the wholesale trader and sold in

small quantities to the consumers.
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30. oA WTO 1 3299 ¢ fava =R yoreft &l o] T 2|
Statements-|1 The objective of WTO is to enforce new world trade regulations
system.
wHe-| TOR & O 1 Afeman fomr wd ST
Statements- Il  To maximum explore and make the best utilization of the resources
of the world.
e : 7w §Em 31 @ 34 9% A ) wiem XY 7Y ®) A Hiew ¥ free s g 9 sW e

1x4=4

Instructions : Q. No. 31-34 there are two columns. You have to match the correct options of
column-Ito column-II.

Hiad-1 (Column 1)
31. ®udl (Company)

32. gfagfd (Indemnity)

w11 (Column I1)
(a) @I faxT (Long term finance)
(b) Us SM =fdd (An artificial person)
33. 99 uH (Letter of credit) (c) a7 ud &l A (Fire & marine Insurance)
34. 39l &1 A (Issue of share) (d) 3T d& §RT IMeATAA (Assurance by import bank)

iy : T SN 35 B YeA ° U @ 3ifgw I e B wEa ¢ | fruif| v # w9t s
=+ fafga #3194t fawey Gt 8 W & 3wl &1 3mae whm 3x2=6

Instruction : Q. No. 35 has the following question there are more than one correct answers.
You have to mark all the correct options. Marks will be alloted if all options are correct.

B B oA B
(a) WR&N e (b) 3T BT EXATIROT
Advantage of company are:-

35. 1
(c) ¥ifd <RI (d) IR R

(a). Government regulation (b) Transferability (c) Limited liability (d)Perpetual existence

Il. FEar) aify 2—
(a) srfers w9 (b) AEHRI FHIRT GIRT USiidhd
(c) aT STy (d) wfere e

Cooperative society is :-

;(&) Non-voluntary association
(c) Service motive

IS dh—

(a) WG &7 AT HRaT &

(c) g BT A= HRaT &
Commercial bank:-

(a) Creates credit

(c) Controls credit

(b) Registered under cooperative society Act
(d) Voluntary association

(b) STHT TR HRAT ©
(OEEEIRIEEA R

(b) Accepts deposits
(d) Provides loan for long term
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o

1o,
Y. | 35 ® dF freafafed g § = @ oifuw fage 9@ 8 wea ¥ ey usht weE
faweat = fafga =2

Instructions : Q. No. 35In there may be more than one correct answer. You have to marks all the

correct answers.

PHIAT Uh e AveIT & STt Uoiid)or Susl MfSf=aq 1956 & I BT 8 | BUT b ORSIE B

forg anfe A fem, arde Sfdfm den vd ufaaRer o) srawEadr gl § | HU Srfdrel Yo @ erawer

AT 3T, QATTS®R 33 Td FR01 U SR dReb Bl © | U (710l Huel H TRl 7 R[ATH HRAT 2, STafch
A HUAT H 7 B B | fernRat a1 Afdrdman e foh due # 50 Bl § Siafds ardaife wu #
arframa e rfifid Bt 2 |

Company is a voluntary organization registered under company Act 1956. For registration of

company memorandum of association article of association & pros pacts is required. Company
raises the fund by issue of equity share, preference share and debentures as long term finance. The
minimum number of shareholder in a private company is 2 and in public company 7. The maximum
number of shareholder in private company is 50 and in public company unlimited.

HUHT DT YO0 fohaT SITdT 2 |

(@) HUAl ARFTIH 1956 B (b) AR 3rfaf e 1932 & 3faia

(c) AEHRT FHIfT Srfaf = 1912 & 3favia (d) SwRrad

A company is registered under:-

(a) Companies Act, 1956 (b) Partnership Act, 1932

(c) Cooperative society Act, 1912 (d) Allthe above

FHUT STl Yol @ Fawer HRdl ¢ |

(a) §& (b) TFER (c) o1 9= (C)RSIESIREASEI
Company obtains long term capital by:-

(a) Bank (b) Creditors (c) Debenture (d) Public deposits
T ATdSIG BU SRMRAT B =HaH HeEar gl B |

@ 9 (b) 7 (c) 50 (d) 2

In a public company the minimum number of share holder is:-

@ 9 (b) 7 (c) 50 (d) 2

SECTION-II

H-aeqfiss 939 (NON-OBJECTIVE QUESTIONS)

Y ST I¥A (Short Answer Questions) :

e : T WE 1 ¥ 10 T Y ST U ¢ W S B 7w 1 B fau &9 e fuifa @
3x10=30
Instruction : Q. No. 1to 10 are short Answer Type Questions. Every question is of 3 marks
each.
1. Igar # oM @ a gAaT 77
What is the role of profit in business?
2.  Udhd WA & O o ford |

State three advantages of sole proprietorship.
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3. dufv® o @ R
What is statutory corporation.
4.,  HSRU FTE?
What is ware housing?
5. Sfdc &€ & oy w®r |ws 87
What do you mean by Debit Card.
6. ARG AR W 3T FIT THN ¢ |
What do you mean by Business ethics.
7. ufqeRor FaT 87
What is prospectus?
8. NI oY 3Mar fTH | 319 w1 e E |
What do you mean by NSIC.
9. SNdR® AR HT uRWIAT &N |
Define internal trade?

10. faurig ver fod wed 87

What is departmental store?

<ref 3989 999 (Long Answer Questions) :

fu : T W= 11 R 15 T & TOF B: A% B T 5x6 =30
Instruction : Q. No. 11-15 are of long answer type Question. Every question are of 6 marks
each.

11. I H d @ qHST qaersy |
Explain the role of profit in business?
Or,
SO & BI—dF | A 87
What are the benefits of e-business?
12. o0 &3 ud AdWie &5 | a7 SR 57 aui N |
Distinguish between public and private enterprise?
Or,
uriE AT a9 U uTE iR R #H iR 9aasy |

Distinguish between memorandum association and Articles of association.

13. vl HHaRal vd el & Ui adarg & AEiTG STl & 9ofe o |
Explain the social responsibility of business towards investors, employees and customers?
Or,
37eT U I H IR W N |

Distinguish between share and adventure
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14,  HEEHR AN & HTAl BT qofd o |
Discuss the functions of retailer?
Or,
ol TINI Ud Hhedhr AR H 3R dly |
Distinguish between hole saller and retailer?
15.  9gAED g T 87 3HD Al Dl ford |
What is multiple stores? What are its advantages.
Or,
FAAT A FT YafABR 39T # R gdagy |
Distinguish between equity share and preference share?
AN SWER
- E'th,f\:l'%' A (OBIECTIVE QUESTIONS)
‘\ //
1. (d) 2. (c) 3. (b) 4. (d) 5. (a)
6. (a) 7. (b) 8. (b) 9. (d) 10. (c)
11. (b) 12. (d) 13. (d) 14. (c) 15. (d)
16. (c) 17. (a) 18. (c) 19. (c) 20. (d)
21. (b) 22. (c) 23.(d) 24. (b) 25. (a)
26. (c) 27. (c) 28. (c) 29. (c) 30. (c)
31. (b) 32. (c) 33.(d)
35.1.(a,b,c,d),ll.(a, b, c) lll. (a, b, ) Or, 1 (a), Il (@) . (b)
.
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MODEL SET—-I11I1

SECTION-I

FEqfass 939 (OBJECTIVE QUESTIONS)

Y : %o Ho 1 @ 25 9% & WE ¥ 9K faswew Ry mu €, v @ = w2 | wet fawew ®t

Sw aifeent § fafgq w0 1 x 25 = 25

Instruction : Q. No. 1to 25 : In the following questions there are only one correct answer.

1.

You have to choose that correct answer.
€ &M, S o e & e #d ® SR weel o wiRefher wrd e € S S 21

(a) =TaE@™ (b) IR (c) =T (d) =g T
The Occupation in which people work for others and get remunerated in return is known as
(a) Business (b) Employment (c) Profession (d) None of these
= 9 9 91 'SHR 3T’ w1 9o | 81 oA

() T (b) & (c) Wt et (d) e
Which is the following cannot be classified as Genetic Industry?

(&) Animal Husbandry (b) Mining (c) Poultry farming (d) Plantation
= & Q@ SE-w A e w1 S 2

(@) W= (b) g (c) el H et (d) femam
Which of the following is the example of business uncertainties?

(a) Earthquake (b) Drought (c) change in prices (d) Snowfall
R-SfeRT TER wH ¥ WERR # sifuwan e fea i 22

(&) 10 (b) 20 (c)50 (d)7

Which is the maximum number of partners in a non-banking partnership firm?

(@ 10 (b) 20 (c)50 (d)7

ot woft § Te@ it eiferhan TE Bl -

@ 7 (b) 10 (c)20 (d) 50

The maximum number of member in a private company is

@ 7 (b) 10 (c)20 (d) 50

Teh SAEEE i IRY T GH HE-H qed A Wl wET?

(a) =Ho9E H 9T (b) =TEEE Y YHE (C) HH™ T T (d) SR geft

Which of the following is the factor to be considered while starting a business?
(a) Selection of business  (b) Scale of business(c) Place of business (d) All of the above

= 4 9 S9-9 =edes ga T8 87

(@) sfepT (b) S (ORILEI (d) 391 A
Which of the following is not a business service?
(a) Banking (b) Production (c) Transport (d) Communication
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10.

11.

12.

13.

14.

15.

16.

WERE W F TN e & fau e S 2
(a) @ s (b) =R < OEEE L (d) TR

The word ‘Assurance’ is used for

(a) Fire Insurance (b) Theft Insurance (c) Life Insurance (d) Marine Insurance
e 4 9 Sotie & fou stavass U RiA-91 77

(@) g foen (b) TH®M HH (c) wem (d) ST At
Which of the following devices is needed for Internet?

(a) Computer System (b) Telephone Connection (c) Modem (d) None of the above
B2B Commerce &1 3¢ 2-

(a) TH ®H HT 3 IR  Hely (b) T ®H H U UEhi o Hele

(c) U WH &t 3N wfemamd (d) ST & ¥ HE Tl

B2B Commerce Means :-

(a) firm’s interactions with order business. (b) Firm’s interactions with its Customers.
(c) Firm’s internal processes (d) None of the above

Toh ST Ul i TG i & foIu Tee ot =0 Sed fhal e 21

(@ 5 (b) 7 (c) 12 (d) 21

Minimum number of members to form a public company is

(@ 5 (b) 7 (c) 12 (d) 21

T st @ sdE § @ gl 8l

(a) TableA (b) Table B (c) Table C (d) Table D

In the absence of Articles of association applies :

(a) TableA (b) TableB (c) Table C (d) Table D

Ggfera &g fomr o fm o 9 *iF eEw 22

(a) S-wiE =@ (b) oY IO (c) HufTar (d) ST | ¥ HE T

Which of the following is helpful in balanced regional development?
(a) Large scale business  (b) Small business (¢) Companies (d) None of the above

‘SR —> e SATIRT — et SR — SN I IR &)

(@) |eH AR (b) @ SR (C) FI&T SR (d) I SAMUR
‘Producer — Wholesaler — Retailer — Consumer’ is the example of

(a) Retail trade (b) Wholesale trade (c) Direct trade (d) Indirect trade
Torferd Tl w9 ot 9 o et o 9§ forg o & fow femen Stran @2

(a) fame (b) =i fe= (c) ST T (d) T &R
Automatic Vending machine if generally used to sell

(a) Cigarette (b) Cold Drinks (c) Both of the above (d) Acar

K3 R o) L

(a) =™ + U9 (b) =TEE™ + TSR (c) U= + TSR (d) ™ + I + USTR
Economic Activities ..................

(a) Business + Profession (b) Business + Employment

(c) Profession + Employment (d) business + Profession + Employment.
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17.

18.

19.

20.

21.

22.

23.

24.

25.

TR SHEH oo, & RO ST &1 Bl

(a) T Aifa ° 9ieda  (b) o<1 yay (OEBERECE: Rl (d) UeR ®&
Business risk is not likely to arise due to

(a) Changes in government policy (b) Good Management

(c) Employee dishonestly (d) Power failure

AfehT TEHE § WEER HI AR GE&AT ... Tiiehd B

(@) 20 (b) 10 (c) =g i &l (d) 2

The maximum number of partners allowed in the banking business are

(@ 20 (b) 10 (c) No limit (d) 2

F F Y A F A SR, TEF A B o T F|

(@) < (b) <mw (c) == (d) &=

The capital of the company is divided into number o parts each one of which are called

(a) Divided (b) Profit (c) Interest (d) Share

TEALE HOA § w0 v e g i e @ Rl

(a) = (b) FE™F HIA (c) & wEeE (d) "8
Centralised Control in MNC’s implies Control exercised by

(a) Branches (b) Subsidiaries (c) Head quarters (d) Parliament

3~ oo ® PAH G&: ..., T B R

(a) GO W TR (b) == (c)Hfee g Sfae w€  (d) -%w

The payment mechanism typical to e-business

(@) Cash on Delivery  (b) Cheques (c) Credit and Debit Cards (d) e-Cash
.............. T W el T & T Tl 2

(@) HT (b) e AR (c) ¥ieh =R (d) SR qsft
ceeeeneeeen.... Kept only samples in the shop

(a) Company (b) Retailer (c) Wholesaler (d) All of the above
‘G T B BTG T i 1 ST B

(a) T IAR THE (b) THA T FHA (c) I TR (d) ST | ¥ HE T
‘Only Selling children garments’ is the example of

(a) Single product shop (b) Single line shop (c) General store (d) None of the above
I 1 o ™ S ol Yord g

(a) TR =R (b) M =R (c) SR T (d) ST | F i &
Bill of lading is a document used in ..............

(@) International Trade (b) Inland Trade (c) Both of above (d) None of above
12 11 A e Yk fasha s B

(a) B (b) =<t (c) SR A (d) SR & ° I Tl
Wholesaler makes every salesin ........... quantity.

(@) Small (b) large (c) Both of above (d) None of these
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e : 0. 9. 26 @ 30 o FrAifra vl o To® Y9 A Q1 weA A T 1 A e B we
qeon fomes # @ ¥ SW A 1x5=5

Instructions : Q. No. 26-30 From the two statements are given. You have choose from the
following options :
(@) TF U T € AU HUA- | HT @ FE- || W H ST Fehell B
If both the statements are true and statement- Il is the correct explanation of statement- |
(b) T HUF WA € AU HUA- | I A HeHA- | W TEl w1 S Gehal |
If both the statements are true but statement- Il is the not correct explanation of statement- |
(c) WA~ | HA € bl heH- || 316 R
If statements- | is true but statement- Il is false
(d) weF- || T & AHH HUE- | A R
If statements- Il is true but statement- | is false
26. -1 S T T e § S 6HE Ssfted o Hafa w0 geifaa sifem @ g ueE i 2
Statement- | Insurance provide security against risk of any kind.
FHoF-|| ST Tk T e @ e sierid Hefad €1 ki Tk 9e W T U i gEARG {1 S 7
Statement- Il Insurance is a contract under which responsibility of risk is transferred from one party
to another party.
27. ®UA-| R FEEH ifufem & STER, HE i SR sAfad WERR el & gl
Statement- | According to Indian partnership Act, a minor cannot be a partner.
-1 Feft TR i FWenfd ¥ 39 ol W EERR S S Hehal @)
Statement- || He can be made partner in the profits with the consent of all other partners.
28. HUF-| HEEW AU % STER W 1 TR SO A T R
Statement-l The registration of the firm is not necessary.
FHeA-1| HH h1 TTLIA 7w U S FD Sgfadet &1 GEAl w9 Tehdl B
Statement-Il There can be same difficulties if not getting it registered.
29. HYF-| ST WHA T T W Bl
Statement-| Internet is a store- house of general knowledge.
FOF-|| T W AT T TS fhew @ S Tkl 7
Statement-ll We can see our favourite film on the internet.
30. HYF-| §Yeh YUSKE W Wiel W & 9gel § AN ol Weh WIS Wi Bl 2
Statement-l A Trader gets a receipt in lieu of keeping his goods in the bonded warehouse.
FHUA-|| SUh YUSTE W W TR & MUR W ok ¥ 01 W & Feohall 2
Statement- 1l On the basis of the receipt from the bonded warehouse, bank loans can be obtained.

e : 7w §Em 31 @ 34 9% A ) wiem Ky 7Y #) 4 Hlew ¥ free s g e sW e

Instructions : Q. No. 31-34 there are two columns. You have to match the correct

options of column—I to column-II. 1x4=4
&iad-1 (Column 1) Hiad-11 (Column 11)
31. &9 TR (Company act) (@ 7
32. WERR TER (Partnership Act) (b) 50
33. HEST® HIA H FAGH TS G&A (c) 1956
Minimum No. of members in a public Ltd. Co.
34, frsit et # eifersran 9sw den (d) 1932

Maximum number of members in a private Company
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e 9. 9 35 ® Al frefafed 7w ® T @ afus fawey @Et © ¥@a ?) oy wet W
faweut =t fafga 3x2=6

Instructions : Q. No. 35In there may be more than one correct answer. You have to marks all the
correct answers.

35. | T oEEd wF § sifyedy fhay 9ERER 8 99d o

@ s (i) 20 (iii) 10 (iv) 50

(@) i&ii (b) ii &iii (c) ii, il & iv (d) i, ii, il & iv

Maximum number of partners in a firm.

@i 5 (i) 20 (i) 10 (iv) 50

(@) i&ii (b) ii &iii (c) ii, il & iv (d) i, ii, il & iv
I foreht wot & =Fae fohed wee B whd @

M 2 (i) 5 (i) 7 (iv) 50

(@) i&iii (b) ii &iii (c) ii, il & iv (d) i, ii, iii & iv

Minimum Number of members in a company.

M 2 (i) 5 (i) 7 (iv) 50

(@) i&iii (b) ii &iii (c) ii, il & iv (d) i, ii, iii & iv
Il foreht wot & srfiepan fhda Tee 8 Hd ©

@i 10 (i) 20 (i) unlimited (iv) 50

(@) i&ii (b) ii &iii (c) iii &iv (d) i, ii, il & iv

Maximum Number of members in a company.

@i 10 (i) 20 (i) unlimited (iv) 50

(@) i&ii (b) ii &iii (c) iii &iv (d) i, ii, il & iv

3L,

e 9§ 35 9 e S 5 M R | e 91y i wed 3 T ?) 3w @1 s fd ™
fowren o @ IS & YR W 7|

Instructions : In Q. No. 35there is a paragraph followed by three questions. You have to mark
correct alternative from the option given in those quesitons.

S =Herdr it Teh g e 1 e o 39 foeivd & qrg S w1 sRor et fhane w ufas
H AR =eld @1 @ iR afesa eifafeed g @1 siffyedar shifem st e el 2

Risk is the chief characteristic of business. The presence of this feature in business in because
of the continuous business activities in future and the future is indefinite or uncertain. Uncertainty is
the mother of risk. No body can say it with any amount of certainty as to what is going to happen
tomorrow. The possibility of loss in business is called business risk.

RS 2 N 1 IR 2|
(a) fifeema (b) =Affereaa (c) ST (d) SR o ¥ g T&f
Risk istheresultof ....................
(a) Certainties (b) Uncertainties (c) Both of above (d) None of above
Il EEfas S e % HROT I TN 2l
(@) TR ifa § uRada (b) =1=1 W&y (c) FHIR IZAE (d) R ®&
Business risk is not likely to arise due to ....................
(a) Changes in government policy (b) Good management
(c) Employee dishonestly (d) Power failure
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N, ‘el ) 9fur’ fRe @E o et Sifed 2

(a) wHa (OREIEARED (c) emfefm (d) SRt ifaan
‘Dishonesty of Employees’ is the ............... type of cause of business risk.
(@) Human (b) Natural (c) Economic (d) Govt. Policies

SECTION-II

A-aEqfis8 939 (NON-OBJECTIVE QUESTIONS)

Y ISTUT A (Short Answer Questions) :
e : T WEw 1 ¥ 10 T Y I U T W S B 7w 1 B fag &9 o fuifa @

3x10=30

Instruction: Q.No. 1to 10are short Answer Type Questions. Every question is of 3 marks each.

1.

10.

afifefer fomem =1 s aref @2

What is the meaning of Economic Activity?
U 1 FUH HIfT?

Explain Commerce.

THd AR & HiE IR AL Fareu|

Write any four features of sole Trade.

RN & HE TR AT Ty

Explain any four feature of partnership.

FI IR EER H SR T HifSu

Differentiate between Company and partnership.
NABARD % tH %M aam|

Write three function of NABARD.

i g =R faivard s

Give any four features of Insurance.

g sfafiem o s sty 22

What is meant by Articles of Association?

IRd H faarfa Je’i W e fafe=?

Write a note on the Departmental Stores in India.
frafa IR @ SR A A 22

What do you mean by Export Trade?

e ISTUT A (Short Answer Questions) :
e : w9 W& 1 @ 10 7 @Y ST YR B 59 HifE B T&F U @ fog o 3w fruifa €

3x10=30

Instruction: Q. No. 1to 10are short Answer Type Questions. Every question is of 3 marks each.

11.

TR i aRefd i seent g favivand fafem)

Define partnership. State its important features.
Or, TEA i HHIST i A& Hifsu)

Discuss the merits of partnership.
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12. UH HIGR i URH I G99 FF W TSH 1 SAF T GMEU FRSAT HIfAT)
What are the factors to be considered while starting a business? Discuss
Or, TS & IUYa e & =39 H T HHh! i ARA SHifeu|
Discuss the factors that help in choosing a suitable form of organisation.
13. S FOHE & Hew W YR S|
Highlights the importance business.
Or, 3T =aE™ ¥ S9hl 1 AT 22 3 HA-91 Fesf &1 Yo w1 9l 2
What do you men by International Business? What complexities are to be faced by it?
14. G Yot aTell U & THMEH & To § AN WM Al Ui w1 Seoia hife)
Outline the procedure of incorporation of a Joint Stock Company.
Or, el | &1 q9e €2 SEH foha-feha ol o1 Seor@ el 82
What do you understand by prospectus? What does it contains?
15. T 9Rd H B AR H1 HHT HT G0 FHifSQ
Describe the role of small business in rural India.
Or, &Y W™ &M g |HAT St ST alelt TGRSR &1 JuH hifs)
Discuss the problems faced by Small Scale Industries.

ANSWER

SECTION-I
(—@93—4 (OBJECTIVE QW

1. (b) 2. (b) 3. (c) 4. (b) 5. (d)

6. (d) 7. (b) 8. (c) 9. (d) 10. (a)
11. (b) 12. (a) 13. (b) 14. (c) 15. (c)
16. (d) 17. (b) 18. (b) 19. (d) 20. (c)
21. (c) 22. (c) 23. (1) 24. (a) 25. (b)
26. (c) 27. (c) 28. (c) 29. (c) 30. (c)
31. (c) 32. (d) 33.(a) 34. (b)
35.1.(b), Il. (@), ll. (c) Or, L. (b), II. (b), Ill. (a)

N\
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MODEL SET—-1V

SECTION-I

FEqfass 939 (OBJECTIVE QUESTIONS)

Y : W Fo 1 @ 25 9F @ WEA W 9R fawew Ky wu ¥, e @ ww W@ @ | we fawew #
SW aifeent ° fafgq w0 1 x 25 = 25

Instruction : Q. No. 1to 25 : In the following questions there are only one correct answer.
You have to choose that correct answer.

1. % %W foud 4ot 1 sravasma & g, S S 2l

(@) IR (b) =aE™ (c) ST I (d) dem

The Occupation in which there is no need of Capital is known is

(@) Employment (b) Business (c) Both of above (d) Profession
2. aifved o witAfera fohan St :-

(a) =™ 9 &M (b) U™ 9 AR

(c) =UR & YR & e fwmand (d) SR § | HIE T

Commerce includes

(a) Business and Industry (b) Business and Trade (c) Trade and Aids to trade(d) None of above
3. T d 9 #F-d T SR w0 e?

(a) owifma Tifae (b) ISt & Hifaa =eM () SrEgferd yeY (d) Swea Tt

Which of the following is the limitation of ‘Sole Trade’

(@) Unlimited liability (b) Limited Source of Capital (¢) Unbalanced Management (d) All of above
4,  dfT HeEE W URER #1 ifehad gen faat withd 2

(@) 20 (b) 10 (c) g g =&l (d 2
The maximum number of partners allowed in the banking business are
(@ 20 (b) 10 (c) no limit (d 2
5. it wolt & forg =am gear ofw 4ot feran e freffa =+t w2
(a) T @@ (ORERSIE] (c) 38 @@ (d) ST H ¥ HE Tl
The maximum number of member in a private company is
(@) 2lakh (b) 5lakh (c) 10 lakh (d) none of these
6. T & 9 wH-E 9RdE S wu T R?
() TRl (b) TTRITEE (c) o die (d) ufer dem
Which of the following is not Indian MNCs?
(&) Ranbaxy (b) Infosys (c) Brook Bond (d) Asian Paints
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10.

11.

12.

13.

14.

15.

‘ST ER FHE dohl 1 R T H FE ©?

(a) weafHw wr (b) TiroT r (c) TSR T (d)
‘Accepting deposit’ is which type of function of banks?
(@) primary function  (b) secondary function (c) social function (d)

71 o @ Sfem dw 1 HE-w I @2

(a) Tm (b) fafT=m (c) ST <M (d)
Which of the following is the objective of life Insurance?

(a) Protection (b) Investment (c) Both of the above (d)
1 o @ o goreiten Saneti § wfinfaa T8l €2

() IR (b) e (c) Hrew (d)

Which of the following is not include in electronic services?

(@) Correspondence (b) Fax (c) Internet (d)
e o1 way frw 9 22

(a) Bfewa (b) @ (OEERE (d)
Ethics are related with

(&) Medical (b) Law (c) Business (d)
T it F F I B F A e B T wen R g

(@ 2 (b) 3 (©)5 (d)
Minimum number of members to form a private company is

(@ 2 (b) 3 ()5 (d)
AT AR <l el S 2

() Hur & Lot (b) ®TH & WERR  (C) HIA & AfHR (d)

Equity shareholders are called :
(@) owners of the company (b) partners of the company
(c) Executive of the company

HRR i SR T & W i IS 6 82
(a) wufmEr (b) Sref-=R’g @™ (c) SWed B ¥+ T (d)
Which of the following provides opportunity for artisn?

(@) Companies (b) Large Scale business (c) None of the above (d)

(d) Guardian of the company

ofieh = forE w0 W Hel @l 2

(@) =H (b) sAfeR (c) 7egw (d)
The wholesaler buys goods in a quantity

(@) Less (b) More (c) Medium (d)
TR R HAE TS S fhus fedl w gefiE T g2

(@) =FaE™ (b) et (c) =IE™ T el (d)

Chamber of Commerce and Industries Safequards the interest of
(@) Business (b) Businessmen
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ST H ° HIE TR
none of the above
[SIk

Profit

ERIH

E-mail

STIE |t

All of the above

HUA & AfTITEER

ERR=ErIp)

Small business
S H 9 FIE T2
None of the above

HZHT IR

(c) Business and Businessmen (d) Retailers



16.

17.

18.

19.

20.

21.

22.

23.

(@) SEM + =y (b) ST + MR (c) AR + T (d) MR + AR o FeEs fwand

(@) Industry + commerce (b) Industry + Trade (c) Trade + commerce (d) Trade + Aids to trade

(a) fAfema (b) =Affereada (c) ST I (d) SR o ¥ +E T&f
Risk is the result of ................

(a) Certainties (b) Uncertainties (c) Both of above (d) None of above
G Te=g IREN Ha@E | el 1 Bl © oo

(a) wifaa <fae (b) i Tfa (c) ITRIREl & fow g <ifae ==l (d) 999 1o

The ‘Karta’ in joint Hindu family Business has ..............
(@) Limited liability (b) Unlimited liability (c) No liability for debts  (d) Joint liability

5 == o i o gy o ST Bl € B e FEd 2

(a) THa W@ (b) TTERRI (c) Ut (d) Tft mEEtaE FeA
The structure in which there is separation of ownership and management is called

(@) Sole proprietorship (b) partnership (c) company (d) All business organisation
=1 ° ¥ ‘gfaqie oTgay’ & Sfaid w0 el ST

(@) Sftea s (b) =T (c) IngEIfaen fte (d) = s

Which of the following is not covered under the ‘Contract of Indemnity’?

(a) Life Insurance (b) Fire insurance  (c¢) Marine Insurance (d) Theft Insurance
e &1 G o T2

(a) wfewa (b) &t (OSEIR (d) ST |t
Ethics are related with

(@) Medical (b) Law (c) Business (d) All of the above

eI Ul T T & i =)ol @ wme e )

(a) WoH, SHeEE URY A1, WTReM, Yot SIfage  (b) ISy, ot 1feM, o™ TR T, o
(c) e, IATREE, Ysit I, Sqam YRS wE (d) Yot SIfaM, o, IREeH, Saam YR <)
Stages in the formation of a public Company are in the following order

(&) Promotion, commencement of Business, Incorporation, Capital Subscription

(b) Incorporation, capital Subscription, Commencement of business

(c) Promotion, Incorporation, Capital Subscription, Commencement of Business.

(d) Capital Subscription, promotion, Incorporation, Commencement of Business

(@) HEr (b) == (c) 9Ra (d) Hgaa T AR
ADR'’s are issued in
(a) Canada (b) China (c) India (d) USA
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24, SRS fIERY . Y@t TR T S g

(@ = (b) = (c) T (d) =m
.............. copies of the bill of lading is prepared
(@) One (b) Two (c) Three (d) Four
25.  SEHETE THM oo, EN Wiet! St B
(a) ScaRHI (b) it =T (c) SR AT (d) SR ¥ ° FE T
Multiple shops are opened by ............
(@) Producers (b) Wholesalers (c) Both of above (d) None of these
e : 0. 9. 26 @ 30 o FrAifea 7wl o 7w U9 A @ weA A T 1 A U B we
qen fome ® @ ¥ SW A 1x5=5

Instructions : Q. No. 26-30 From the two statements are given. You have choose from the
following options :

(@) TF U T € AU HUA- | H S FHE- || W H ST Hehdl B
If both the statements are true and statement- Il is the correct explanation of statement- |
(b) < FUA WA T qU FUA- | HI AL HUA- || W T B S Wbl 2
If both the statements are true but statement- Il is the not correct explanation of statement- |
(C) wHeF- | HA € b HeA- || 36 =
If statements- | is true but statement- Il is false
(d) weF- || TF § AhH HEA- | A B
If statements- Il is true but statement- | is false

26. HA-| Sote & W § oeqell o1 Ha-Torkd R S 2
Statements- |  The things are brought and sold through the medium of the internet.
-] Yo R Hhge wE &1 WA Fh M fohan ST Hehal 2
Statements- 1l Payment can be made on the internet using the credit card.
27. ®¥A- oieh AR W: Ths A FIl 2
Statements- |  Wholesaler usually purchases on cash.
-] ofieh SR FA: YR % Hidl B
Statements- Il Wholesaler usually purchases on credit.
28. &Il Hael % gREFI ¥ S g A B S gRI AR Fel Sl
Statements- | Mail order business may be briefly described from the buyer’s point.
FHer-l| % AR 98 AR ? forad g oo @ Aot s S R
Statements- Il Mail order business is the business which sells from catalogues.
29. e TRl AR eI qegeell ot 3ifad wet B
Statements- | Retail trade is the last link among the business middlemen.
- | e SR o S Aol ik AR o TGt SUwiErIet i eigi-oligl 7§ S S 2
Statements- Il Under Retail trade the goods are purchased from the wholesale trader and sold in

small quantities to the consumers.
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30. oA WTO 1 3299 ¢ fava =R yoreft &l o] T 2|

Statements-|1 The objective of WTO is to enforce new world trade regulations
system.
wHe-| TOR & O 1 Afeman fomr wd ST
Statements- Il  To maximum explore and make the best utilization of the resources
of the world.
e : 7w §Em 31 ¥ 34 9% A ) wiem Ky 7Y ®) A Hiew d free s g e sWfaE
1x4=4

Instructions : Q. No. 31-34 there are two columns. You have to match the correct options of
column—Ito column-II.

Hiad-1 (Column 1) w11 (Column I1)
31. feg Suufysr &Affam s=mn 7= (a) 1911
Hindu Succession Law was framed in
32. ST Gl &l Y& (b) 1907
Beginning of postal services
33. 1 T Ul I JEAT (c) 1956
Beginning of the Railway post service
34, 91 T Tl H YEAW (d) 1837

Beginning of the Air Mail Service
frdwr : WO W& 35 % Ael W TH @ oifee S 9 € waha © | fruifa v ® we gt sw
%I fafgs w11 g+t famey @&t 87 W & dAF F1 e whm 3x2=6
Instruction : Q. No. 35 In the following question there are more than one correct answers.

You have to mark all the correct options. Marks will be alloted if all options are correct.
35. I fog foum =1 <mwm wyem fe § 9 frw v F @ i 22

(i) sm™m (i) & (i) St (iv) ST q+ft
(@) i&ii (b) i &iii (c) i, il &iv (d) i, ii, iii & iv
In which of the following states the ‘Dayabhag’ School of Hindu Law is applicable.
(i) Assam (i) Bengal (iii) Orissa (iv) All of above
(@) i&ii (b) i &iii (c) i, il &iv (d) i, ii, iii & iv
. U HEGE Sl IRY Hid GHT DH-F1 ded A Tl =MEq?
() =ga9™E &1 =99 (i) A T YAl (iii) =TaE™ H TE  (iv) ST gt
(@) i&ii (b) i &iii (c) i, il &iv (d) i, ii, iii & iv

Which of the following is the factor to be considered while starting a business ?
(i) Selection of business (ii) Scale of business (i) Place of business (iv) all of the above

@) i&ii (b) i &iii (c) ii,iii &iv (d) i, ii, iii & iv
. T Faa™ & U LM &1 999 ®d 999 F M WS Ffeu?

() &= (i) e (i) SR A (iv) ISt

@) i&ii (b) i &iii (c) ii,iii &iv (d) i, ii, iii & iv

What is to be considered while selecting the place of business?

(i) Region (i) Locality (iii) Both of the above (iv) Capital

@) i&ii (b) i &iii (c) ii,iii &iv (d) i, ii, iii & iv
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e

3tera,

1. 9 35 ® UF S0 XA T R | THE WY i g @ M ¥ T v &1 I A W

fowren o @ IS & YR W 7|

Instructions : In Q. No. 35 there is a paragraph followed by three questions. You have to mark

correct alternative from the option given in those quesitons.
T & SMUR TR A% WS 3 YR & & Tehd ¢ [ohdl ST il el Teh &l oAferd =eardl

2, Al %2 o EEE i oM Sl et TR % ®9 H 90N € U9 &9 oIadE g9 doft wuftEl &
®9 T W 21 a1 & e, he Hedd el & | Wi S @ df %9 gt 89 ¥ SR 5N T
S € q S 3 HaEEl i el o gt e o fafsd w9 @ = s 2

Many types of business organisatiosn on the basis of ownership. Some business is managed by

a single individual, some business is managed by many people collectively in the form of partnership,
while some business is run in the form of joint stock companies. Not only this, some business in
run in the private sector, whole the others are in the public sector and are managed by the government
and still some are run in the joint sector.

38.7 § ¥ =Edaed |8 ® WEY HHE-91 B

(a) Fr=it &= (OEIEEIREIRE] (c) fufsa &= (d) SR st
Which of the following is the form of business organization ?
(a) Private sector (b) Public Sector (c) Mixed Sector (d) All of above

Il fr=t o 9 A frelt &9 o) R-Frfg Soft § = aman?

(a) THTH! WA (b) T STt HIAT (C) HEEH (d) S gt
Which of the following is not covered under the non-incorporated category of Private Sector ?
(a) Sole proprietorship (b) Joint Stock Company (c) Partnership (d) All of above

Il ““ T T Seary e fohan A’ I8 oM Sdr 2

(a) TEBRRY (b) ¥ feg 9RaR =qa@m (c) TwE! wW@ifaa (d) St
‘Profits do not have to be shared’ This statement refers to
(a) Partnership (b) Joint Hindu Family Business (c) Sole proprietorship (d) Company

SECTION-II

H-aeqfiss 939 (NON-OBJECTIVE QUESTIONS)

Y ST I¥A (Short Answer Questions) :
e : T WE 1 ¥ 10 T Y I U T W FiE B 7w 1 B fag &9 o fuifa @

3x10=30

Instruction: Q. No. 1to 10are short Answer Type Questions. Every question is of 3 marks each.

1.

R o1 AR IS

Define profession.

2. U ¥H A % Hewd d Saeid HIfSu]

Explain the importance of Transport for the business.
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10.

FEHI IS SfEm & I HRO TR

Explain two reasons of Business Risk.

T H U TIIEh WEeR &l fafq & g
Explain the position of a minor partner in a firm.
Ui Y o wTH Tw W ot 9 22

Explain how the company is an artificial person.
o & YA w1 ol ey w9

How will you take decision regarding Scale of Business ?
oY efee e 9 @ wHEd R

What do you mean by Debit Card ?

Tk I A o 22

What is a Memorandum of Association ?

A AR § 9T 1 AU 82

What do you mean by Import Trade?

fage =R Hied & =R Sy fofey |

Write four objectives of WTO?

<ref 3989 999 (Long Answer Questions) :

ey dEM 11 B 15 7% B TOF B: 3% ® 2 5x 6 =30
Instruction : Q. No. 11-15 are of long answer type Question. Every question are of 6 marks

11.

12.

13.

each.
FOA § SR R AT 27 THHRT Todwarsti w1 vl wifs
What do you mean by company? Describe its characteristics?
Or,
HYAT GIST h1 G hi SRS hifTT
Discuss the limitations of company organization.
S 1 aRwmw e d% # fafis yeri w1 vl st
Define Bank. State the various types of Banks.
Or,
aforfores SR W S N T 87 T HE PH-BE § €2
What do you mean by Commercial Banks? What are their functions?
HAdras fad &1 geid o wia e sifval
Explain briefly the nature of business finance.
Or,
ZeaE & o e fod & Sl ol 9w e sl

Explain briefly the sources of raising long- term finance for business.
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14, o ®H w1 TG e 82 wH i W 3w % a g @2

Is registration of a firm Compulsory? What are the consequence of non-registration?
Or,
TEHR) HiEfd o 3 o GHEH €2 $Uh TU-RMI i S Hifey
What do you understand by co-operative society? Discuss its advantages and disadvantages?
15. faunie quer @ @0 @ €2 39 oS i fad=Er Ry
What is mean by departmental store? Discuss its merits and demerits.
Or
e AN 1 oish AT e Iulees & i Yansti &1 goi wifaa|

Describe the service of retailer towards wholesalers and consumers.

ANSWER

SECTION-I
(—@‘QW (OBJECTIVE QW

1. (a) 2. (c) 3. (d) 4. (b) 5. (c)
6. (C) 7. (a) 8. (c) 9. (a) 10. (d)
11. (a) 12. (a) 13. (d) 14. (b) 15. (c)
16. (a) 17. (b) 18. (b) 19. (c) 20. (a)
21. (d) 22. (c) 23. (d) 24. (d) 25. (a)
26. (c) 27. (c) 28. (c) 29. (c) 30. (c)
31. () 32. (d) 33. (b) 34. (a)
35.1.(d), II. (d), lll. (d), or, 1. (d), II. (b), IIl. (c)
\ y

[B.Std—32]



OMR ANSWER SHEET OMR 3<IX Y3 OMR NO.
9&T 2009
Instructions : frdw
1. All entries should be confined to the area provided. 1. gt gfaftest fo3 & wam qe € Hifia @ |
2. In the OMR Answer Sheet the Question Nos. progress . .
from top to bottomn. 2. OMRSW 73 § W H&A HH: TR § = 1 3§ T 2
3. For marking answers, use BLACK/BLUE BALL POINT 3. SW &ad Hl/A ot e 91 gR fafgd &Y
PEN ONLY. . .
4. Mark your Roll No. Roll Code No. Name of Exam. Centre 4. s I@ fm Eﬁg >, @gﬂ %% F T OMRI™ ™ 3
in the boxes/space provided in the OMR Answer Sheet. e reft/eormdt e fere |
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like this. 6. T IW & W H P Y § W W gL Fafed & |
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MODEL PAPER

PAT—XI1
asreferr=aH (Economics)
g : 3 He + 15 fie (srfafiam) | [ quis : 100
Time : 3 Hrs. + 15 Minute (Extra)] [Total Marks : 100

| fR¥ (General Instructions) :

® i yva e € 1 (All Questions are compulsory)
® o SW % oy foRet @i w1 ket TéT e (There is No negative marking for any wrong answer.)
® TY-W T @Wuel ¥ ® | (Questions are in two sections)

WIS CSEA Y VOPD /

A5 9 4225457417 7
| 3Tk (Total Marks) — 40
| I T &AT (Total No. of Questions) - 35
A 3 (Total Marks) — 60
oY SAAA I (Short Answer type) — 10 (U 3 3AH)
<ref 3T 997 (Long Answer type) — 05 (948F 6 3A®H)

4. %o < S wel | eriafies faemed off Ry mw ¥ | oy 59 we | oy fashedl | @ e wh weA @
FIWT |

(There are internal options is some of the long answer type questions. In such questions you have to answer
any one of the alternative.)

5. ForHed At UE h1 I ST & o | <
(Answer should be in your own language.)

6. e % SR ool Hied R W e 1 o WO (T HieEe, UoR SeAf) ST RN Heen et |
(No electronic gadgets like calculator, call phone, pager are allowed during exam.)

7. TS Tl 1 IW R T 3T o AR Wie H IUYH fashey 1 et A Hed W W W TWE WA T |
(3T & fau afg 3w () & @ i I Fe = 9 W fafgg =
(The answer of objective type question is to be given on supplied OMR sheet by completely darking the
appropriate answer option. For exmple if answer is (c) the you should fill it as shown by blue/black pen.

(@) () (@) (d)

aaa
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MODEL SET—I

SECTION-I

FEqfass 939 (OBJETIVE QUESTIONS)
M : W e 1 ¥ 25 7% ® U¥ ¥ 9N fasey Ky 7w ¥, fod @ wF w2 | we fawey =t

SW aiferes o fafga #|

1x25=25

Instruction : Q. No. 1to 25 : In the following questions there are only one correct answer.

1.

You have to choose that correct answer.

“orefeTe o 1 o ®7 U wed € 2

(A) sTeH T (B) AR (C) Ufs=
"Econoics is the science of wealth". This statement is of :

(A) Adam Smith (B) Marshall (C) Robbens
Ul g &t ¢ erefeme st aRe 1 qe foag e—

(A) T 1 e (B) &I 1 eh A (C) 39 =M
The main point of the definition of Economic given by Marshall is :

(A) Resources are limited (B) Logic of choice (C) Both
Hifterah! aam 8—

(A) TTHE HAT (B) H&ATHS HUA (C) 3mt

Statistics denotes :
(A) Qualitative Statement  (B) Quantative Statement (C) Both

Tiferat Joft 1 offhd feram ST 8—

(D) Heger

(D) Samulson

(D) 3 § & % A
(D) None of the above

(D) Sugsr g T

(D) None of the above

(A) TH (B) T (C) @ (D) =R

Statistical series are classified into :

(A) One (B) Two (C) Three (D) Four

SgeTsh i TOMT 1 S HWehdl 8—

(A) wmmEeh fafy o (B) stverstt fafyr o (C) <= o (D) 4 & & et o =it
Mode can be calculated only in :

(A) Inclusive Method (B) Exclusive Method (C) Both (D) None of the above
19 ygta 1 =9 i fateE

(A) \rem (B) =iq¥eh fa=re (C) wrea forre (D) yrTfUTeh forerer
The measure of ceatral Teadency is :

(A) Mean (B) Quartile Desaor (C) Mean Deviation (D)Standard Deviation
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7. WHG: GRS % aReher | fREeRt WENT Bl B—
(A) ¥ HIFd YaFih (B) UK hiHd YA
(C) ITRH Hid Hahich (D) T | =i T
Generally Inflation is measured with the help of :

(A) Whole sale price Index (B) Consumer Price Index
(C) Producer's Price Index (D) None of the above

8. WEHWY Ul 1 Yod Hal el e—

(A) T 9 e (B) +1 @M —1 & A (C) +1 ¥ =¥ (D)1 & =H
The value of Co-efficient of correlation is always :
(A) More than zero (B) Between +1 and -1
(C) Less than +1 (D) Less than -1

9. et whe o i BHET % WiGH ©@E FHAM: 12 T, 20 T, 5 %, 40 T N 62 T T, fTER F@ HifTe—
(A) 57 % (B) 12 % (C) 62 % (D) 50 %

The monthly expenditure of fire students in a school are Rs. 12 Rs. 20, Rs. 5, Rs. 40 and Rs. 62
respectively find Range :

(A) Rs. 57 (B) Rs. 12 (C) Rs. 57 (D) Rs. 62
10. oI W9 & ford weifuess Suge eiea @ 2
(A) FH=R "1e (B) wrfeent (C) &gt (D) =+t
The most appropriate average of qualitative measurement is :
(A) Arithmetic Mean (B) Median 036, (C) Mode (D) All
11, 9% T S wuE i w1 vt w w32
(A) wfezrnt (B) 9§ (C) wr=a (D) =19 & &+ &l
A figure that represents the whole group is called :
(A) Median (B) Mode (C) Mean (D) None of these
12. sgcth z (Mde z =)
(A) 3M — 2x (B) 2M — 3x
(C)M =X (D) 319 ¥ =5 &l (None)
13. =gefs fa=e™ (Quartile Deviation) :
63 -6,
(A) 6, -6, (B)6,-0, © (D) 4
14. 9G¥ Ugcll d9aHsiEd AN TE ge—
First five year plan was started in India Since :
(A) 1951 (B) 1952 (C) 1947 (D) 1950
15. WRATT sreferewe 1 WEy 8—
INREIEIE (B) THTSTat (C) fafsm (D) SR ¥ | g &l
The form of Indian Economy is :
(A) Capitalistic (B) Socialistic (C) Mixed (D) None of above
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16.

qRd | 3Tfeie Gur &1 qihan & T8 ?

Economic reforms in India was started from the year :

(A) 1985 (B) 1991 (C) 1995 (D) 1990
17. MG & TS 319 ¥ it aeH ¢ ?
(A) H & (B) Far &= (C) =T & (D) =99 ¥ =i &
The maximum contribution in the National Income of India is of :
(A) Agricultural sector (B) Service sector (C) Industrial sector (D) None of these
18. geoafgd F e—
(A) JI& H (B) T9& Y (C) Har (D) T ¥ = &l
VAT is :
(A) Direct Tax (B) Indirect Tax
(C) Service Tax (D) None of these
19. IRDP =Fi%d 1 Y&ETd go—
IRDP Programme started in :
(A) 1980 (B) 1982 (C) 1977 (D) 1985
20. TGl ISl 1 HrEH 3—
The period of Tenth Five Year Plan is :
(A) 2000—-2005 (B) 2002—-2007 (C) 2001-2006 (D) 2005-2010
21. sft oduE § HR-W v A = @ oe—
(A) T (B) Tt (C) it (D) et
At present which five year plan is going on :
(A) Second (B) Eleventh (C) Ninenth (D) Eight
22, % &5 § |rrd: fFE R 1 SUeI urel S 8—
(A) ST SRS (B) orfer SRrsmTY
(C) fodt g8 s (D) Ufessh SRS
The nature of unemployment found on agriculture is :
(A) Cyclic unemployment (B) Educated unemployment
(©) Disguised unemployment (D) Voluntarily unemployment
23. e gt @ <A o1 fava °§ wiH 9 wE e—
(A) 92 (B) e (C) Ew (D) =hen
The position of China in the world from the population point of view is :
(A) First (B) Second (C) Third (D) Fourth
24, < TS ST T Eo—
(A) 1948 (B) 1949 (C) 1950 (D) 1951
The Republic of China was established in :
(A) 1948 (B) 1949 (C) 1950 (D) 1951
25. SR Al 1 T fRed e—
(A) T | (B) e & (C) SRR | (D) T =g 7l
Antodaya Yojanarelates to :
(A) Poor people (B) Riches (C) Unemployed (D) None
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e : 0. 9. 26 @ 30 o FrAifra vl o To® Y9 A Q1 weA A T 1 A e B we
qeon fomes # @ ¥ SW A 1x5=5

Instructions : Q. No. 26-30 From the two statements are given. You have choose from the
following options :

(A) afE S FoF &2, A1 HUA |, HAA | T G A Bl §

(B) = Tl wher WEl €, g A |1, HeH | 1 WS AR & el B
(C) =g %o | W&l & Ak oM || TTord € |

(D) af% %o | Tord © AfehT weF 1l T |

(A) If state3ment | and Il are correct and statement Il explains correctly the statement I.

(B) If both statements are true but statement Il does not explain correctly the statement .
(C) If statement | is correct, but statement Il is wrong.
(D) If statement | is wrong but statement Il is correct.

26. YA |—TH TS YA H A YA T gH Ay |
FHA || —JeTEel § T8 7oA TRl 99§ @fen St ge A % 9H-9eE 6l o9 g |
Statement [I—There should not any undesirable questions in good questionnaire.

Statement Il—Undersirable questions must not be asked such that if offened the informations.

27. YA |—T I =R AN e €
Fe [l—asft TifeTsh! sfihe §, Tg Tft efishe difeert e 2 |
Statement I—Cow has four legs.
Statement II—All statistics are dats but all data are not statistics.
28. YA |—k qfeAl Swgl & HUE B A Bl 2 |
He || o= e & HITh & ST & YA i a9 W AHfqEI hi FfeA et € |
statement I—Some errors are of during collection of dates.
Statement II—Non-sampling errors are arises due to use of various types of scale of measurement.
29. oA |—T¥1en | HHEA foeRE 1 % Aewe ac € |
U || TR T ATTIE Y e fore w1 Fnad 9 2 |
Statement I—Education is the important factor of Human Resource Development.

Statement Il—Literacy means the ability to read and wrife.
30.  eF |—9Rd H HHH SRR wreor & 6 urg et @ |
Fo |l—urd ® fad vl # & S o Sl 2
Statement [—Sesonal unemployment is found in rural areas in India.
Statement ll—Unemployment is found in only towns in India.

v : 7w wEm 31 ¥ 34 9% ° Q) wiem Ky g ?) < Fiew ¥ e w g 9 sW faE)
1x4=4
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Instructions : Q. No. 31-34 there are two columns. You have to match the correct options
of column—Ito column-II.

31.
32.
33.
34.

Hiad-1 (Column 1) Hiad-11 (Column 1)
FH (Agriculture) (A) fsd@r &= (Secondary sector)
weq fmiur (Building Construction) (B) gt & (Tertiary sector)
Jard (Services) (C) warfess & (Primary Secotor)
T (Mining) (D) Wik &= (Primary sector)

e 9. g 35 & i frefafea ge o Tw @ sifuw fasey Wet @ wed o1 o9 u wel

faweat = fafga =2 3x2=6

Instructions : Q. No. 35 In there may be more than one correct answer. You have to marks all

35.

Or,

the correct answers.

tﬁlﬂﬁ (%) 0-10 10-20 20-30 30-40 40-50

AfHehl T Fo 22 38 46 35 20

Xf=

(A) 160 (B) 100 (C) 161 (D) 141
ekt (Median) = ?

(A) 24-46 (B) 24-96 (C) 161 (D) 141
aiferrent feerd © (Median lies in class interval) :

(A) 30-40 (B) 2030 (C) 10-20 (D) 40-50
Hifegat &1 dHd B—

(A) Had Tl H1 A=A (B) 3Tifeieh W

(C) TR el e e B § (D) ol HEAHS qeAl 1 LI

Limitations of Statistics are :

(A) Study of Aggregates only (B) Economic Equilibrium
(C) Results are true only on an Average

(D) Stdy of Numerical Facts only

THifethal % STTHR TRON & FhN e—

(A) Tt FRof (B) Ha— At (C) geftzrer it (D) Sifeat |l
On the basis of Originality, types of tables are :

(A) Original Table (B) Derived Table

(C) Tertiary Table (D) Complex Table

TEROT SFEfd RO E—

(A) SFEE faerie  (B) did siEifien (C) TTiehur (D) =IO
Causes of environmental degradation are :

(A) Population Explosion (B) Rapid Industrialization

(C) Urbanization (D) Forestation
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SECTION-II

A7-aeqfs3 9¥9 (NON-OBJIETIVE QUESTIONS)

e LT 9¥A (Short Answer questions) :
e : w9 W& 1 @ 10 7 @Y ST YN B 59 HifE B TS U @ fog o 3w fruifa €
3x10=30
1. SAYIE =EA 1 AR € 2 9 |
"Economics is a logic of choice". Explain ?
2. ofiRIU] TE AROMEA H <R W< K |
Distinguish between classification and Tabulation.
3. et aw e 2
What is Frequency Curve ?
4., =g fhd FEd € 2
What is Mode ?
5.  He-Hwr Ul o € ?
What is Co-efficient of correlative ?
6. TR I GRW Hifo |
Define Index Number ?
7. Tufsa sreferewen w1 gea fagwand @ 2 2
What are the main feature of Mixed Economy ?
8.  sTf¥feh Ars ol gRefaa i |
Define a Economic Planning.
9. IR F AU H |
Explain Liberalization.
10. ErE R 2
What is NABARD.

<l 3989 999 (Long Answer questions) :

ey dEW 11 B 15 7% B TOF B: 3% ® 2 5x 6 =30
11.  wafgsw qen fodias T ¥ =R T hifsd |
Distinguish between Primary Data and Secondary Data.
12. #=9 ygfa & 9 &1 fafg= fafeai o 9o Fifd | 39 o< 1 foag |
Discuss the different methods of measurement of ceatral tendeary ? Discuss there merits and
Demorits ?
13. ¥R H IS 3eH & fafa= srisal &1 av St |
Discuss the different unemployment eradicatron programme in India's.
14. 9RA H derdta ASIS & SNERYA Iexdl 1 AU Hifod |
Discuss the main goods of five year plans in India ?

15. 9Rd W feRsit oAuR 1 ygE fagmaet w1 oul Hifsd 2 ghent shiA-shA W wHsiE ¢ 2

Discuss the main features of foreign trade in India ? What are its weatness ?
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11.

16.

21.

26.

31.

35.

T WESTIONS) >
A) 2. (C) 3. (C) 4. (B) 5. (B)
A) 7. (A 8. (B) 9. (A 10. (A
(©€) 12. (A 13. (C) 14. (A 15. (C)
(B) 17. (A 18. (B) 19. (C) 20. (B)
(B) 22. (C) 23. (A) 24. (B) 25. (A)
A) 27. (A 28. (A) 29. (B) 30. (C)
(©€) 32. (A 33. (B) 34. (D)

M, 1. (A), 11l. (B), or, 1. (A, C, D), Il. (A, B), Ill. (A, B, C).

AN SWER

SECTION-I

f9ss 9¥9 (OBJETIVE QUESTIONS)
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MODEL SET-—-11

SECTION-I

FEqfass 939 (OBJETIVE QUESTIONS)

Y : Yo Fo 1 @ 25 0F @ WY W 9R fawew Ky wu ¥, e @ ww W@ @ | we faswew w
SW aifeent ° fafgq w0 1 x 25 = 25

Instruction : Q. No. 1to 25 : In the following questions there are only one correct answer.
You have to choose that correct answer.

1. Frefyme 3—
(A) TH FHell (B) TH foam (C) wen den fag= 3= (D) 91 ° & &S T/l
Economics is :
(A) An art (B) A Science (C) Science and both (D) None of the above
2. UH ol I freed oI S0 W A SRR FHE e—
(A) =Tgfa faexo (B) =t amafa (C) =t 3= (D) = &
The difference between upper limit and lower limit of a class is called :
(A) Frequency Distribution (B) Class frequency (C) Class interval (D) Class limit
3. 10,57,7,8910, 15 3fihe fhE ThR o 3fihg € ?
(A) fafes=1 e (B) Wq H@en (C) =fara Haen (D) T= siihe
The figures 1057 7 8 9 10 15 are kept under the following series :
(A) Discrete series (B) Contineous series  (C) Individual series (D) Pure Data
4, TG HIGNl % AR HhE & G a6 & S S GET Hl WG w6 & ol wH-a <g fo suge e 2
(A) afdaaa gug fed (B) wIgeve o (C) W& 3ue fo (D) T8 ¥ &g 7

Which digra will be suitable for showing the nuber of students of three different years of four different
disciplies of Mereet college :

(A) Sub-divided bar diagram (B) Multiple Bar diagra

(C) Simple Bar diagram (D) None of the above
5. omgfa et faa o1 SuEn feRar S @ 2

(A) wifegent fre & (B) aga® e | (C) wiem fare o (D) 319 9 & &l

Histogram is used for calculation the following :

(A) Medias (B) Mode (C) Mean (D) None of the following
6. 1= fohamei *t G 9 Sgeis STHR Bi—

2,4,6,5,3,7,6,8,5,6,7,3,1

(A)5 (B)7 ©)s3 (D) 6
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10.

11.

12.

13.

14.

15.

forarersfierar Ar9s &t fRa fafeat 8—

(A)2 (B) 3 (C) 4 (D) 5

What are the methods of measuring disperson :

(A) 2 (B) 3 (C) 4 (D) 5

e foee &1 o fE W 9 fREe g S 8—

(A) T (B) wfeeht (C) sga* (D) 3wda |t
Mean Deviation is calculated from :

(A) Mean (B) Median (C) Mode (D) All the above
TEEEY 4 S e 99 8 —

(A) FH=R He" (B) g9 fa=rem (C) famr (D) g

The relative measure of correlation is :

(A) Mean (B) Standard Deviation (C) Range (D) Regression
Aeifien gfenl & ford Susiier i gueie o fhg w8 & ford Seuaq 9R &ar € 2

(A) @ T (B) 3fremd (C) =9 (D) e

Which of te following item is given maximu weight in consumer price. Index for industrial warkers :
(A) Food products (B) Residation House  (C) Clothes (D) Radio

A ST T SFEry g 2

(A) wr = (B) T ad (C) wR a4 (D) = =

The duration of Indian Plan is :

(A) Five years (B) One year (C) Four years (D) Three years
forge SR |13 w1 TS gA—

(A) 1995 (B) 2000 (C) 1991 (D) 1994

World Trade organisation was formed in the year :

(A) 1995 (B) 2000 (C) 1991 (D) 1994

TE® ISR AT R & | weren S 8—

(A) TTHOT & (B) vl & (C) =i & o (D) 39 ¥ *iE el
Nehru Rojgar Yojna is found in :

(A) Rural areas (B) Urbaa areas (C) Both of the places (D) None of the above
&1 ToT ok R T Y T ofl—

(A) 1971 (B) 1975 (C) 1980 (D) 1984
Regional Rural Bank was started in the year :

(A) 1971 (B) 1975 (C) 1980 (D) 1984

R H fHg &= o wnfer feran < € 2

(A) W &= (B) T &= (C) Far & (D) T8 ¥ &g 7
Trade is included in the following sector :

(A) Primary (B) Secondary (C) Service Sector (D) None of the above
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16.

17.

18.

20.

21.

22.

23.

24.

25.

T SO R & H aRl S e —

(A) P a3 o (B) 3@ & | (C) fafmm®w e d (D) ST & &3 §
Seasonal unemployment is found is :

(A) Agricultural sector (B) Industrial sector

(C) Investment sector (D) Agricultural and industrial both

fefa = arfwr @ Stem & fore wiftq =61 9 e —

(A) TRl (B) weit (C) =[aH SULHT STrergsheiai (D) = ¥ &g &
Poverty i the inability to fulfil the of life :

(A) Service (B) Wife (C) Minimum requirements (D) None of them
AW GuR T Ty W Tore 9 o @ Bl § HEan e—

(A) TSTRITTE GER (B) aTfYf geur (C) =i &R (D) &9 9 ®F§ &l
Such reforms which are related to governent revenue and expenditure are called :

(A) Fiscal Reforms (B) Economic reforms (C) Trade Reforms (D) None of these
‘T forgy At AR Te—

(A) e o (B) ¥ ® (C) 9a H (D) |t o

One child policy was adopted in :

(A) America (B) China (C) India (D) All

T2 Y FRAE & g3l—

(A) 1955 H (B) 1958 # (C) 1960 H (D) 1965 H
Great leap Forward was introduced in :

(A) 1955 (B) 1958 (C) 1960 (D) 1965

IRDP =1 =19 %= Td {9 WK N1 fohd e o siier Sin 8—

(A)50:50 (B) 25 :75 (C)75:25 (D) 100:1

The expenditure on IRDP is shared by centre and state government in the ratio of :
(A)50:50 (B) 25:75 (C)75:25 (D) 100: 1

A H1 A B T THE I B

(A) e (B) erfifiaa (C) Wt (D) s =lg &
of resources creates the problem of choice :

(A) Limited (B) Unlimited (C) Plenty (D) None of these

20, 30, 40 3R 50 & WE T—

The range of 20, 30,40 and 50 is :

(A) 30 (B) 20 (C) 40 (D) 50

Srorn fafe qen wiaed fafa €, feraeni—

(A) Ui STEem (B) FviIcHe STqHeM (C) wifersht ergde (D) =7H g &l

Census method and sample method are two method of :

(A) Historical Research (B) Descriptive Research

(C) Statistical Research (D) None of these

qRd ¥ TRa Hifd H1 Y& g8 ofi—

(A) 1968 # (B) 1980 # (C) 1901 # (D) 1947 #
Green Revolution was started in India science :

(A) 1968 (B) 1980 (C) 1901 (D) 1947
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e : 0. 9. 26 @ 30 o FrAifwa 7vAl A To® U9 A Q1 weA A T 1 A B w6
qen fomes ® @ ¥ SW A 1x5=5
Instructions : Q. No. 26-30 From the two statements are given. You have choose from the
following options :
(A) I S Hud GEl B, qe HeH |, HUF | 1 T AR HIA 2
(B) =g Tl wher WEl €, g A |1, HeH | 1 WS AR T el B
(C) =g wer | W&l B Ak e || TTord € |
(D) afE M | Tord © Afeh e || TE |
(A) If state3ment | and Il are correct and statement Il explains correctly the statement I.
(B) If both statements are true but statement Il does not explain correctly the statement 1.

(C) If statement | is correct, but statement Il is wrong.
(D) If statement | is wrong but statement Il is correct.

26. YA | WieA foeer O wiea /e o 9N S W wed foee ol W e € |
FoH || HIea foraed, S § HHeh] & foraer o1 Shad SR WiEd © |
State | Dividing the Mean Deviation from its related mean we get coefficient of Mean Deviation.

Statement Il The Mean deviation is merely the arithmetic average of the deviation, from an average
of the date.

27. A | Wit Sl Rl S-SR AT H sied € |
Fo || TfeaeR S Ygfa 1 79 T |
Statement | Median divides a services in equal parts.
Statement Il Median is the measurement of central Tendency.

28. M | Hifcash! Afesh deAl ¥ Hafed 7 |
FoH || Wi SRAG Shiedl o1 AR FdT ¢ |

Statement | Statistics is related to grouped facts.

Statement |l Statistics studies only individual units.
29. YA | WEAE WiSH AH W oeel ol qu wieH e S 2l

F || I8 Th QHM 9 7, T I 1 |

Statement | Children are given free food in Mid-day Meal Plan.

Statement Il This is a governmewntal measure. To abolish poverty.
30. A | URd I SHEE fava § T wH W R

FHeA || SFEEA ghg 1 Fad wg1 HROT e ¢ |

Statement | The population of India stands on second paosition in the world.

Statement Il The main reason of increasing population is illiteracy.
et : 99T @ 31 @ 34 9% ¥ Q) wiem RKe T @) 4 wiem | frem w1 g 98 s faE

1x4=4

Instructions : Q. No. 31-34 there are two columns. You have to match the correct options
of column-Ito column-II.

Hiad-1 (Column 1) wiad-11 (Column 1)
31. Teell J9auia A (Ist Five Year Plan) (A) 1956-1961
32. T Y=adta A (lind Five Year Plan) (B) 2002-2007
33.  TTdl Y9aHia A (10th Five Year Plan) (C) 2007-2012

34, TR d9auta A (11th Five Year Plan) (D) 1951-1956
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e 9. | 35 & i frefafed et ® w9 AAfus fase 9dt 8 w@a ¥ o9 9t wet

faweat = fafga =2 3x2=6

Instructions : Q. No. 35In there may be more than one correct answer. You have to marks all the

35.

Or,

correct answers.

grish (Marks obt.) | 5-10| 10-15|15-20 | 20-25 | 25-30 | 30-35 | 3540

BE H Ho 3 8 17 12 9 8 6
(No. of students)

T 9l U B—

(A) 17 (B) 12 (C) 40 (D) 35
The Larget figure is :

(A) 17 (B) 12 (C) 40 (D) 35
R 1 AF ghm—

(A)35 (B) 30 (C) 40 (D)5
The value of Range will be :

(A)35 (B) 30 (C) 40 (D)5
TR T[oieh BIm—

A1 (B) 0-778 (C) 0-923 (D) 0-456
Coefficient of Range will be :

A1 (B) 0-778 (C) 0-923 (D) 0-456
THd BRa wifd &1 T foeer fea—

NEESREREISER (B) SI. TUSl. TFA Ha™

(C) sfea et (D) Sita et

Who gave the slogan of second green Revolution :
(A) Atal Behari Bajpayee (B) Dr. A.P.J. Abdul Kalam (C) Indira Gandhi (D) Rajeev Gandhi
THAl geag A

1 Heequl el g—
(A) T ¥ gfg (B) fH&ar & et (C) z=m (D) GrerEan
Main targets of Tenth Five Year Plan are :
(A) Development in Agriculture  (B) Decrease in Poverty (C) Industry (D) Literacy
e % YHR BIA e—
(A) T AT (B) BUHF HIEA (C) TUIcHeh HIeA (D) Igcsh

Kinds of Averages are :
(A) Arithmetic mean  (B) Harmonic Mean (C) Geometric mean (D) Mode

SECTION-II

AT-aeqfIs3 9¥9 (NON-OBJIETIVE QUESTIONS)

e ST 9¥A (Short Answer questions) :
e : T WE 1 ¥ 10 T Y I U T W FiE B 7w 1 B fag &9 o fuifa @

© g ks wnNpE

3x10=30

ISl & STTER efvme #=41 € 2 (What is Economics according to Marshall ?)

Hifiewsh! o1 &% @1 © ? (What is scope of Statisties.)

=X M € ? (What is variables ?)

wifegent goft st gRenfya #1fS3 | (Define statistical series ?)

Hadt smgfd o foRd wed & 2 39 1 e ® 2 (What is Ogire ? Discuss its impotance.)
YSirardt stefeTeren it fawwarsti i faw | (Write the features of capitalistics theoremy ?)
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7. wHediw0 F  ? (What is globalisation ?)

8.  WRa " fagfan %1 g&a %R 0 ® ? (What is the main reason. Of poverty ? Explain.)

9.  uriu faer w1 @ @1ef ® 2 (What is the meaning of Rural Development ?)

10.  emefish HCE W 39 2 FHed € 2 (What do you understand by Basic Intrastructure ?)

<rsf s98= 999 (Long Answer questions) :
e : T W& 11 | 15 O B TOF B: Ak B T 5x6 =30
11. ofRw & A i fafy= fafe=i &1 au Fifss |
Discuss the differents methods of measurement of Disperson ?
12.  gehih o1 € 2 $Eeh1 Wi &9 fofen S € 2 39es fmion o o areft oAl s i wifeE
What is Index Number ? How is it constructed ? Discuss the differences in its construction ?
13. 1949 & @I% < s1efeaen st W fagiuarsti w1 qui wife |
Discuss the characteristics of chinese Economy after 1949 ?
14. 9%a ¥ e & fafs= el &1 aufa Fifsd |
Discuss the different forms of unemployment in India ?
15. Aol W 9 diedd © 2 g JE b1 9ui RIS |

What is globalisation ? Discuss its effects ?

A NS WER
SECTION-I
,—@uw (OBJETIVE QW

1. (C) 2. (C) 3. (C) 4. (B) 5 (B)
6. (C) 7. (C) 8. (D) 9. (B) 10. (A)
11. (A) 12. (A) 13. (B) 14. (B) 15. (C)
16. (A) 17. (C) 18. (A) 19. (B) 20. (B)
21. (C) 22. (A) 23. (A) 24. (C) 25. (A)
26. (B) 27. (B) 28. (C) 29. (A) 30. (A
31. (D) 32. (A) 33. (B) 34. (C)

35.1.(C), Il (A), lll. (B), Or,1.(A,B), II. (A, B,D),lIl. (A, B, C)
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MODEL SET—-I11I1

SECTION-I

FEqfass 939 (OBJETIVE QUESTIONS) [28 Mark

Y : Yo Fo 1 @ 25 9F @ ¥ A 9K fawey RKu v ¥, fod @ ww W ® 1w fawew w0

gqa S arfas 7 fafgq &2 1 1x25=25

Instruction : Q. No. 1to 25 : In the following questions there are only one correct answer.

L.

You have to choose that correct answer.

TifeTdht w1 w1 % :

(a) AFKFTA TSR Hl T (b) THE T FHIEM FAHl

(c) KT SHIEAT T STEAIT HTAT (d) =99 9§ +ig &l

Function of Statistics is to :

(a) enhance individual knowledge (b) suggest solution of problems

(c) study individual units (d) none of these

frfafed § 9@ SF-9 % ifcasd grol &1 ghR TE e

(a) =AfrTTd (b) @ftea (c) =fiepa (d) faf=a
Which one of the following is not a kind of statistical series ?

(a) Individual (b) Discrete (c) Classified (d) Signed
et ot 1 Sudt 9 freeh @ % =R *i wed ©

(a) =t emgfa (b) FT=R faear (c) =t Hramd (d) g=a-fag

Difference of upper and lower limit of a class is called :

(a) class frequency (b) magnitude of class-interval (c) class limits  (d) mid-point
ot 91 1 Ie goa Tt faao § gad sifuwengfa @ weed @

(a) FIHMFR-T1ET (b) sgTh (c) wfeeht (d) gAM-fa=re™
The value of the variable which occurs most frequently in a distribution is called:

(a) Mean (b) Mode (c) Median (c) Standard deviation
ot & @ ferment 7o o R WETEEn 9 T ST Wehdl © 2

(a) mreA (b) wfezeht (c) =ETH (d) wgeih
Which of the following cannot be calculated by graphic method ?

(a) Mean (b) Medion (c) Mode (d) Quartile
TEA T

(a) #=a o1 STfad g (b) T HH IRERAT el T

(c) Hag 3y IREIRAl el qed (d) 379 9 =g T

Mode is:

(a) The middle most value (b) least frequent value

(c) Most frequent value (d) none of these
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10.

11.

12.

13.

14.

15.

goft % Y&e TH W NURd 79 ¢

(a) fa=r (b) g9 fo=rem (c) wq¥e fa=rem (d) = |t

The measurement bases on all value of the series is :

(a) Range (b) standard deviation (b) Quartile deviation (d) all of these
HE-FrY Ul Bl © T

(@) 1 ¥ atfusw (b) -1 ¥ %1 (€ -1 R +1 Ha=d (d) 09 a1

Correlation coefficient is always :

(a) more than 1 (b) less than -1 (c) between -1 and +1  (d) more than zero

T = B A9 GB-HaY F Fad ©

(a) T HE-HaY (b) FOTH: TE-HaY (c) Iui HWB-HaY (d) =FTHS FE-HaH

The correlation between the two variables is called :

(a) simple correlation (b) negative correlation  (c) complete correlation (d) positive correlation

TG GRI T Hehford fehal T3 Sfishgl i el ol & :

(a) Wt (ORESIRED

(c) wufaes qon fgdias <= (d) STE= o ¥ =+ &l

The data collected by the investigator himself is called :

(a) primary (b) secondary

(c) both primary and secondary (d) secondary

U0 9, 8, 27, 36, 45 HI GHIR WA T

(@) 18 (b) 25 (c) 36 (d) 45

The arithmetic mean of the observation 9, 8, 27, 36, 45 is :

(a) 18 (b) 25 (c) 36 (d) 45

IS TEROT 144 B q A fa=ed g

(@) 12 (b) 44 (c) 6 (d) 72

The variance is 144, than standard deviation is :

(@) 12 (b) 44 (c) 6 (d) 72

FHA Gohich Fehfe | TR 1 HHd ®I T 9T T

(@) 100 (b) 200 (c) 300 (d) 400

In the computation of price Index number, the price of the base is assumed as :

(a) 100 (b) 200 c) 300 (d) 400
TR sreferaeen © -

(a) foerfaa (b) eAfq-fasrfaa (c) Tuser (d) fasmasfiar
Indian economy is :

(a) developed (b) over-developed (c) backward (d) developing
fofes wmoehTel & SN Tl wiel UH Sead R R e § wenfud g

(a) SR (b) SRR (c) M (d) TSHTher
In the British period the first Iron and Steel factory was established in which city :

(a) Bokaro (b) Jamshedpur (c) Durgapur (d) Rourkela
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16.

17.

18.

19.

20.

21.

22.

23.

Y| GEaud Al ar] 88

(a) 1951 (b) 1950 (c) 1952 (d) 1947

First Five Year Plan Started in :

(a) 1951 (b) 1950 (c) 1952 (d) 1947

T W | gem edrfie fifq w1 soon g8

(@) 1947 (b) 1956 (c) 1948 (d) 1950

In Independent India the first Industrial policy was announced in :

(a) 1947 (b) 1956 (c) 1948 (d) 1950
NfYfeh YU &1 HRIHH 9Rd § & g :

(@) 1990 (b) 1991 (c) 1992 (d) 1993
Economic Reform started in India in :

(a) 1990 (b) 1991 (c) 1992 (d) 1993

AN A G9EE | agerd % :

(a) 3T=a1 AT (b) 3T=31 T@mEeA (c) foga wwu (d) Ter-ftent forem
People become human resource by :

(a) Good food (b) sound health (c) wide travelling (d) technical education
EEﬁif &9 H wE- SRS qq4 I

(a) Tofera sRISFT (b) TSR (C) HITA SRISATRY (d) ST g8 IS
The main type of unemployment in agricultural sector is :

(a) education unemployment (b) under employment

(c) skilled unemployment (d) disguised unemployment

T W i TREREE T 9@ % G ©

(a) &sitg arfior d (b)) T WEHR (c) =A@ o (d) TEshIiar s
Which of the following is traditional source of Rural Credy :

(a) Regional Rural Bank (b) Village money lender

(c) Commercial Bank (d) Co-operative Bank

et 1 3 € : Provverty means ..................

(@) Fs § & (b) s

(c) tfren (d) Sfed & o =qFa9 ITRT &1 A9

(a) To live in debt (b) starvation

(c) iliteracy (d) minimum consumption requirement for life
THeA e 1 el B e

(a) 3R 1 SHferhaH e (b) TeremT =1 ST

(c) e S 9o 4 eifus g (d) TSR GR FHIF Hl FATH e T
Support prized policy means

(a) Maximum price for produce (b) subsidy to farmers

(c) more price than industrial goods d) minimum price by the Gouvt. to the farmers
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24.

25.

=

9Id % yg@ fratd @

(a) =

(b) Tt (c) THm (d) A

Main export of India is :

(a) Tea

(b) Petrol (c) Chemicals (d) Mechinary

= i Yid sAfeRd T -

(@) 9Rd ¥ 1 (b) 9RG & SR

(c) v’a & 3 (d) =9 ¥ =g T

Per capita Income of China is :

(a) Less than India (b) VEqual to India

(c) More than India (d) None of these

: 9. G 26 @ 30 q FrAifrd we A Tw W A @ weA A ™ {1 9 wed 9@
qeon faey § | ¥ SW A : 1x5=5

Instructions : Q. No. 26-30 From the two statements are given. You have choose from the
following options :

(@) A 3R R i @&l 2 R R, A 1 &t Trsdieno 2|
(b) A 3R R <Hi @&t € wg R, A 1 W&l Trsdient &l 2|
(c) A @&t & wg R o =& 21

(d) A 7o € W R @& 2

26.

27.

28.

29.

30.

HU—(A)
#Hroi—-(R)
HU—(A)
HIOT—-(R)

F—-(A)

*HIU—-(R) :
F—-(A)

*IU—-(R) :
F—-(A)

*IU—-(R) :

Teh 3Tehell &A1, THh 81 headl Fifeh ST ohig T=ht &l Hehten ST Tehanl 3 aeai
Y Hefud st &1 wifeTs! wer Sl 2l

siere EyH & fred faum & qeff & gen’ wu 4 1@ faenw & € ot s &
G &9 o y&qa feran s 21

STEYM 1 Uieha1 & 3T=id Hifeleh & U S SAhe ThHAd 63 S 8, 3% WATHH kg
el ST 2

e e Tifeash! &1 eyl SR gl § it g6l MR R qrferss snfefes qeean
1 fagelo 81 Tkl 2|

THTEA g o amn {6 gt STl 1 97 dieet wefaewd & T ot foR sue deiee,
SPrenfireRTor, fashmE qen e fare & weg faenht aftha w9 @ fardlt oft s2w &1 g T&¥
Tl

Yo SATEIEE 8% & G URET | & Fsf &l i 3TdeT WresitTeh STl ol JreffHehan 3 T8
Rl

forva SAMUR e SRE @1 T A= wh qen R-R® yiasen i 9w e 9 e
I W @ o 98 Sritdg SN 9 o SATIR i HIcTE |

1991 H afifeieh TR0 T URRAT J® B & TR Gk AN ol Fewred Herl
foraml =t faxita sTavasaiel w90 w3 3g Fedrl O afbfaE 3t = T ) g
el | W 9SSl 2l

H ThR Syl w1 Afqdl § goifad gt %t Sccswa § gfg wE ’q fha &
fasprg &1 Hifa W oA Bfgd = @ R
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e : v €@ 31 @ 34 9% A Q) wiem Ky g @) 9 Few ¥ frem s g w9 swWfaE

1 x4=4

Instructions : Q. No. 31-34 there aretwo columns. You have to match the correct options of
column—Ito column-II.

31.

32.

33.

34.

Hied-1 (Column 1) Hiad-11 (Column 11)

(i) w=feem (Medion) (a) foraet safa T sifek Bt 2|
The value having maximum frequency

(ii) == (Mean) (b) < Gl godi & =M H SAR! G ¥ 9N I R W el 2
The figure obtained by dividing the sum of all the values by their
number

(iii) gfress (Mode) (c) forger oM goft & w7 o e 2
A value in the middle of the series

(iv) IR H1eA (d) <t gt godi & TUHHS 1 HE T el 2l

(Geometric Mean) A root of the product of all values

e ;v 9§ 35 ® S0 g) o Frefafed g ® tw @ oifue faeew Wel 8 wed @1 a9

gt gt faweat w1 fafga = 3x2=6

Instructions : Q. No. 35 In from passage may be more than one correct answer. You have to

35.

Or,

marks all the correct answers.
Sifereh @t TR & fory swsr @ wifer e Sielt Ster) ot fafaeran &1 qefera Tt €1 wEel qen agsi
% TR ] T T & T 37kt Heerqul qffiet €1 9% fF & fau of Sew 7, 39 gR 9f s g
Bl € S fop el et s wWEne € Sifaes ©dl, dedr, Wk ad ey Wl o IR Sl 2l
i T HBE ST F1 TR B W TR THECH TSl q-STeA a1 A § wen s g1 6 &
T AEIE T AT S e o oA eifeh e €1 et et e et TuRnTd Wit shi g § gaieron
o foru stfrer sgat €1 S wfeRol Heel Tad o€l THEN S Bl WU 1§ SR Sk Bt § Sl b
AN WRA Bl 1 qeil § agd %H el 2l
I oo ® SF-9 THEE W & fo el e §
(a) FEEIFAEE  (b) HEH HAERRES (c) wafiew e fgdad (d) ST o 9 & &l
. g %t qomelt § S &1 STET =Faq e @

(a) Worma @t (b) Siferss i (c) g (d) =19 & *E T
M. WreAyR T W@ @ w1 e &l © -

(a) Stfee 5 (b) FHT FT (c) R (d) T & *E &
|. il & Wa € :

(a) ®aa WAfHE (b)) Faw fgdas (c) et = g (d) 3% ¥ 9 & &l

The sources of deta are

(a) Primary only (b) Secondary only  (c) Primary or Secondary (d) None of the above
[. 9Ra o S94E &l U & I € ¢

(a) foren &1 yER (b) UfaR faie wrfEA(c) i fawm (d) =9 & =g T
Remedies of population problemin India s :

(a) Spread of education (b) Family planning programme

(c) Economic development (d) None of the alone
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II1. S9iX |1&7 skt 7oA & foU ani=r gH =ifeu .

(a) eTaas (b) 3TEH (c) 9= (d) = & a1 S Hehall
For the calculation of arithmetic mean, the class-interval should be :
(a) exclusive (b) unequal (c) Equal (d) Nothing can be said

SECTION-II

Ar-a=qfrss 9v9 (NON-OBJETIVE QUESTIONS)

e STNA 9¥A (Short Answer questions) :
e : T WE 1 ¥ 10 7% Y I U T W S B 7w 1 B fag &9 o fuifa @

3x10=30
1. TifeTeht &1 & St &1 auH &
State the main limitation of statistics.
2. Aferel w1 aftaren <) Aiehsl & q&F Wid #iH W € ?
Define data what are the main sources of data ?
3. stfmel & afiertor W o A ® ?
What is meant by classification of data.
4. 8 TS 1 SE W 8, 16, 24, 32, 40, 48, 56 AU 65 TIY | FHR WeA A1 H
Pocket expenditure of 8 students is respectively :
Rs. 8, 16, 24, 32, 40, 48, 56 and 64. Find out arithmetic mean.
5. gfergor st aftaren < |
Define Disperson.
6. HAAdl & IHI ARA STdae & 3| qea fowwarsti wt adre |
State the three main features of Indian economy at the time of Independence.
7. GRS foREM 1 HE R S IS § 2
Why does Indian formert need credit ?
8. ‘ol aRA 1 srefeeen 1 dg w1 B2l ?17 TH HeH @ g &
"Agriculture is the backbone of Indian economy". Substantiate this statement.
9. IR | foRel =R &t 9 fowivaed & s |
Give the three features of India's Foreign Trade.
10. ST w1 e ® 2
What is meant by Infrastructure.
<rsf s98= 999 (Long Answer questions) :
o : T W= 11 ® 15 & & TOF B: A% B T 5x 6 =30

11.

GifeTeh e W 39 1 Hed €2 WieA W - A o7 e ey 2
What is statistical average ? What are the desirable properties for an average to possess ?
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12.

13.

14.

15.

Or,
=1 99% #en § wfegeRt 9@ & (Calculate from the following series) :

ElisIE 0-10| 10-20 | 20-30| 30-40 | 40-50| 50-60| 60-70
BET & e o | 15 25 32 56| 78 80 70

et Sl 1 sMgfa sTa-Ta g1 weiia &Y .
Represent the following by Histogram :

b : 0-10 | 10-20 | 20-30 | 30-40 | 40-50 [ 50-60 | 60-70 | 70-80 | 80-90 | 90-100
DT BT To: 8 15 30 36 26 20 18 16 12 10
Or,

= sifergl = W foprem qen To TS @

Find standerd deviation and its co-efficient from the following data :

Ay 0-10 10-20 20-30 30-40 40-50 50-60 60-70 70-80

Hferadl 1 Ho 15 15 23 22 25 10 5 10

Thi® 1T ? THH! ST qe e w1 9

What is an Index Number ? Point out its utility and limitations.
Or,

Fife-srm fafr g X qan Y & &= He-day TN A

Find out the coefficient of correlation between X and Y by the method of rank differences :

X:20 22 24 25 30 32 28 21 26 35

Y: 16 15 20 21 19 18 22 24 33 25

WAAd o T ORAE stefae & fUseud & U@ wRUl @ AT &l

Discuss the principal cause of backwardness of Indian economy at the time of Independence.
Or,

srefeTercenn W SveteRol ¥ o AR ® 2 THent qed fasivaiet i «and|

What do you understand by Globalisation ?

Give its main features.

IR ¥ SIS & RN 1 90 | 39 THE & GHEE & fau 3fea gemes|

What are the causes of unemployment in India ? suggest suitable measures to solve the problem
of unemployment.

Or,

9 AT UG 1 Ueh GHM Therdd o1 € ?
What are the common successes shared by India and Pakistan ?
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AN SWER

a-{-—c\[,\f‘:nz g¥9 (OBJETIVE QLEE)/NS)/

1. (B) 2. (D) 3. (B) 4. (A) 5. (C)
6. (B) 7. (A 8. (A 9. (A 10. (A)
11. (A) 12. (B) 13. (A) 14. (D) 15. (B)
16. (A) 17. (C) 18. (B) 19. (D) 20. (D)
21. (B) 22. (D) 23. (D) 24. (A) 25. (C)
26. (C) 27. (D) 28. (A) 29. (A) 30. (C)
31. (C) 32. (B) 33. (A) 34. (D)

35.1.(C) II.(B), Il (A), or, I.(aorb), II.(a, b, c), lll. (a,b,c)
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MODEL SET—-1V

SECTION-I

FE¥qfass 939 (OBJETIVE QUESTIONS)

Y : Yo Fo 1 @ 25 0F @ WEA W 9R fawew Ky v ¥, e @t W@ @ | we fawew #

Sw aifeent § fafgq w0 1 x 25 = 25

Instruction : Q. No. 1to 25 : In the following questions there are only one correct answer.

L.

You have to choose that correct answer.
wifedent (statistics) :
(a) T el € (is an art) (b) T fa=m 2 (is a science)
(c) fa=i @R sen <A € (is both a science and art)  (d) 39 ® &g =&l (none of the aboves)
" gifieTsht O o TR 21 T8 e e W @ e R
"Statistics is the science of counting”. Whose statement is this aming :
(b) a3 (Bowley) (b) ®vE@ (Kendal)
(c) =ifemed (Buddington) (d) T (King)
Tiferh = & 29 e &t fafee fovd s €
The objects and scope of statistical investigation are decided :
(a)sTihgl & Hehe & Td (before the compitation of data)
(b) 3tiwel & HeheH & 1% (after the compilation of dta)
(c) el & Tehed & = H (during the compilation of data)
(d) >+t &l (never)
fgdiaer @Her & Gid € : (sources of data are) :
(a) 32 & fau Tderr ¥ W 3tiwe (Data attained by survey for the purpose)
(b) =afeama Taevr gR1 Wehford ¥He (data obtained by personal investigation)
(c) frel ®H & 3@’ & T&Es (production records of a firm)
(d) =79 & |t (all of these)
T 3urESt 90 H @ In an exclusive series :
(a) = =t SH e W fa=m fem=n s © (both class limits are considerd)
(b) 5wt im =i T fan wmar @ (the upper limit is excluded )
(c) =T et =i ekl Tz s ® (npyj ;o,0yd str rev;ifrf)
(d) Trereft i =1 feprer gz S € (the lower limit is excluded)
fgdtar =Iqefe 1 3 ™ 2 : (The second name of second quarterly is :
(a) wifegsR (median) (b) sk (mode)
(c) W= (mean) (d) =79 ¥ &E T& (none of these)
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7. GH® 9oft 1 9 U God S HUE H A gUE 96 H sied §

The value of the variable which devides the group in to now equal parts is called :

(a) 71ea (Mean) (b) wfEeht

(c) 9frses (mode) (d) 9am fa=re™ (standard deviation)
8. ot fR & onl-araet st feorfa & erafertor 1 Suge A9 ©

In case of open class intervals, more suitable measurement of dispersion is :

(a) 159 (means) (b) \rg fo=re@ (standard deversion)

(c) =g fa=e™ (Quartle deviasion) (d) =& fe=re™ (mean deviasion)
9. A1 oo =Aan e €

Mean deviasion isminimum about :

(@) Wr=T § (mean) (b) wifEesRT | (median)

(c) sg@® ¥ (mode) (d) 9o =qefs ¥ (first quartely)
10. et e He-dey une wt wEd @

The limits of Karl Pearson's correlation coefficient are :

(@) +1 (b)£2

(c)+3 (d) 3™ ¥ 1 &l (none of these)
11. = sAiwel ¥ sgos T0d ¢

Locate mode from the following data :
69, 10, 12, 18, 19, 23, 28, 24, 28, 23, 37, 48, 23, 49, 60
12. A Ao’ gl 121 991 99 GEhih 144 8l fHYR gerhish =0 -

If Laspeyre's index number is 121 and paashe's index number is 144, then Fisher's index
number is :

(a) 137.7 (b) 321 (c) 321 (d) 132
13.  hife He-dse 7ol B YA T :
The formula for the rank correlation coefficient is :

6> d* 6y d?
@ 2t 2

b) 1-
N ) 1- =

)

6> d’ p 1-6) d*
N? -1 @ N(N? -1)

14. 3EQ duady A | e fean S e

During Five Year Plan thrust was upon :

(c)1-

(@) =f (b) T3t (Education)

(c) 9t 3= (Heavy Industry) (d) af@r =M (Family planning)
15. foer gyt " fraio sifafwm oia g -

(@) 1956 (b) 1960 (c) 1962 (d) 1966
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16.

17.

18.

19.

20.

21.

qRA ¥ FSiieRtor &1 Y& g8

Privatisation starts in India in :

(@) 1980 (b) 1985 (c) 1991 (d) 1997
IRA H HEHIRAl ST_Ie Hi JESTA T8 ¢

In India Co-operative movement started in :

(@) 1950 (c) 1905 (b) 1930 (d) 1960
119t @ SRS W % feaw e fafor o6 oo ©

The target to crease jobs to remove unemployment in eleventh plan is :

(a) 50 Thfea= (b) 90 fhfeTa= (c) 70 Tafer== (d) 60 TaferEA
foBR o St ge w1 =g gal :

Jamindari system and in Bihar in :

(a) 1st Jan. 1950 (b) 1st March 1952 (c) 1st April 1956 (d) 1st April 1962
qRd ® T& : (Poverty in India has)

(a) 9& € (increased) (b) =& ® (Decreased)

(c) feer 2 (Constant) (d) T\ & T (finished)

it fafafuseor 1 @1ed € ¢ (Agricultural diversification means) :

(a) =t @t (scientific farming) (b) 2 TR & H (large scale farming)

(c) wEIar %Kf" (co-operative farming)
(d) fafarer yebr & diell we e o1 Wk € i | Sered (production of variety of grains and plants on

the same land)

22.

23.

24.

25.

gRd @1 9fd =Afe ™

(a) mfe=m ¥ %9 (less than Pakistan) (b) wfFe™ & 21fs (more than Pakistan)
(c) WfREm & =&k (Equal to Pakistan) (d) SugE | ¥ *E Ei(none of the above)
IRd % Y@ A 2 : (Main Import of Indiais) :

(a) =1 @@t (lron ore) (b) == (machinary)

(c) &®I (Cpffee) (d) 319% (Mica)

TSl & TR W 9 ©

Non-conventional sources of energy :

(@) IR w1 (solar Energy) (b) e (coal)

(c) Yafer™m (petrolium) (d) fastelt (electricity)

TG A H oFey ©

The Period of 11th Plan is :

(@) 1 21¥a 2005 - 31 |E 2010 (b) 1 318 2006 | 2011
(c) 1 318 2007 - 31 | 2012 (d) T 9 #E T
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e : 9. 6 26 @ 30 o fr=fRa we W TRE YR W @ weH A T R 9 wed B @
qen fasey # /@ ¥ SW W : 1x5=5

Instructions : Q. No. 26-30 From the two statements are given. You have choose from the
following options :

(@) A 3R R <Al @& ® 3R R, A =1 Het SR 2|
(b) A @R R < @&l @ g R, A 1 9&t st &l 21
(c) A W&t g wg R o =& 21

(d) A 7o € W R @&l 2

26, WU : (A): fredt off w1 & sfEifier famm & fou ww sfaa qen ynfasfiar sfenfies ifs =t
YT Bl B
FR : (R): GRA A Tl & v €1 1948 | G nfdier foshra & forw yq@ streifies
Hifq =1 fmior feman 21
27.  ®YA : (A): fefa @ ey B, S, Tarees qo sEehyTerdl & <Aad A Savashasti it Wit
T A
F : (R): e T 3T eTueRl 9= St | Steren W & g on Bl =l St 2l
28.  HYA : (A): <fer Aferss wife ot e @R o T foran ST geRan, TafeT SaaE 9 SAfF
et sweefEl w R W © € S Shifafi, farom ud e staeiaRr qen ve
o ol g €l
FT : (R): wfaen ferdt cafed T emar it € SR U &1l % YR W IE 191 U GiTe i e
T Hehell B
20. WA : (A): Tifegert & SEE 54 9t 7 % T I Fl ol ¢ o favg o 50 ge uwhte
FTT e 2
FR : (R): SrorT fafy o fafy @ foem ot erfgum @ afua gau o1 SHEE #1 9ois 7
% He ¥ Siehe THA oy W € a0 s MR R Frehy bt S €
30. WYA : (A): arfefer den Ao 3iihe U T B 2l

FR : (R): T gt fag 0 T Yo & F9 SR 9wl SR T S 21 OX 31el R faget i fa
e ¥ R 3R qen OY @18l W A ¥ FW i AR B 2

e : 7w §Em 31 @ 34 9% A ) wiem XY 7Y ®) 4 Hiew § free s g w9 sW e
1x4=4

Instructions : Q. No. 31-34 there are two columns. You have to match the correct options of
column—Ito column-II.

HiaH-1 (Column 1) Hiad-I1 (Column II)
31, sf¥e gurR (Economic Reform) (a) 1995
32.  9em SNt |ifa (First Industrial Policy) (b) 1991
33.  fava =R 9wed (World Trade Organisation) (b) 1996
34. 72 foenm Fifd (New Education Policy) (c) 1948
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e 9. | 35 & i frefafed et ® w9 AAfus fase 9dt 8 w@a ¥ o9 9t wet

faweat = fafga =2 3x2=6

Instructions : Q. No. 35In there may be more than one correct answer. You have to marks all the

35.

Or,

correct answers.

Yol H HeEd § AN § So-TR & R &1 i 9 W g ¢ Sied-wR A st ardfoh
T W AR F B G TR P T R AR Hifgw A @ Sedl 7 W adfas o A&l ggdl, 99 Sio
fefe @ &% S | @l 1 Sita-&R TR S @1 5@ fawda sida & & R 9 Sea-&) S0 81 S
B 37: Gohich Idfoh A H URed & 9R H SHARI 30 € 3R T % SMUR W WGy qe Aiferhl &
7 ot 7 far S 2

forelt off 31 & e fafe o o & sroren =2 €, gqent SR S afe o geehish o fierd 21
TH SRR 12l GErl & SR W & daaql e wwi | uRedd (gfg @1 ) fhen s 1 eraua @ gue
oo ST @ o woRd R % GHEE gR arfas 3T Sl TR TEn s

| Siad ®R & FuRo &1 ouR g @

(a) Fmd TR ¥ uRadq (b) 3T R H gfs

(c) @M &I Srfasd A (d) T s H gfg
. ardfaes md ¥ uRedd @i SHe e €

(2) e (b) TR I () ¥ g (d) 3o # g
. Sfte &R o qRed 1 st g €

(a) W5 e (b) goreHieh () = Ffs (d) 71 faemifa
| Wl Tl 1 ThT w At €

(a) T AT ST (b) 319t HiftEes ST

(c) T HaRamMIel g1 SRl Wi (d) Swf=a asft

The methods of collecting primary data is :

(a) Direct personal investigation (b) Indirect oral investigation

(c) Information through local correspondence (d) None of the above
. RN 1 gerhih Hqe Il B :

(a) HHA IhTEAl THET0T (b) T JchT=IT THeT0T

(c) S e (d) S & @ HE T

Fishers Index Number satisfies :

(a) Time Reversal test (b) Domen Test

(c) Both and b (d) none of the above

Il T8 9 %A e S & HEHT ¥

Which of the following is programme for powerties alleviation :
(a) SROP (b) NREP (c) Jawahar Rojgar Yojna (d)All

[ECO.-27 ]



SECTION-II

Ar-a=qfrss 9v9 (NON-OBJETIVE QUESTIONS)

e ST 9¥A (Short Answer questions) :
e : T WEw 1 ¥ 10 T Y I U T W FiE B 7w 7 B fag &9 o fuifa @

10.

3x10=30
31 H Wifead! & Hed W YR S|
Write the important of statistics in Economics.
meAfie qon fgdias Tiwgl & Wid & iR T Hi
Distinguish between primary and secondary source of data.
wiferwia gee @ 1 afqgE § 2 wifersa geeet & W 9aqd)
What ismeant by statistical series ? Give the name of statistical series.
=1 aiferset | 126 wan & 9 faenfefi & stefomes & ura o fEu wu 81 sAe! AfemRt T A1

The following series show the marks in Economics of 9 students of class Xll. Find the Median
Marks.

% : 15, 12, 10, 21, 18, 22, 33, 35, 16

Te-HreY ol # qY g 2

What is ment by correlation.

AT & ST W A A 2

What is meant by liiberalisation of the economics ?
qRd | ol & &I Uil i e H

Discuss the main sources of energy in India.

1991 1 3frEifites =ifd & g7 Sevd M ¢ 2

What are the principal objectives of the Industrial policy of 1991 ?
e ot o | e e € 2

What is meant by human capital formation.

afifeler GURT w1 g fomivad = € 2

When are the main feature of economics reforms ?

<rsf s98= 999 (Long Answer questions) :

iy E& 11 § 15 % & @S B: 3% ® el 5x 6 = 30

11.

Frefofea sfiel @ Hifeast 1 JEm i §T AeA foee qe1 S+ Tl 1 e 2
Find our man-various from median and their coefficient from the following series:

b ¢ 0-10 10-20 20-30 30-40 40-50 50-60

A 15 19 14 20 18 14

[ECO.-28 ]



12.

13.

14.

15.

Or,
arafeRTor w1 o @red 2 erufeRtor Wi sy fafw= fafuat wi-w € 2
What is meant by dispersion ? What are the various methods of measuring disperson?

7= Tl 9 TR W A

Ak ( FH) : 10 20 30 40 50 60 70 80 90
ferenferai &1 Ho: 20 44 76 104 126 144 182 192 200
Or,

3ma o qen egfa Tge & 1 skl i gEEd ¥ T

Construct Histogram and Frequency polygon from the following data.

b : 0-10 | 10-20 [ 20-30 | 30-40 | 40-50 [ 50-60 | 60-70 [ 70-80

forenferai =1 Ho . 10 16 20 20 22 15 8 5

Describe the main problems which are found in the construction of Index number of prices.
HHdl & FEehihl ® THO § W HiSAEAT Al B1 AR A0 H

Or,
11 sifshel &1 eI ¥ #ie fUgde e-deH e J[

Calculate Karl Pearson's correlation coefficient from the following data.

X: 11 10 9 8 7 6 5
Y: 20 18 12 8 10 5 4

aRd § anfeler fasH i Uil qen AHEaed 1 9o FHil

Describe the achievements and faliures of Economic planning in India.

Or,
Id § %t & et & SWEE SR St AR w1
Explain the causes responsible for agricultural backwardness in India.

IRA 1 T & wRON 1 Foi wY| Fefar ) g & qaeE % foe gge <)
Or,
it fafaefirtor @ a1 qued € 2 SHh! Evdhdal # § 2

What do you mean by agricultural diversification ? Why it is required ?

[ECO.-29 ]




AN SWER

@ g9 (OBJETIVE QL@IS)/

1. (C) 2. (A) 3. (A) 4. (C) 5. (B)
6. (A 7. (B) 8. (C) 9. (B) 10. (A
11. (B) 12. (D) 13. (B) 14. (C) 15. (C)
16. (C) 17. (B) 18. (C) 19. (C) 20. (B)
21. (D) 22. (B) 23. (B) 24. (A) 25. (C)
26. (A) 27. (B) 28. (B) 29. (B) 30. (A
31. (B) 32. (D) 33. (A) 34. (C)

35.1.(C), II.(A), Il.(B), Or, I.(a b,c), IIl.(@a&b), Il.(a,b&c)

[ECO.-30 ]




OMR ANSWER SHEET OMR 3<IX Y3 OMR NO.
&I 2009
Instructions : frdw
1. All entries should be confined to the area provided. 1. 9+ gfafesl A T e 9% & diftd @ |
2. In the OMR Answer Sheet the Question Nos. progress . .
from top to bottomn. 2. OMRSW 73 § W H&A HH: TR § = 1 3§ T 2
3. For marking answers, use BLACK/BLUE BALL POINT 3. SW &ad Hl/A ot e 91 gR fafgd &Y
PEN ONLY. . :
4. Mark your Roll No. Roll Code No. Name of Exam. Centre 4. s I@ fm Eﬁg >, @gﬂ %% F T OMRI™ ™ 3
in the boxes/space provided in the OMR Answer Sheet. e reft/eormdt e fere |
5. Fill in your Name, Signature, Subject, Date of Exam, in 5. OMR 3T t3 ¥ fA4ifd To W o791 =M, g&aer, fowe ade
the space provided in the OMR Answer Sheet. 1 fe 7 R
6. Mark your Answer by darkening the CIRCLE completely,
like this. 6. T IW & W H P Y § W W gL Fafed & |
Correct Method Wrong Methods T fafy e fafeat
7. [S)ﬁene?.t fold or make any stray marks in the OMR Answer 7. OMR = T 1 7 T a1 38 7 <iaf-aet Fog 7 @ |
8.  If you do not follow the instructions given above, it may be 8. TR && M fawn =1 urer 7 fopu < it fearfa o Sw w1
difficult to evaluate the Answer Sheet. Any resultant loss el T ST e | U W S b gfte | forelt of wer
on the above account i.e. not following the instructions -
completely shall be of the candidates only. RALEL e e 2 |
1. Name (in BLOCK letters) / 7™ (8T & 2R ®) 7. Roll Code/ I@ & 7. Roll Number/ I& H0
2. Date of Exam / wien =i faf © © © O © ©O© 0 O
N | ® ® ® O ® ® ® O
| | @ @ @ © @ @ @ ©
4. Name of the Exam Centre / T{a &= &1 M ®@ & 60 O ® 0 6 ©
| @ ® ® @® @ ® ® @®
5. Full Signature of Candidate / wdaneff =1 qui g&mar ® & 6 6 ® ® 66 6
| | ® ® ® ® ® ® ® ®
6. Invigilator's Signature / fie 1 g&ier @ @ @ @ @ © © ©
I | © @ ® ® ©@ 9 © ©
For answering darken the circles given below / 3T % feu = ifeha =R 1 wg &Y | 27 B © ©
L] ® © ® 14| ® © ® 28. |® © ®
2| ® © © 15| ® © © 20. |® © ®
.| ® © © 16| ® © © 30. @ © ©
41 ® © © 7. | ® © © 3. |® © ©
5.| ® © © 18| ® © © 2. |® © ©
6.| ® © © 9. ® © © 3. |® © ®
Tl ® ® © O 20.l® ® © © . |® ® © ©
8| ® © © 21 | ® © © 35.1. |@® © ®
9| ® © © 2. | ® © © I |® © ©
10.| ® © © 23. | ® © © o) © ©
1| ® © © 24. | ® © © ol |® © ©
2. ® © © 5. | ® © O I |® © O
13.| ® © O 26.| ® © @ ey} © ©
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MODEL PAPER

PhEIT—XI1

SgfHar (ENTREPRENEURSHIP)
g : 3 " + 15 fame (sifafm) | [ quif® : 70
Time : 3 Hrs. + 15 Minute (Extra)] [Total Marks : 70
| f_3 (General Instructions) :
® it Wy e ¥ (All Questions are compulsory)

® o SW % oy foRet @i w1 ket @l e (There is No negative marking for any wrong answer.)
® TY-W ¥ @Wuel ¥ © | (Questions are in two sections)

& %
| 3Tk (Total Marks) — 28
| I T &AT (Total No. of Questions) - 25
B s NN NI
Gtk b ol it i A
| 3k (Total Marks) — 42
oY SAAA I (Short Answer type) — 08 (9@ 3 3THh)
<ref 3T 999 (Long Answer type) — 03 (948F 6 3A®H)
4. %o 96 SO qel | et fosheu off KU e € | 31y 5% weA  Sucisy foshedl § ® fRel wh Wy Wi

FIWT |
(There are internal options is some of the long answer type questions. In such questions you have to answer
any one of the alternative.)

5. ForEed At UEA h1 IR ST & e H <
(Answer should be in your own language.)

6. e % SR ool Hied R W e 1 o W (T HieEe, U SeAf) ST SR Hee et |
(No electronic gadgets like calculator, call phone, pager are allowed during exam.)

7. TS Tl 1 IW R T 3T o AR Wie H IUYH fashey 1 et A Hd W W W WE WA T |
(3T & fau afg 3w () & @ i A Fel = 9 W fafgg =
(The answer of objective type question is to be given on supplied OMR sheet by completely darking the
appropriate answer option. For exmple if answer is (c) the you should fill it as shown by blue/black pen.

(@) (b) (@) (d)

aaa
[ Entp— 1]



MODEL SET-—-I

SECTION-I

FEqfass 939 (OBJETIVE QUESTIONS) [28 Mark

RO i % H 12227 & 99 A 9K fageg R mu @, il @ © ot © | w fawew @1

gqa S arfas 7 fafeq X 1

1x22=22

Instruction : Q. No. 1to 22 : In the following questions there are only one correct answer.

You have to choose that correct answer.

1. 9Rd ¥ g AN BT goidd BT 56—

(a) Ue®H (REIERIED (ORIEEIR]

In Indian registration of small industries is:

(a) Voluntary (b) Necessary (c) Compulsory
2. IR T # Aftaford € —

(@) Pl AT B AT (b) S1H B AT (c) 2T & AT

Fixed cost includes:

(a) Cost of Raw material (b) Cost of labour (c) Cost of power
3. SYFTHIBRYT AP HRaT -

(a) SIS (b) ufshar (c) &ar

Modernisation improves:

(a) Products (b) Process (c) Capacity
4. U gRATST Hefera w8 8 § —

(a) TaYac (b) euT wfRT (c) SiRaw

A project is not concerned with :

(a) Innovation (b) Vision (c) Risk
5. U&H HA & 99 & UgI 9d 8-

(a) 3fer (b) U—u=x (c) 9& T

The primary source of finance to a company is:

(a) Shares (b) Debentures (c) Bank loan
6.  MIF@IHRYT f[AH™T FHRAT 7§ —

(a) STTRT BT (b) ufrar @ (c) &Har &l

Modernisation improves:

(a) Products (b) Processes (c) Capacity

[ Entp— 2]

(d) 379 9 ®Ig TE

(d) None of these

(d) PRET @RI
(d) Factory rent

(d) e

(d) Workers

(d) gorTsTer

(d) Creativity

(d) SuR 5y

(d) Credit purchases
(d) =it B

(d) Workers



7. T s D] Bl WIT B & oI g amazgeddr gl 2—

(@) g&d Yo (b) 4 @1 a1 WS

(c) g AEq wfa (d) smfad 7=

To establish a new factory, we need:

(a) Large capital (b) Big plot of land (c) Adequate manpower (d) Imported machines
8. TP Fis IR o—

(a) fassar (b) ISR (c) aRrg afd (d) wrg 9

A brand ambassador is :

(a) Seller (b) Producer (c) Famious person (d) Shine board
9. WU -

(a) 3rgRIERT 0T (b) gofa: RfEa o (c) 3ferd: g o (d) ST & BIg &

Debentures are:

(a) Unsecured borrowings (b) Fully secured borrowings
(c) Partly secured borrowings (d) None of these
10. gRacefiet STal # enfiet I8ar § —
(a) e fawman (b) &% &1 a4 () fasar W BfeE (d) SWRIad a4
Variable cost includes:
(a) Gowdon rent (b) Manager’s salary  (c) Commission to sellers (d) All the above

iy : W WEw 11 ® 15 7% Frefafes e 9 @ wod &Ky T E weE-1 @ wem-1l @ R
T HUEl & YR W T SW I
Instructions : Q. No. 11to 15 In the following questions there are two statements. Statement-

| follows Statements-Il. You have to go through these statements and mark your
answer from the given questions.)

(a) I M1 BT FE € TAT HA || B | &) FEl AR ¢ |
If the both statements are correct and statement -1l is the correct explanation of statement- |.
(b) I THT BT LT § R HUF || BT | &) FET IRAT TET B |
If both statements are correct but statement-Il is not the correct explanation of statement-I.
(C) P | W& & IR HU || T ¢ |
Statement-| is correct but statement-Il is wrong.
(d) HAF | TTeAd & U] HA || LT 2 |
Statement-| is wrong but statement-Il is correct.
11. U | 7Y SN ARG AferaRe R ¥R B |
FU— || Y ST I WHR Bl 97 aq 2 |
Statement- . Small industries are burden on Indian economy.
Statement- Il. Small industries is the subject of state government.
12. UF— | AT FATST BT Th 91T B |
DU || SR aATT BT U TS T 2 |
Statement-I. Business is a part of society.
Statement- Il. Risk is an essential element of business.

[ Entp— 3]



13. HUF— | ST H Al Had g B |
FHAA— || TR el fdmra # aed &1 oI5 e 981 8l 2
Statement- |. Entrepreneur is the captain in the industry.
Statement- Il. Entrepreneur has no rule in the industrial development of India.
14, P | IRT H AT OB BRIHA H gig B e ¢ |
FHIF— || IRA # e faamr &1 9w Isad § |

Statement- | In India, entrepreneur development programme has been need of improvement.
Statement- II. The future of entrepreneurial in India is bright.
15. - | FaARE Afemdr Faarl @ Afdd FaeR B SR FHRar 2|

HUF— || 3BT 31 B, AR & Afdd FaeR Bl Fad B &1 RIg |

Statement- |. Business ethics refers to moral behaviour on the part of businessmen.
Statement- Il. It means the principles which guide and govern the moral conduct of
businessmen.

e ;. UvH WEw 16 ¥ 18 % @elt TWIM Hi IUYH dehfeqd SW & W |

Instructions : Q. No. 16 to 18 In *Fill in the blanks with appropriate alternative answer.
16. Ud AR HIFEIR 3R .. ST 8 B g |

(@) ydgdh (b) & (c) Fraw® (d) sar

An entrepreneur is both aworked and ................

(a) Manager (b) Owner (c) Investor (d) Buyer
17. e H qou o gfg BT M © AMAD o

(a) ™ (b) wfay (OKER (d) faam

Adding value to the organization means ....................

(a) Profit (b) Goodwill (c) Wage (d) Ideas
18. % URASH SWART & o

(a) ST (b) #ATfeT (c) d= (d) STHTaT

A project report is usefultothe ...................

(a) Entrepreneur (b) Owner (c) Banker (d) Consumer

o ;. yvA wEw 19 ¥ 22 9% feAfafea Rt wd iomm w1 e =1

Instructions : Q. No. 19 to 22 In *Match the following causes and effects.

Causes (®Ro) Effects (4m9)
19.  PIY P YA (@) @M @ Gl g A
(Inadequacy of funds) (Reduced margin of profit.)
20. faafeqa faofy (b) I g8 fa@r WA
(Delayed decisions.) (Decreased selling price)
21, UId &I ITaaR ANTd (c) vag®g favq Rerfd
(Higher cost of procurement ) (Managerial crisis)
22.  IAf¥® goIR Uil (d) A B DI SRFHAT
(Excessive market competition) (Inability to honour commitments.)

[ Entp— 4]



o1 : 9va dE&w 23 § 25 a9 Frefafed SeNvil BT egge Y 9l 9N < | 2x3=6

Instructions : Q. No. 23 to 25 In Read the passage carefully and answer the following :

UCT B GRET HRAT & Sl 39 Ud (a9 DI IuTed BIdll & T 59 Aee H BRI B, UeT
A= 1970 B ST 3 1972 | <Y fobar 11, W1 U aTfoiies Hed & A1l FHIfd & Rifds I8 e
ANABRT BT THE BT ATBR USTH BT T T8 U 3qdsit Ffd & o gwdaiaiRd fbar 5 dadr g, =1
ST AT 2, JAI fhar S Al 2, O oRe gar Jead= Frafd &l YART fha1 SIIdm & | sifSeier wd=
Y 37U I DI ATVSABRYN T&l BRAT & | I U USTT Pl GO Bl dol & o™ IedTe & I gd
JOR & AT SUTe ¢ |

Patents are legal protection available to inventors and involved in the invention. The statute
inforce today is the patent Act, 1970 which came into force in April 1972. All patents are assets with
commercial value because they provide exclusive rights of ownership to patent-holders, their heirs
and assignees. Patents are exclusive property right that can be sold, transferred, willed, licensed
or used as collateral, like other valuable assets. Most independent inventors do not commercialise
their inventions. They sell or license their patents to others who have the resources to develop
products and commercial markets.

23.  U®H U< &

() DI 3MABR (b) IHIRT® IRBR  (¢) IoHfad JRHR  (d) AT AfTHR

A patent is a—

(a) Legal right (b) Social right (c) Political right (d) Human right
24,  UCTT IMUPHR AN gAT —

(a) 1970 (b) 1971 (c) 1972 (d) 1973

Patent right Act came into existence?

(a) 1970 (b) 1971 (c) 1972 (d) 1973
25. U 99T Ol AHdT & —

(a) STEH (b) frem AT (c) fpam (d) B=

Patent can be sold to—

(a) Producer (b) Film maker (c) Farmer (d) Student

SECTION-II

A-aEqfis3 939 (NON-OBJETIVE QUESTIONS) [42 Mark

e ST 9¥A (Short Answer questions) :
e Y WEA 1 @ 11 7% O S W 1 T Wi B Tow T @ fau @ o fauifa €
11 x2=22
Instruction: Q. No. 1to 11 are Short Answer Type Questions. Every question is of 2 marks each.
1. ol I g 87
Who is an entrepreneur?
2. AT &) fayydr & gdrd |

State the essentials of entrepreneurship.

[ Entp— 5]



3. Sefidr faerT sRigH FIT 87
What is entrepreneurial development programme?

4,  IJ<YH B ®Y H ITH DI YADBT BT 9dTd |
State the role of entrepreneur as an innovator.
5. g Sl @l el IR faeanei & aadrd |
State any four features of small industries.
6. N fovar A 3y wIT AHIRT ®?
What do you mean by economic activity?
7. A9ge @ 2?
What is innovation?
8. T IR U& UfFar 87
Is motivation a process?
9. TP 3 AN & AR 0T 9T |

State any four qualities of a good leader?

10. yfougicas fadas i sase 27

Why competitive analysis is essential?
11. e srfafees @ 87

What is patent law?

<rsf 8= 999 (Long Answer questions) :
e : 7 e 12 ¥ 15 7% SWE T R 9 B & o v @ fag uie e fruifa €
4x5=20
Instruction : Q. No. 12-15 are of Long Answer Type Question. Every question are of 5 marks each.
12. yfoRugicrsd fadges # el & fha—fde aral &1 sae @ anfey?
What factors should an entrepreneur keep in mind while analysing the competitors?
Or,
AR forrg T aRYIT BN sHd R 3T 27
Define trade-marks. What are its objectives
13. HiRg® 14 falaq FaR # sfaR 9ard?
Distinguish between verbal and written communication.
Or,
AT ST ofd &, R 81 SId | 39 $HUH &7 qui I |
Leaders are born not made. Explain this statement.
14,  IEAIS SRIH & BRI b IRAT BT |

Discuss the reasons of business risk?

Or,
FagoT BT Fef Td faearall B qar |

Briefly describe the various process of motivation?

[ Entp— 6]



15. I UL UE SRR H SR 9 |
Distinguish between business, profession and employment.
Or
TY—IENI | 37T T FAS 57 39D YG-I [ARIARI BT T |

What do you mean by small industries? Discuss its main features.

ANSWER

SECTION-I

1. (B) 2. (D) 3.(B) 4.(C)
6. (B) 7.(A) 8. (C) 9. (D)
11. (D) 12. (B) 13. (C) 14.(B)
16. (B), (C) 17. (B), (A) 18. (A), (B) 19. (D)
21. (A) 22. (B) 23.(A) 24. (C)

- @ g9 (OBJETIVE Q@ES)/

5. (A)

10. (D)

15. (A)

20. (C)

25. (A)

[ Entp— 7]




MODEL SET-—-11

SECTION-I

FEqfass 939 (OBJETIVE QUESTIONS) [28 Mark

RO i % 12227 & 99 A 9K fageg R mu @, il @ ©= ot © | 9 fawew &1

gqa S arfas 7 fafgq &2 1 1x22=22

Instruction : Q. No. 1to 22 : In the following questions there are only one correct answer.

1.

You have to choose that correct answer.
= ¥ § ®F JaER # o T8 § 2

(a) HaHae® fo=R & Jga™ (b) a1 feA

(c) ufErs gfqasa w1 fmfor (d) =78 ¥ #E &l

Which of the following is not a stage of innovation?

(a) Identification of business idea (b) Business planning

(c) Formation of Project report (d) None of these

qRr et foeshmE weer srefted § 2

(a) 3TEHIEI] (b) g (c) T feeeft (d) ==
Entrepreneurial Development Institute of India (EDIT) is Situated in

(a) Ahmadabad (b) Mumbai (c) New Delhi (d) Chennai

oy aeiR | fore qered w1 seHE e § 2

() arforferes (b) HferTa (c) ST=nfies (d) 399 ¥ #E T
Which product deals with under primary market?

(a) Commercial (b) Agricultural (c) Industrial (d) None of these
Sa T 39 AURN T el 9 GEvo i 2 a 39 w8 S 7 2

CQEL (b) Heire (c) fersrr) (d) 39 9 =g T
When a superious communicate his subordinate then that is called?

(a) Order (b) Advise (c) Complaints (d) None of these
srgraa Sitem o wfier e o S € -

(a) A ¥ qfed & R g1 (b) T H ufkedH & FHRr eI

(c) ™ & HRI T (d) =79 @ g =&l

Unpredictable risk does not includes

(a) Loss due to change in demand (b) Loss due to change in price

(c) Loss due to earthquake (d) None of these

TR ST Y AT it T8 ot -

(a) T JEsT (b) 7o Tz (c) Fo ARFOT Hftd (d) ¢ o STt
Infosys industries was established by...

(@) A. Prem Jee (b) Mahendra Singh (c) K. Narayan Murti (d) Dheeru Bhai Ambani

[ Entp— 8]



7. O SUHH % Ufd T WK I SRR B -
(a) THRIHE (b) TR (c) faremsyrt (d) =79 ¥ +E =
Attitude of state goverment towards small unit is
(a) Positive (b) Negative (c) In different (d) None of these
8. = d 4 %M suftar = foivar =&t & ?
(a) TayadH (b) foramsiier fafaeh (c) Sifem a&a (d) 3™ 4 +iE T
Which of the following is not a charactristics of entrepreneurship?
(a) Innovation (b) Creative Activity (c) Risk Bearing (d) None of these
9. T 9§ ®IA Sufhdl % WHITNS STEIRE fag & 9§ 2
(a) WarTd fo=m (b) T8 WA fo=m (c) agFiah fa=amr (d) =79 & |t
Which of the following is a element of the social responsibility concept of an entrepreneurship?
(a) Classical view (b) New classical view (c) Modern view (d) All of these
10. T o 9@ %9 suftar faem & 9 ¢ 2
(a) WIS ATdeR0T i qfHeR (b) Tfeieh STATeRYT Y fHehT
(c) < "’ SR b’ (d) =78 9 =+ &l
Which of the following is a element of development of entrepreneurship?
(a) Role of social environment (b) Role of economic environment
(c) Both 'a’ and 'b’ (d) None of these
iy : W WEw 11 ® 15 7% Frefafes e 9 @ wod &Ky T E weE-1 @ wem-1l @ R

T FHUAl & AUR W AT S 2

Instructions : Q. No. 11to 15 In the following questions there are two statements. Statement-

@)

(b)

(c)

(d)

11.

12.

| follows Statements-Il. You have to go through these statements and mark your
answer from the given questions.)

Ife QE1 B FE 8 TAT HA || B | &) FEl AR ¢ |

If the both statements are correct and statement -1l is the correct explanation of statement- |.
I SFT HUF TR © IR BT || B | 9 T AR TR ¢ |

If both statements are correct but statement-Il is not the correct explanation of statement-I.
FUT | HET & WReg B || 7T |

Statement-| is correct but statement-Il is wrong.

FA | AT 8 W] B || T 2 |

Statement-| is wrong but statement-Il is correct.

HA |. Hieen Syt A SifEgH-aed & T € |

e ||, SUHi & I TeTER 1 SHE € |

Statement I. Women entrepreneurs have less risk bearing capacity ?

Statement Il. Entrepreneur has lack of innovation.

e | SiTeH a| @ 1 AEvaw el § |

He ||, aHE & Tt gl enfelen fward ot € |

Statement | . Risk is an essential element of business.

Statement |l. Business refers to all economic activities.

[ Entp— 9]



13.

14.

15.

A |1 SHH TSR T o1 GoT Lell € |

HeA | SUH SUSTR h Hew § gfg W ©

Statement | . Entrepreneur increase the number of unemployed.
Statement Il. Entrepreneur creats employment opportunities.

HA |. T T T THER H T 2

HUA || T SHEA B U TF TR 1 REHI0 ThRIHS € |

Statement. | . Small industry is the subject of state government

Statement. Il. State government have negative attitude towards small units.
Fer |. IRTIROT GO IR SHeE™ F GFad $ AU SAeEE © |

FoM 1. TFTIROT T SAISR T ¥ S T B 97 e w0 < R SUH B 3w wY e €
Statement | . Motivation is needed for success in society and business.

Statement II. Motivation is not a tool for making others realise that they have the capacity to do
something

e ;. wE 9E 16 § 18 9% frefafed v o U @ oAfys fasew wEt 8 9d 21 9 weEt

faweat =t fafga =2

Instructions : Q. No. 16-18 In there may be more than one correct answer. You have to marks

16.

17.

18.

the correct answers.

foferfed § @ FF O oo g w1 ¥

(a) 3= AfFAT G STTEOT HTAl (b) =™ <

(C) I3 3R (d) sifem e

Which of the following is charactristics of leadership ?

(a) Following by others (b) Give order

(c) Exemplary conduct (d) Risk bearing

fspaTeen SMUR W SN ol foreifsra feen ST wehar € -

(a) qoi SfmErf SR (b) i faftm s™R

() 951 T it e (d) T TSR

On functional basis market may be classified as -

(a) Perfect market (b) Stock exchange market
(c) Money and capital market (d) National market

Syl Ferar W ®

(a) fafa o =t (b) 3ma ® gfg (c) Frafa =t agmEn O ERIERIGSIEE
Syl Ferar S ®

(a) Export reduction (b) Increasing import

(c) Export promotion (d) Import substitution

[ Entp.— 10 ]



o

I deA 19 ¥ 22 9% Frafafea geat &1 S et | & g || ® faem @ g &

Instructions : In Answer the following question on the basis of match.

Set| (gdt 1) Set Il (gt 1)
19. SR 9NIR (@) SR & aR W
International market On the basis of compelition
20. Ui g SR (b) &F % TR W
Perfect competition market On the basis of area.
21. e AR (c) YR & MR W
Long term market On the basis of nature
22. fufya asm (d) 999 & TR W
Mixed market. On the basis of time
fde : 9w de 23 9§ 25 9% Frafafea SERoil &1 oreggd ) |8 SR S| 2x3=6

Instructions : Q. No. 23 to 25 In Read the passage carefully and answer the following :

23.

24.

25.

Iy fedt 31 & qrferr el gfehan 1 STERY dd © | QIIfSieh STameRo] Ush Sufn o 31
e AR Tt 1 SFIE YEH I @ | BH T Sufhdr foete % g € S YR & WIS S i
TrEEt wl WA Gohd 2 o frserH, frerdr, W, qemd, stismr senfs | Suftar fasm fadt <o gr
i enfefer agfa | feRk 3 S wmfse Goferdt steran fafya steferemen |

Entrepreneurship is basic factor in the process of socio-economic environment of a country.
The social environment provides opportunities to an entrepreneur to work and develop himself. Itis
only by developing entrepreneurship we can get rid of many social and economic problem like
backwardness, illiteracy, unawareness, poverty, hunger, unemployment etc. The progress of
entreproneurship depends upon the type of economic system followed in a country viz socialist,
capitalist or mixed economy.

...................... IYMAT & 3T T 3R Mg 1 o 31 ¢ |

(a) GHIfSTR FATAER0T (b) 3Tffek aareRoT

(c) HiTSfeh ATdreRuT (d) All of these (378 & =)
.................. Provide opportunities to an entrepreneur to work and develop himself.
(a) Social environment (b) Economic environment
(c) Organisational environment (d) All of these

e, FHRERaT, THE SN oo e |

(a) STENfiTes ToE (b) TR T T o
(c) TSR -3Tfeieh T (d) =19 @ qsf
Backwardness, literacy, poverty etc are ..........ccceeeennn.. type of problem.

(a) Industrial Problem (b) Infrastructural Problem
(c) Socio-economic Problem (d) All of these

TG SIS R oo

(a) TETSTAE] stefeareen (b) dsfardt steferaen  (c) fafsm sreferawen (d) 399 @ @dt

Indian economy is ................

(a) Social economy (b) Capital economy (c) Mixed economy (d) All ofthese

[ Entp— 11 ]



SECTION-II

A-aegfiss 939 (NON-OBJETIVE QUESTIONS)

e ST 9¥A (Short Answer questions) :

e : T e 1 @ 11 9% oY SUd YA 21 36 i B TS YA ® fau @ ofw fuifa €
11 x 2= 22

Instruction: Q. No.1to 11 are Short Answer Type Questions. Every question is of 2 marks each.

1.

10.

11.

F1 AT I YA ¥ S AR ?

Should an entrepreneur be afraid of competition ?
FUE T deuth & T fRdl 1 S| Hi fordd |

Give any two difference between brand and trademark
ST, T & € 2

What is informal communication ?

sy =aEE % el | g & Rt < He 1 auiF Y |
Discuss any two importance of leadership in modern business.
e i fomioar @1 avie &Y |

Discuss the charactristics of profession.

vz & Tl Bl G R |

Discuss the conditions for patents.

TEETUHR § 3T o T € 2

What do you mean by copyright ?

TATER & YRR T G0 F |

Discuss the type of innovation.

Hfera fosma 1 faaram ) dfaa faawo fag |

Write short notes on theory of balanced development.
T &% fafvm &9 &1 auiF &L |

Discuss the various form of communication.

Jgd & fR= < FEt H1 auiE w

Discuss any two functions of leadership.

<l 3989 999 (Long Answer questions) :

e : 7 e 12 ¥ 15 T SWE T R T B & uow v @ fag uie e fruifa €
4x5=20
Instruction : Q. No. 12-15 are of Long Answer Type Question. Every question are of 5 marks each.

12.

e & fasral &1 3o =X |
Discuss the principles of planning.

Or, 3AYdr
ZEgE & IR H | EdE & foRmarst w1 aue & |
Define business. Discuss the charactristics of business.

[ Entp— 12 ]
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13.  enfieh s w1 uRenfia Y | gHet v = © 2
Define economic development. What are its charactristics ?
Or,
gRd W Safiar faewm w1 fafim o = e 2
What are the various barriers to the development of entrepreneurship in India ?
14. 9RG ® Sufua fae wEes & gur e 999 < |
Give suggestions for improving entrepreneurship development programe in India.
Or,
fauor @ o9 o gHed € 2 fAUUE % YereRig el 1 auie W |
What do you mean by marketing ? Discuss the managerial function of the marketing.
15. fowga €9 9 Iufiar &1 anensti &1 9o & |
Discuss in details the various barriers to entrepreneurship.

Or,
T T=d AR et 1 fowoar s |

Give the charactristics of a truly motivated entrepreneur.

ANSWER

SECTION-I
aEgfas3 9¥9 (OBJETIVE QUESTIONS)

1. (d) 2. (a) 3. (b 4. (a) 5. (c)
6. (c) 7. () 8. (d) 9. (d) 10. (c)
11. (c) 12. (b) 13. (d) 14. (c) 15. (c)
16. (@), (c)  17. (b), (c) 18. (), (d) 19. (b) 20. (a)
21. (d) 22. (c) 23. (a) 24. (c) 25. ()
N J

[ Entp— 13 ]



MODEL SET—-I11I1

SECTION-I

FEqfass 939 (OBJETIVE QUESTIONS) [28 Mark

e : W T 1 @22 9% ® T A 9K fawew Ry o ¥, fe @ = W@t ? 1wt fawew w

gqa S arfas 7 fafgq &2 1 1x22=22

Instruction : Q. No. 1to 22 : In the following questions there are only one correct answer.
You have to choose that correct answer.

1. AR & of=ria = dl § 9 &Y e

(a) Siam @& (b) 3=%4 (c) SHIRR (d) i&x

Motivation does not consist of the following elements.

(a) Mission (b) Motive (c) Behaviour (d) Goal
2. fm 9 am q enet frEm w9 T R 2

(a) FEe WX g1 =feT (b) Fa IRTA~@ BT =fe

(c) fieH wedt & & B =Ry

(d) 371e9 SHref 3T ety e o a9 =& M =R

Which of the following is not a assential element of grod planning ?
(a) Planning should be simple

(b) Planning should be goal oriented

(c) Planning must start at the top

(d) Not coordination with long term and short term plans

3. oreifaq Sifem | Snthe fRar s

(@) A H ufadT & RO B (b) W& ® UfEd= & SR B
(c) U1 H uReEda & &R g (d) Wrepfaek STURT & HRT I
Pradictable risk includes ...
(@) Loss due to Change in demand (b) Loss due to Change in custom
(c) Loss due to Change in quality (d) Loss due to Change in natural events
4. Il olicve UM i o fRe 9REr | @1 oft ?
(@) e (b) fe=gsm (c) foram (d) e
Which family was established the Ashok Leyland industries ?
(@) Ambani (b) Hinduja (c) Birla (d) Tata
5. WNdE SHM % ey W sufha €
OEERED (b) 3TFTEYTH (c) R (d) T SR oA HT wEre

In relation to Indian industries, enterpreneurship is—

(a) Necessary (b) Unnecessery (c) Burden (d) Wastage of time and money.

[ Entp— 14 ]



6. T WHN o I H LA T SR WA 2
(@) =TS T A (b) THTRT IH (c) ufterH (d) Sw=a asf
State govemments Provide Subsidy to Small scale industries on the falowing basis.
(a) Payment of interest (b) On technical Knowledge (c) On transport (d) All of those
7. HOHE Y 3999 ©
(a) 9ar SrerT (VLSS () Tl & WY A 3T (d) Tmig
Main object of business is ?
(a) Service motto (b) Earning Profit  (c) Service with earning Profit (d) Charilable
8. oY SHW U fawy @
(a) T THR (b) F=TT TR (c) T THR (d) ST @t
Small Scale industry is the Subject of
(a) Local government (b) Central government (c) State government (d) All of these
0. afhar e e ?
(a) TR (b) wf¥reror (c) TEt Toreqo (d) ST @t
Entepreneurial development is Possible with
(a) Molivation (b) Training (c) Proper education (d) All of these
10.  3ufar faspe W Heem (EDII) g 99 @
(a) foeR THR (b) ®% THR (C) HENIY &R (d) TR TR
Entrepreneurial Development Inslilule of India (EDII) was established by.
(a) Bihar government (b) Central government
(c) Maharashtra government (d) Gujrat government
fdw : 7 "ew 1 ® 15 7% Frefafed gt 9§ @ woA Ky T E weE-1 @ w1 @ 3

T Ul & AUR W AT S 2

Instructions : Q. No. 11to 15 In the following questions there are two statements. Statement-

@)

(b)

(©)

(d)

| follows Statements-Il. You have to go through these statements and mark your
answer from the given questions.)

IfT AT BUT TE & TAT HUT || HAF | B S IRAT B |

If the both statements are correct and statement -1l is the correct explanation of statement- |.
I SFF HUF TR © IR BT || B | 9 T AR TR ¢ |

If both statements are correct but statement-Il is not the correct explanation of statement-I.
FUT | FET & WReg HA || 7T & |

Statement-| is correct but statement-Il is wrong.

FA | AT 8 W] B || T 2 |

Statement-| is wrong but statement-Il is correct.

[ Entp.—15]



11.

12.

13.

14.

15.

HUA - |, TIEE & o i A SHewitrn Sitew € |

HUA — ||, IEE B A Ieg o TS T € |

Statement |, Uncertainly of Profit of business is Called business risk
Statement. I, Main molo of business is earning Profit.

Fo - |, ST U B § SR S oft 9 ¥

FHU - |1, 3eH 1 ATuehay I e T B o

Statement |, Entrepreneurs are born and also made.

Statement. II, Maximum role of an enirepranars is economic development.
He - |, enfier o sufiar & e @ sl € |

HUA - ||, STt faehr SrEidn Th AR wEw € |

Statement |, Economic development depend upon entrepreneurial development.
Statement. Il, Entrepreneur development Programe is atraining Programe.
FUA - |, NG | ISHH 1 TR Yo At 1972 i A<nid B B |
HUA - |I, Yeus Afienal Gon oAt e =nfey et 39 21 o ® |

Statement |, The trademark registered in India under the Patent Act 1972.
Statement. Il, Patent agent must be a Person who has Complated 21 Years.
HeA - |, FEeH afeqs fraeti o @ geian 1 97 € |

FOF - ||, foTsa o F1 FHET 7 T vee & Feifa wen feee @

Statement |, Planning is selection of best among alternative courses of action.
Statement. II, Planning is deciding in advance what is to be done.

e ;. wvT 9EW 16 § 18 9% frefafed v o U @ oifus fasew @&t 8 9ea 91 9 weEt

fawreat =t fafga &

Instructions : Q. No. 16-18 In there may be more than one correct answer. You have to marks

16.

17.

18.

the correct answers.

= # @ ®F W oo Sy o B =Y ?

(a) =R (b) Sifay o= (c) T=d (d) =79 @ g &l
Which of the following Charactristies an entrepreneur should have ?

(a) Innovation (b) Risk Taking (c) Initiative (d) None of these
71 % ¥ ®F @ wed wh sy w1 e § 2

(a) T IR TS STTHI 1 TGl (b) TS FETEAT T FAM

(c) & T B (d) za¥ ¥ &

Which of the following are an importance of entrepreneurship ?
(a) Improvement in inventions and nero product. (b) Utilisation of human resorces.

(c) Encourage in inflation (d) None of these.

= ¥ 9 #F fawr & fraers w e @

(a) faqum ST7dY™ (b) foavm =Rt &1 s

(O ERERISE] (d) sfivfem Te yaTdieRTo

Which of the following is funclional functions of marketing ?

(a) Market research (b) Planning of market function
(c) Product planning (d) Grading and standardisation

[ Entp— 16 ]



o

Y W& 19 @ 22 9% Frafated g w1 Sw g | & ogEt | ® faem @ g R

Instructions : Q. No. 19to 22 In Answer the following question on the basis of match

Set| (gdt 1)

19. vz wr (Patent Act)
20.  Trademark Act (S84 Ta)
21. U=E WY g fowm fm fao

National Research & Development Corporation Ltd.
22. SifEd YRdE @Y SE 9

All India small scale industries board
T .

Yy W& 23 € 25 9% fefafed SERvl BT SgdT R 9el SR Q|

Set Il (gt 1)

(a) 1940
(b) 1953
(c) 1970

(d) 1954

2x3=6

Instructions : Q. No. 23 to 25 In Read the passage carefully and answer the following :

23.

24.

25.

Motivation is an important tools in the hands of management to direct the behaviour of
subordinates in the desired and appropriate direction. Motivated employees put higher perfor-
mance as compared to other employees. High performance is a must for any organisation and
motivation is vital requirement for high performance. A good motivational system creats job
satisfaction among employees. Motivation among employees leads to better industrial relation.
Motivation are directed toward the achievement of desired goal.

arfrgron srferreell w1 wEt e < 1 U Y@ SR B | S1RURA Rt 31T hEer) g o ety
& %I Bl € | 3tfueh sl frdt ff Wred & fau sreavae € SR S=9 sy & fag sifgon
A SEYIE § | Th (=0 AT Ugia HE=E) bl Sie Gite ol @ | HH=El & qe SR T
e ST Traee o1 fmior wtar © | eafer ffvea wed & W B W W8 € |

forelt off Wrea  sifgRor -
(a) AERTR (b) AAETISR
In any organisation molivation is.

(a) Essential

(c) Burden

ARTIROT e HT Fohell T -
(a) =9 FHrEHI

Movivation can help

(b) St wqfte

(a) High performance

(c) a & b both

AT ST e © -

(a) HEat

Motivation is not essential in a
(a) Company

(c) Small scale Industries

(b) =T

[ Entp— 17 ]

(c) ¥R (d) T SR 7 HT FEre

(b) Unnecessery
(d) Wastage of time & Money

(c) awd b 3Ml (d) 39 & =K T&¥
(b) Job satisfaction

(d) None of these

(c) & S (d) &9 ¥ ®rE T

(b) Partnership
(d) None of these



SECTION-II

R-aEqfiss 939 (NON-OBJETIVE QUESTIONS) [42 Mark

e ST 9¥A (Short Answer questions) :
e : T e 1 @ 11 9% oY SUd YA 21 36 i B TS YA ® fau @ ofw fuifa €
11 x2=22

Instruction: Q. No.1to 11 are Short Answer Type Questions. Every question is of 2 marks each.
1. ARG § SR i wHE oy sum o fifgd € | wmen w
Solution of unemployment problem in India lies in small industries. Discuss.
2. FEfHal & fh=t T Hew 1 auiH H |
Write any two importance of entrepreneurship.
3. T FIUST IR K HHAT Y H T
How an entrepreneur tackles the branded product ?
4. Tl i foRarstt 1 9o #Y |
Discuss charactristics of communication.
5. TR IR i A F |
Discuss the term market.
6. What is the economic objective of business?
A & AYE ILTT M ©?
7. Sutba & =l < enyfe wl @ avie Y |
Discuss any two modern function of an entrepreneur.
8. g &I fardl I fasivand s |
Give any two charactristics of leadership.
9. aRa H suftd fasm & it 1fa & fF=l § SRl @1 auie |
Explain any two reason for slow programe of entrepreneurial development in India.
10.  onf<fier iR sek 1 © ?
What is motivating internal factor ?

11.  fouvE @R foa § *E 3 SR aan

Give any two difference between marketing & selling

<l 3989 999 (Long Answer questions) :
e : yv WEw 12 ¥ 15 7% Suid W 1 39 Sife ® udw uve ® fau e I fuifa €
4x5=20

Instruction : Q. No. 12-15 are of Long Answer Type Question. Every question are of 5 marks each.
12. A / TSR i STEvashd T8 Hed 6l TR

Discuss the need and importance of entrepreneurship / self employment.

Or,
AFTITOT Bt IR Y | ST SATEYIhAl Ud Heed 1 9uid &Y |

Define motivation. Discuss its need and importance.

[ Entp— 18 ]



13.  AEHIE HAfEH & HROT i AR HX |
Discuss the reason of business risk.
TEHT i IR H | TG FH Yo § HE HT IO HY |
Define communication. Discuss the importance of communication in management.
14. A | & Gva faey fag |
Write a short notes on planning.
Or,
Hfgel 3T WM T 0@ fag |
Write an essay on women entrepreneur.
15. STl i oRfrd Y | 98 TH g U HY e ¢ ?
Define entrepreneur. How is it difference with a manager.
Or,
MY o o FaMR & €9 H IYUH &1 fHeh & 90 H |

Discuss the role of an entropreneur in economic development as on innovaler.

ANSWER

SECTION-I
aEgfas3 9¥9 (OBJETIVE QUESTIONS)

1. (a) 2. (b) 3. (d) 4. (b) 5 (a)
6. (d) 7. (c) 8. (d) 9. (d) 10. (d)
11. (c) 12. (b) 13. ) 14 (d) 15.(b)
16. (a), (b), )  17.(a), (b) 18. (a), (c), (d) 19. (c) 20. (a)
21. (b) 22. (d) 23. (a) 24. (c) 25. (d)
N J

[ Entp.— 19 ]



MODEL SET—-1V

SECTION-I

FEqfass 939 (OBJETIVE QUESTIONS) [28 Mark

Y i Yo Fo 1 @ 22 0F ® ¥ A 9K fawey Ry v ¥, fod @ ww W 2 | wE fawew w0
gqa S arfas 7 fafgq &2 1 1x22=22

Instruction : Q. No. 1to 22 : In the following questions there are only one correct answer.
You have to choose that correct answer.

1. ST BT -
(a) el (b) SRew BB AT () UeeIH (d) I i
Entrepreneurship is:
(a) Entrepreneur (b) Risk-taker (c) Manager (d) All of these
2. fa=ferRad & 1 S 1 deror el § M A1ty —
(@) Tager (b) SiRem a& (c) uga (d) & @
Which of the following features an entrepreneur should have:
(a) Innovation (b) Risk-taking (c) Initiative (d) All of these
3. ¥R ¥ facdl Il @1 4@ § —
(@) THRIHD (b) ABRTHE (c) fa=rerar (d) 79 & I &l
Role of foreign entrepreneurs in India is:
(a) Negative (b) Positive (c) Destructive (d) None of these.
4,  ITH HERAT BRA § —
(a) Frafd # & (b) I ¥ gig (c) 3maTa ufeRemue (d) fatd gfoRem=
Entrepreneur help in:
(a) Export reduction (b) Increase in import (c) Import substitution (d) Export substitution
5. I we@yYl e A g —
(a) IoHfas faemm (b) wrIfoTe fdwrT # (c) onfdfe fawmr # (d) 3 & BIg LI
Entrepreneur plays an important role:
(a) In political development (b) In social development
(c) In economic development (d) None of these.
6. BRET ANTT BT T & —
(a) FRETT IURIY (b) 3r9cEr g (c) A9 BT I@— ¥E@1g (d) SURIGd T4l
Works cost means:
(a) Factory overhead (b) Indirect expenses
(c) Machine maintenance (d) All the above

[ Entp.— 20 ]



7. ST YT BT YT © B ...

(a) ATIRIHAT (b) STEH (c) BHearor (d) &1 wifaq

Entrepreneurial discipline means maximum............

(a) Profitability (b) Production (c) Welfare (d) Work force
8. UH JaA™ Sl ... A & [Ieg P &_ar 2| <1 Bl H Aol 8l 81 AT |

(a) \ATHINTS (b) fa<ira (c) IR (d) HFERY

A business which works against values may not succeed in the long run.............

(a) Social (b) Financial (c) Market (d) Personnel
0. ITEd Bl gis | IUAT AHIT 39 BRON | IO of ofdl 28—

(2) TR 0T (b) S Pt (c) srgfem SwrT (d) st wgfte

Consumers often withdraw their support to a brand mainly due to its..........

(a) Poor quality (b) Higher price (c) Improper utility (d) 3ot Hqfe
10.  UH I Bl HeW HEAYUl FdeRIY fAVTAr & Il —

() TF=TT (b) & B (C) goTTuTera (d) fade

One of the most striking behavioural characteristics of an entrepreneur is his......

(a) Affluence (b) Toughness (c) Creativity (d) Personality
v . uw wEw 11 ¥ 15 9% Frefafea v ® Q@ weH KU T R FUE-1 @ -l | @

T FUAl & AUR W AT S 2

Instructions : Q. No. 11to 15 In the following questions there are two statements. Statement-

@)

(b)

(©)

(d)

11.

12.

| follows Statements-Il. You have to go through these statements and mark your
answer from the given questions.)

Ife QFT B FE B TAT HA || B | &) FEl AR ¢ |
If the both statements are correct and statement -1l is the correct explanation of statement- |.

Ife QM B FE B R HUA |l B | B FE IRAT T B |

If both statements are correct but statement-II is not the correct explanation of statement-|.
HUT | HET & WRg B || 7T & |

Statement-| is correct but statement-I1 is wrong.

BT | T & TR DU || HET B |

Statement-I is wrong but statement-Il is correct.

BT ABRIHAT Ve AfddiTa T &1 2 dfcsh AHfed aeR & |

ATl TcT: ATERIBAT T FoTTHAd B & |

Statement-I. Entrepreneurship not only personal trait but a group behaviour.
Statement-Il. Basically, entrepreneurship is a creative activity.

P fauv & srdifa wa—fasha ST fohar aftafera 21
PH—I| fAqur S= Siid- W 6T Udid 2 |

Statement- | Markenting comprises both buying and selling activity.
Statement-Il Marketing is the delivery of standard of living.

[ Entp— 21 ]



13. Y| FAR S—TRBI G B |

BHAT—|| HAR § TG BT FOT U4 YIS BT a1 &1 |afaferd 2 |

Statement- | Communication is two way relation.

Statement- Il Communication includes sending the message as well as receiving the reaction.
14,  HIF—| AJT SNad & YA &7 H IR 2 |

DI Y8 7T BT B © b 9 U SAMYAT & HeY JFIAT G911 R |

Statement- | Leadership is needed in all walk of life.

Statement- |l It is duty of the leader to maintain proper decipline among his subordinates.
15.  UF—| AT el & NI B SIRIH 98 & Y& € |

P T AT A B 2 |

Statement- | Women entrepreneur have less risk bearing capacity.

Statement- Il All women are entrepreneur.

e : W §Ew 16 @ 18 9% FreAfafem g ¥ Tw @ 3ifyw famey W€t @ wha €1 oy wEt
faweut =t fafga

Instructions : Q. No. 16-18 In there may be more than one correct answer. You have to marks
the correct answers.

16. GRS ATl BT FRIiRr gEa: smenRd g1dT § —

(a) Rac=eler orTa (b) BT AT W (b) ReR oIrFTd ) (d) W AR W

Determination of business profit mainly depends upon —

(a) Variable cost (b) Total cost (b) Fixed cost (d) Prime cost
17.  ffe IHIE HRAT © AfHad —

(@) FoT (b) wgfte (b) Gyerar (d) s

Workers expect maximum:-

(a) Wages (b) Satisfaction (b) Efficiency (d) Incentive
18. T & II®GR Td fRd &1 wRerr et &l — SaRaiid & |

(a) derfia (b) Afo® (b) SIS (d) o=

Protection of rights and interests of people is a — responsibility of entrepreneurs.

(a) Legal (b) Moral (b) Social (d) Financial

e : wva w& 19 | 22 % Frafatea v &1 SR gE | = GE 1@ frem # g &

Instructions : Q. No. 19to 22 In Answer the following question on the basis of match.

Set | (g=t 1) Set Il (gt 1)
19. fraoe (@) SYANTATRI B ATHHAT 9 STBRAT DI T BRAT
Planning Meeting the exact needs and desires of consumers.
20. Wiedd (b) IFIAT B Ifad AT
Feedback Proper recognition to talent.
21. fague (c) MU= AT TG HHONRAT DI ST
Marketing Knowing our strengths and weaknesses.
22. e d) Sfaa & 2 fdy <= |
Efficiency Instruction directing about proper action.
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fdwr : wwa d@m 23 ® 25 w frAfafed SO &7 Rgde R 68 SR &1 2x3=6
Instructions : Q. No. 23 to 25 In Read the passage carefully and answer the following :

The term business ethics refers to the system of moral principles and rules of conduct
applied to business. Business should be conducted according to certain self recognized moral
standards. Business, being a social organ, shall not conduct itself in a way detrimental to the
interests of society and the business sector itself. A profession is bound by certain ethical principles
which reflect its responsibility, authority and dignity. Business ethics emphasize making a
businessman honest and responsible citizens.

TIATIS AfTHdT & T a9 # YT M arel Afad Rigra vd omerer & 99 9 8 | g9y
T P @RI AT T [Aftad Afdd vHr & @RT Fdrferd 891 a1feV | aaarT U AISTG 3T 89 ©
BRI, FANT b fIeg Farferd &1 8F1 @Ry | U A U fAftad Afvs g 9 49 & o ¥ wd

JfAPR BT SOINR HRAT © | FIATRID AfThdT, JaARN Bl U SHMER UG fOTHER ANTR® 97 H Aeg

PRAT B |
23. RIS Afddar i ® —
(a) aar (b) HHARY (c) gfers (d) 1=
Business ethics is the responsibility of :
(a) Business man (b) Workers (c) Police (d) Students
24. EAIRI® Afddar asd g —
(a) FATST (b) TRPR (c) ST (C)RSEINIE!
Business ethics is essential for:
(a) Society (b) Government (c) Consumer (d) Politician
25. IR H I HAT BT & —
(@) ont (b) = (c) T (c) T & IS =&
Business needs:
(a) Capital (b) Labour (c) Land (d) None of these

SECTION-II

A-aEqfis3 939 (NON-OBJETIVE QUESTIONS) [42 Mark

Y ITLT 9¥A (Short Answer questions) :

e Y WEA 1 @ 11 7% O S W 1 T Wi B Tow T @ fau @ o fauifa @
11 x2=22

Instruction: Q. No. 1to 11 are Short Answer Type Questions. Every question is of 2 marks each.

1. Se @ <1 fayvdri A | ;State two features of an entrepreneur.)

2. ST B TYURYT TR Udh oG foid | (Write a note on entrepreneurship.)

3. Sefidar faerT rdeH & Sa=i &1 guir B | (Explain the objectives of entrepreneurial development

programme.)

Se & UrElfTal BRI @ 82 (What are the technology task of an entrepreneur?)

Y TN & A &1 9uiF 9 | (Explain the importance of small industries.)

iR anfdfes foamell & emu @ @t 87 (What do you mean by non-economic activities.)

EEGNE! % R1gra @1 87 (What are the principles of innovation?)

N o ok
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8. JTFIOROT & T ek 87 (What is the meaning of motivation?)

9. AJcd @ AN H 7 dTell 9ERi BIF—3IF Al 7 | (What are the hindrances of leadership?)
10. 9T @ gRMT < (Define the communication.)

11. e o &8 <F W 9ard | (State any two limitations of planning.)

<rsf s98= 999 (Long Answer questions) :

e : 7 e 12 ¥ 15 7 SWE T R 9 B ® uow v @ fag uie e fruifa €
4x5=20
Instruction : Q. No. 12-15 are of Long Answer Type Question. Every question are of 5 marks each.
12. ST U T AT 27 IFDH! UHRI fauwdmail & @Rar X | (What is meant by entrepreneur? What
are its functions?)
Or, Seffar a7 & IgWa &1 Ty H 9uF o3| (Describe in brief the emergence of entrepreneurial class.)
13.  ¥RA # S eN sried o fewell o | (Write a note on EDP’s in India.)
Or, |gford faera & ford fdd T SUril & aui &Y | (Discuss measures adopted for balanced
development.)
14. IIIR Pl UGfd R UH Glea o ford | (Write a note on the nature of business.)
Or, F9—goi=1 &1 31ef Ud favwarsii &l gdrd | (Explain the meaning and features of innovation.)
15.  Sufiar fde @ faf=1 =R @ 87 (What are the different stages of entrepreneurial evelopment?)
Or, UIcT—4R® & &1 MABR 87 U< 4T fhar S At 2?2 (What are the rights of patentee? What

can be patented.)
AN SWER

SECTION-I
FeqfAss 9¥A (OBJETIVE QUESTIONS)

1. (d) 2. (d) 3. (a) 4. (b) 5. (b)
6. (d) 7. (©) 8. (3 9. (a) 10. ()
11. (d) 12. (b) 13. (c) 14. (b) 15. (a)
16. (b), (a) 17. (b), (d) 18. (b), (c) 19. (d) 20. (c)
21. (a) 22. (b) 23. (a) 24. (c) 25. (a)
S Y,
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2. In the OMR Answer Sheet the Question Nos. progress . .
from top to bottomn. 2. OMRSW 73 § W H&A HH: TR § = 1 3§ T 2
3. For marking answers, use BLACK/BLUE BALL POINT 3. SW &ad Hl/A ot e 91 gR fafgd &Y
PEN ONLY. . .
4. Mark your Roll No. Roll Code No. Name of Exam. Centre 4. s I@ fm Eﬁg >, @gﬂ %% F T OMRI™ ™ 3
in the boxes/space provided in the OMR Answer Sheet. e reft/eormdt e fere |
5. Fill in your Name, Signature, Subject, Date of Exam, in 5. OMR 3® w3 ¥ fufftd Tom W a9 7w, geaer, fova wdan
the space provided in the OMR Answer Sheet. 1 fe 7 R
6. Mark your Answer by darkening the CIRCLE completely, )
like this. 6. T IW & W H P Y § W W gL Fafed & |
Correct Method Wrong Methods T fafy e fafeat
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